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iz'u&i= CywfizUViz'u&i= CywfizUViz'u&i= CywfizUViz'u&i= CywfizUViz'u&i= CywfizUV
BLUE PRINT OF QUESTION PAPER

ijh{kk % gk;j lsd.Mjhijh{kk % gk;j lsd.Mjhijh{kk % gk;j lsd.Mjhijh{kk % gk;j lsd.Mjhijh{kk % gk;j lsd.Mjh

d{kk %& d{kk %& d{kk %& d{kk %& d{kk %& XI   iw.kkZad %& 100  iw.kkZad %& 100  iw.kkZad %& 100  iw.kkZad %& 100  iw.kkZad %& 100

fo"k; %& lekt 'kkL=fo"k; %& lekt 'kkL=fo"k; %& lekt 'kkL=fo"k; %& lekt 'kkL=fo"k; %& lekt 'kkL=           le; % 3 ?k.Vs          le; % 3 ?k.Vs          le; % 3 ?k.Vs          le; % 3 ?k.Vs          le; % 3 ?k.Vs

 1- lekt'kkL= o vuq'kklu 10  1 1 1  & 2

 2- izkjafHkd vo/kkj.kk,a 10  4 & &  1 1

 3- lkekftd laLFkk,a 10  1 1 1  & 2

 4- laLd̀fr] O;fDrRo vkSj lekt 10  1 1 1  & 2

 5- 'kks/k dh izfof/k;k¡ vkSj rF; 10  4 & &  1 1

ladyu dh rduhd lekt

dks le>uk

 6- lkekftd lajpuk o Lrjhdj.k 10  5 & 1  & 1

 7- lkekftd izfØ;k,a o 10  2 2 &  & 2

lkekftd ifjorZu

 8- lkekftd ifjfLFkfrdh 10  1 1 1  & 2

 9- dkyZ ekDlZ] eSDl oscj vkSj 10  1 1 1  & 2

bekmy nq[khZe dk ;ksxnku

;ksxnku

10- th-,l- /kwjh;s] Mh-ih- eq[kthZ 10  5 & 1  & 1

jk/kk dey eq[kthZ vk Sj

ch- ds- ljdkj dk ;ksxnku

              ;ksx ¾    100    ¼25½¾5              ;ksx ¾    100    ¼25½¾5              ;ksx ¾    100    ¼25½¾5              ;ksx ¾    100    ¼25½¾5              ;ksx ¾    100    ¼25½¾5 0707070707 0707070707 02   16$502   16$502   16$502   16$502   16$5
      ¾21      ¾21      ¾21      ¾21      ¾21

l-l-l-l-l-   bdkbZ  bdkbZ  bdkbZ  bdkbZ  bdkbZ     bdkbZ ij    bdkbZ ij    bdkbZ ij    bdkbZ ij    bdkbZ ij  oLrqfu"B oLrqfu"B oLrqfu"B oLrqfu"B oLrqfu"B vadokj iz'uksa dh la[;k  dqy vadokj iz'uksa dh la[;k  dqy vadokj iz'uksa dh la[;k  dqy vadokj iz'uksa dh la[;k  dqy vadokj iz'uksa dh la[;k  dqy
Ø-Ø-Ø-Ø-Ø-      vkoafVr     vkoafVr     vkoafVr     vkoafVr     vkoafVr   iz'u  iz'u  iz'u  iz'u  iz'u   iz'u  iz'u  iz'u  iz'u  iz'u

      vad      vad      vad      vad      vad       1 vad 1 vad 1 vad 1 vad 1 vad  4 vad 4 vad 4 vad 4 vad 4 vad 5 vad  6 vad5 vad  6 vad5 vad  6 vad5 vad  6 vad5 vad  6 vad

funsZ'k %&funsZ'k %&funsZ'k %&funsZ'k %&funsZ'k %&
1- iz'u Øekad 1 ls 5 rd oLrqfu"B iz'u gksxsa ftlds vUrxZr fjDr LFkkuksa dh iwfrZ] ,d 'kCn

esa mRrj] esfpax] lgh fodYi rFkk lR; vlR; dk p;u vkfn ds iz'u gksxsaA izR;sd iz'u
esa 5 vad fu/skkZfjr gSA

2- oLrqfu"B iz'uksa dks NksM+dj lHkh iz'uksa esa fodYi dk izko/kku j[kk tk;sA ;g fodYi
leku bdkbZ ls rFkk ;Fkk laHko leku dfBukbZ Lrj okys gksus pkfg,A

3- dfBukbZ Lrj &   40% ljy iz'u]     45% lkekU; iz'u]     15% dfBu iz'u
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iz'u cSadiz'u cSadiz'u cSadiz'u cSadiz'u cSad
fo"k;&lekt'kkL=] fo"k;&lekt'kkL=] fo"k;&lekt'kkL=] fo"k;&lekt'kkL=] fo"k;&lekt'kkL=] d{kk & d{kk & d{kk & d{kk & d{kk & XI

bdkbZ & 1bdkbZ & 1bdkbZ & 1bdkbZ & 1bdkbZ & 1

     Unit -1

iz'uiz'uiz'uiz'uiz'u 1 -1 -1 -1 -1 - lgh ;k xyr dk fu'kku yxk;slgh ;k xyr dk fu'kku yxk;slgh ;k xyr dk fu'kku yxk;slgh ;k xyr dk fu'kku yxk;slgh ;k xyr dk fu'kku yxk;s

Yes/no-

¼1½ lekt 'kkL= dks ,d u;k foKku dgk tkrk gS ¼ ½

Sociology is called as a nascent science.¼ ½

¼2½ lekt 'kkL= esa O;fDr dh vkfFkZd leL;kvksa dk v/;;u fd;k tkrk gSA ¼   ½

Economic problems of an individual is studied in sociology.¼ ½

¼3½ ekfVZu ywFkj }kjk fy[kh xbZ iqLrd dk uke U;w VsLVkesaV gSA ¼   ½

Name of the Book written by Martin Luther is "New testament".¼ ½

¼4½ ;wjksi esa iqutkZxj.k dk dky l=goha 'krkCnh ls 'kq: gqvk ¼ ½

Renaissance in Europe started in 17th centuary.¼ ½

¼5½ Qzkal dh Økafr dk lekt ij cqjk vlj iM+k ¼ ½

Revolution in France put bad effect on society.¼ ½

¼6½ Qzkal dh Økafr 1789 esa gqbZ ¼    ½

Revolution in France occurred in 1789.¼ ½

¼7½ Qzkal dh Økafr ds iwoZ lkjs vf/kdkj lekt ds fuEu oxZ ds gkFk esa Fks ¼     ½

Before French revolution all powers were in the hands of lower class. of the

society. ¼     ½

¼8½ Qzkal dh Økafr ds iwoZ lkekftd O;oLFkk vR;ar lqn`<+ Fkh ¼    ½

Social set up in France was intact before the french revolution.¼ ½

¼9½ baXyS.M esa 1770 ls 1830 ds chp vkS|ksfxd mRiknu] vkokxeu ds lk/ku rFkk

izkS|ksfxdh ds {ks= esa ftl rsth ls fodkl gqvk mlh dks baXyS.M vkS|ksfxd Økafr

dgk tkrk gSA ¼      ½

Industrial Revolution of England was actually the development in the sector of

Industrial production, means of transportation and technology ; between the years

1770 to 1830. ¼ ½

¼10½ vkS|ksfxd fodkl ds ckn Hkh mUuhloha 'krkCnh ds 'kq: esa baXySaM dks xEHkhj
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vkfFkZd ladV dk lkeuk djuk iM+k ¼    ½

England faced economic problems during the start of 19th century even after

industrial development. ¼    ½

¼11½ bXyS.M dh Økafr ds iwoZ etnwjksa dks laln ds lnL;ksa ds pquko esa oksV nsus dk vf/

kdkj Fkk ¼     ½

Earlier to revolution labours were having the power to vote for parliament

member. ¼    ½

¼12½ lkekftd O;oLFkk] O;fDr ds lkekftd O;ogkjksa vkSj lkekftd fØ;kvksa dks

izHkkfor ugha djrh ¼    ½
Social system does not effect the social behaviour and social action of an

individual. ¼    ½

¼13½ lekt 'kkL= ds mn~Hko vkSj fodkl esa mUuhloha 'krkCnh dk LFkku lcls

egRoiw.kZ gS ¼     ½

19th Century has much important place for the origin and development of

sociology. ¼    ½

¼14½ lekt 'kkL= dk Kku uxjh; thou dks LoLFk cukus esa lgk;d fl) gksrk gSA

¼     ½

Knowledge of sociology helps to keep city life healthy. ¼    ½

¼15½ vkilh vuqdwyu ls fofHkUu Hkk"kkvksa vkSj {ks=ksa ds chp vkilh ln~Hkko dk ãl

gksrk gS ¼     ½

Due to mutual accomodation, the mutual harmony between various languages

and regions; reduces. ¼  ½

iz'uiz'uiz'uiz'uiz'u 2 -2 -2 -2 -2 - fjDr LFkkuksa dh iwfrZ dhft, %&fjDr LFkkuksa dh iwfrZ dhft, %&fjDr LFkkuksa dh iwfrZ dhft, %&fjDr LFkkuksa dh iwfrZ dhft, %&fjDr LFkkuksa dh iwfrZ dhft, %&

Fill in the blanks-

¼1½ vkxLV dkEV dks lekt 'kkL= dk --------------------- dgk tkrk gSA

August Comte is known as .................... of sociology.

¼2½ Qzkal vkSj baXyS.M dk ;q) gqvk mls ---------------------------- dh yM+kbZ dgk tkrk gSA

War between France and England is called ......................

¼3½ baXyS.M dh vkS|ksfxd Økafr ls m|ksxifr;ksa vkSj ---------------------- oxZ ds chp ,d
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u;k larqyu LFkkfir gqvk gSA

Because of individual revolution in England a new balance was formed between

industrilization and ....................

¼4½ lekt 'kkL= dk oSKkfud :i nsus dk dke lcls igys Qzkal ds fopkjd

--------------------------- us fd;kA

French thinkers ..................... first thought of scientific shape to sociology.

¼5½ Lora=rk ds ckn Hkkjr esa lekt 'kkL= dh --------------------- c<+us yxhA

After independnece in India ....................... of sociology increased.

¼6½ lkekftd ekuo 'kkL= dh og ---------------------------- gS tks --------------------- dks ekuo

'kkL= ls tksM+rh gSA

Sociology is the ........................ of Human science which links ...................... to

Human science.

¼7½ vk/kqfud --------------------- lekt ------------------- ds ljy lektksa dk gh fodflr :i

gSA

Modern .................... society is form of ..................

¼8½ lek= 'kkL= bl ckr eas :fp ugha ysrk fd lekt esa ---------------------------- cfYd og

dsoy ----------------------- dk v/;;u djrk gSA

Sociology did not take interest that in society ................... but studies.

¼9½ lkekftd laca/k ges'kk laxfBr ugha gksrs cfYd ---------------------- Hkh gksrs gSA

Social relation may not be associated every time but found in ................. form

also.

¼10½ lekt 'kkL= geas mu fu;eksa ls ifjfpr djkrk gS] tks gekjs ---------------------------- dks

izHkkfor djrs gSaA

Sociology introduces us to those rules which effects our ......................

¼11½ lekt 'kkL= dk Kku uxjh; thou dks -----------------cukus esa lgk;d fl) gksrk

gSA

Knowledge of sociology hinders life in ................. way.

¼12½ orZeu ;qx esa gekjs thou dh ,d izeq[k ---------------------------- ikfjokfjd thou eas

c<+rk ------------------------ gSA

In presently sceneric an important ..................... of family life ....................... is
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increasing.

iz'uiz'uiz'uiz'uiz'u 3 -3 -3 -3 -3 - tksM+h cukb;s &tksM+h cukb;s &tksM+h cukb;s &tksM+h cukb;s &tksM+h cukb;s &

Match the following :

¼1½ lu~ & 1789 & baXyS.M dh vkS|ksfxd Økafr

¼2½ lu~ & 1770 ls 1830 & Qzkal dh Økafr dh og nwljh izeq[k ?kVuk

Fkh ftlds dkj.k yksxksa us foKku] lekt]

jktuhfr /keZ ds ckjs esa u;s fljs ls lkspkA

¼3½ lu~ & 1832 & vkWxLV dkEV }kjk lekt 'kkL= dks

foKku ds :i esa LFkkfir fd;kA

¼4½ lu~ & 1838 & baXyS.M ds lezkV tkWtZ prqFkZ us ,d ,slk

lq/kkj dkuwu ikl fd;k ftlds }kjk

ikfyZ;kesaV esa Jfedksa dks izfrfuf/kRo fn;k

tkus ykxkA

¼5½ lu& 1790 ls 1815 rd & Hkkjr ds lHkh izns'kksa ds fo'ofo|ky;ksa

esa lekt 'kkL= dh yksdfiz;rk

¼6½ 1960 ds ckn & 25 o"kksZa esa baXyS.M dh tula[;k 35% ls

Hkh vf/kd gks xbZA

Year 1789 - industrial revolution of England

Year 1770 to 1830 - Second revolution incedent of French
revolution which forced people to
rethink about science society, political
religion in new way

Year 1832 - August Comte established sociology
as a science

Year 1838 - Emperor of England George IV passed
a important law which gave labours to
represent parliament

Year 1790 to 1815 - Popularity of sociology in university of
every states in India

After 1960 - In 25 years population of England

increased to 35%

iz'uiz'uiz'uiz'uiz'u 4 -4 -4 -4 -4 - tksM+h cukb;s &tksM+h cukb;s &tksM+h cukb;s &tksM+h cukb;s &tksM+h cukb;s &
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Match the following:

¼1½ lkekftd laxBu & chekjh] Hkz"Vkpkj] fu/kZurk

¼2½ lkekftd lafgrk,¡ & lg;ksx] vuqdwyu] izfrLi)kZ

¼3½ lkekftd fu;a=.k & ifjokj] tkfr] lkekftd lewg

¼4½ lkekftd izfØ;k,a & /keZ] Hkk"kk] ijEijk] dkuwu

¼5½ lkekftd O;kf/kdh & O;fDr ds O;ogkjksa ij fu;a=.k
1. Social organisation - Diseases corruption, Poverty

2. Social - Help, Adoption, Compitition

3- Social control - Family, caste, Social group

4. Social reaction - Religion, language, tradition

5. Social grevience - Control on behaviour of Individual

iz'uiz'uiz'uiz'uiz'u 5 -5 -5 -5 -5 - tksM+h cukb;s &tksM+h cukb;s &tksM+h cukb;s &tksM+h cukb;s &tksM+h cukb;s &

Match the following :

¼1½ th- ,l- /kwj;s & lksf'k;ksykWth vFkok lekt 'kkL=

¼2½ gjcVZ LisUlj & lekt 'kkL= foHkkxk/;{k

¼3½ FkkWel ewjs & lekt 'kkL= ds fu;e

¼4½ ekWfVZu ywFkj & ;wjksfi;k ¼dYiukokn½

¼5½ bekby nq[khZe & U;wLVkes.V

1- G.S.Ghurye - sociology

2. Herbert Spencer - Department Head sociology
3. Thomas & Murey - rules of sociology
4. Martin luther - utopia

5. Emile Durkhiem - New testament

iz'uiz'uiz'uiz'uiz'u 6 -6 -6 -6 -6 - tksM+h cukb;s &tksM+h cukb;s &tksM+h cukb;s &tksM+h cukb;s &tksM+h cukb;s &

Match the following:

¼1½ vFkZ 'kkL= & vrhr dk lekt 'kkL=

¼2½ euksfoKku & vkfFkZd fØ;k,¡

¼3½ bfrgkl & ekufld izfØ;k,a] ekuo]  O;ogkj

¼4½ jktuhfr 'kkL= & jkT;] ljdkj] dkuwu

Match the following :

1. Economics - Sociology of past
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2. Psychology - Economic actions
History - mental reactions, Human,

Behaviour

Political scinece - State, government ; law

iz'uiz'uiz'uiz'uiz'u 7 -7 -7 -7 -7 - lgh fodYi pqfu;s &lgh fodYi pqfu;s &lgh fodYi pqfu;s &lgh fodYi pqfu;s &lgh fodYi pqfu;s &

Choose the correct one-

¼d½ lekt 'kkL= bruk egRoiw.kZ fo"k; gS fd

¼1½ og vkfFkZd {ks= esa lgk;d gksrk gS

¼2½ og Hkwxksy dk Kku nsrk gS

¼3½ lkekftd vuqla/kkuksa dks oSKkfud :i nsrk gS

¼4½ i;kZoj.k dks 'kq) djus eas lgk;d gksrk gS

Sociology is so important subject that -

(a) It helps in economic area
(b) Give knowledge of geology
(c) Give scientific status to social research

(d) Helps in making Environment pure

¼[k½ lekt 'kkL= dks foKku dgk tk ldrk gS D;ksafd

¼1½ blesa bfrgkl dk Kku jgrk gS

¼2½ blesa Hkk"kk dk Kku jgr gS

¼3½ blesa oSKkfud i)fr dk iz;ksx gksrk gS

¼4½ blesa xf.kr dk Kku jgrk gS

Sociology is called Science because-

(a) It has Knowledge of History
(b) It has Knowledge of language
(c) It has scientific system

(d) It has the Knowledge of maths

¼x½ ckVkseksj us fy[kk gS fd &

¼1½ vc vf/kd le; rd lekt 'kkL= rFkk vFkZ'kkL= dks ,d nwljs ls vyx

ugha j[kk tk ldrkA

¼2½ lekt 'kkL= vkSj vFkZ'kkL= esa dksbZ laca/k ugha gS

¼3½ lekt 'kkL= dks ,d foKku ugha dgk tk ldrk

¼4½ lekt 'kkL= esa lkekfstd laca/kksa dk v/;;u ugha gksrkA
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Bottomore has written that-

(a) Now for long time sociology & Economics cannot be kept separated
(b) There is no relation between sociology & Economics
(c) Sociology cannot be called as Science

(d) In sociology social relations are not studied.

iz'uiz'uiz'uiz'uiz'u 8 -8 -8 -8 -8 - ,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &

Give in one word:

¼1½ lekt 'kkL= dks foKku D;ksa dgk tkrk gS \

Why sociology is called Science ?

¼2½ lekt 'kkL= dk tud fdls dgk tkrk gS \

Who is called as the father of sociology ?

¼3½ nq[khZe dh ,d fdrkc dk uke fyf[k;s \

Write the name of a book of Durkhiem ?

¼4½ lekt 'kkL= dk 'kkfCnd vFkZ D;k gS \

What is the meaning of the word sociology ?

¼5½ Hkkjr esa Lora=rk izkfIr ds ckn lekt 'kkL= ds fodkl dks izksRlkgu nsus okyh

n'kk dk uke fyf[k, ¼dksbZ ,d½

Name the condition which gave encouragement to sociology after independece?

¼6½ Hkkjr esa lekt 'kkL= ds v/;;u dk ,d ykHk crkb;s \

Write objection for not considering sociology as science.

¼7½ lekt 'kkL= dks foKku ekuus ds fo:) ,d vkifRr fyf[k;s \

Give the benefits for not considering sociology as Science

¼8½ lekt 'kkL= ds fdUgha nks laLFkkid fopkjdksa ds uke fyf[k;s \

Write the name of any two founder thinkers of sociology.

¼9½ lekt 'kkL= ds v/;;u {ks= ls lacaf/kr ,d fo"k; dk uke fyf[k;s \

Write name of any subject related to the area of sociology.

¼10½ lekt 'kkL= vkSj ekuo 'kkL= dh ,d fHkUurk crkb;s \

Write differnence between Sociology & Human Science.

y?kq mRrjh; ,oa nh?kZmRrjh; iz'u y?kq mRrjh; ,oa nh?kZmRrjh; iz'u y?kq mRrjh; ,oa nh?kZmRrjh; iz'u y?kq mRrjh; ,oa nh?kZmRrjh; iz'u y?kq mRrjh; ,oa nh?kZmRrjh; iz'u & ¼pkj] ik¡p ,oa N% vad½¼pkj] ik¡p ,oa N% vad½¼pkj] ik¡p ,oa N% vad½¼pkj] ik¡p ,oa N% vad½¼pkj] ik¡p ,oa N% vad½
Short and long answer questions - (4, 5 and 6 marks)

iz'uiz'uiz'uiz'uiz'u 1 -1 -1 -1 -1 - iqutkZxj.k dk vFkZ le>kb,A
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Explain the meaning of Renaissance.

iz'uiz'uiz'uiz'uiz'u 2 -2 -2 -2 -2 - fdu lkekftd n'kkvksa dks Qzkal dh Økafr us izksRlkgu fn;k \

What were the social conditions that boosted up the french revolution.

iz'uiz'uiz'uiz'uiz'u 3 -3 -3 -3 -3 - baXyS.M dh vkS|ksfxd Økafr ls mRiUu dksbZ rhu ifjorZu fyf[k,A
Write any three changes, that emerged out as a result of the Industrial revolution

of England.

iz'uiz'uiz'uiz'uiz'u 4 -4 -4 -4 -4 - dkWEV dks lekt 'kkL= dk tud D;ksa dgk tkrk gS \
Why August Comte is regarded as the father of sociology?

iz'uiz'uiz'uiz'uiz'u 5 -5 -5 -5 -5 - lekt 'kkL= ds vkjfEHkd fodkl ls lEcaf/kr fdUgha pkj lekt 'kkfL=;ksa ds

uke fyf[k,A
Write the names of any four sociologist,associated with the early development

of sociology.

iz'uiz'uiz'uiz'uiz'u 6 -6 -6 -6 -6 - lekt 'kkL= dks lkekftd HkkSfrdh dk uke dkWEV us D;ksa fn;k \
Why August  Comte called sociology as social physics?

iz'uiz'uiz'uiz'uiz'u 7-7-7-7-7- lekt 'kkL= dk f'k{k.k Hkkjr esa lcls igys 'kq: djus okys rhu fo'ofo|ky; dkSu ls gSa \

Which are the three universities,that are pioneers in teaching sociology in India.

iz'uiz'uiz'uiz'uiz'u 8 -8 -8 -8 -8 - Hkkjrh; lekt 'kkfL=;kas ds dksbZ ik¡p uke fyf[k,A

Write the names of any five Indian sociologist.

iz'uiz'uiz'uiz'uiz'u 9 -9 -9 -9 -9 - Hkkjr esa lekt 'kkL= ds v/;;u ds dksbZ rhu ykHk fyf[k,A

Write any three advantages of study of sociology in India.

iz'uiz'uiz'uiz'uiz'u 10-10-10-10-10- lekt 'kkL= ds 'kkfCnd vFkZ dks Li"V dhft;sA
Explain the meaning of the word "sociology".

iz'uiz'uiz'uiz'uiz'u 11-11-11-11-11- lekt 'kkL= dks nwljs foKkuksa dh rqyuk esa ,d u;k foKku D;ksa dgrs gS \

Why sociology is regarded as nascent science as compared to the other sciences?

iz'uiz'uiz'uiz'uiz'u 12-12-12-12-12- oscj ds vuqlkj lkekftd fØ;k dh nks izeq[k fo'ks"krk,¡ fyf[k,A
Write two major features of Weber's social action theory.

iz'uiz'uiz'uiz'uiz'u 13-13-13-13-13- fdUgha ik¡p fo"k;ksa dk mYys[k lekt 'kkL= ds v/;;u {ks= ls fdft,A
Write any five topics from the study area of sociolgy.

iz'uiz'uiz'uiz'uiz'u 14-14-14-14-14- foKku dk D;k vFkZ gS \

What is the meaning of science?

iz'uiz'uiz'uiz'uiz'u 15-15-15-15-15- lekt 'kkL= esa foKku dh dkSu&lh fo'ks"krk,a¡ ik;h tkrh gSa \
What are the features of science,found in sociology.
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iz'uiz'uiz'uiz'uiz'u 16-16-16-16-16- lekt 'kkL= ds fdUgha nks laLFkkid fopkjdksa ds uke fyf[k,A

Write the names of any two founding fathers of sociology.

iz'uiz'uiz'uiz'uiz'u 17-17-17-17-17- bfrgkl dh ifjHkk"kk fyf[k,A

Write the definition of History.

iz'uiz'uiz'uiz'uiz'u 18-18-18-18-18- vFkZ'kkL= ds v/;;u dk n`f"Vdks.k D;k gS \

What is the prespectives of the study of Economics?

iz'uiz'uiz'uiz'uiz'u 19-19-19-19-19- jktuhfr 'kkL= esa fdu izeq[k fo"k;ksa dk v/;;u fd;k tkrk gS \

Which are subjects/topics that are studied in political science.

iz'uiz'uiz'uiz'uiz'u 20-20-20-20-20- lekt 'kkL=h; v/;;u esa bfrgkl ls D;k lgk;rk feyrh gS \

In what ways history help in the study of sociology?

iz'uiz'uiz'uiz'uiz'u 21-21-21-21-21- vFkZ'kkL= rFkk lekt 'kkL= esa dkSu&ls v/;;u&fo"k; lkekU; gSa \
Which are the common areas of study in sociology and in economics?

iz'uiz'uiz'uiz'uiz'u 22-22-22-22-22- jktuhfr 'kkL= rFkk lekt'kkL= esa fdu fo"k;ksa ds v/;;u dks leku egRo

fn;k tkrk gS \
Which are the common areas of study that are important in both sociology and

political science?

iz'uiz'uiz'uiz'uiz'u 23-23-23-23-23- Qzkal dh ckSf)d Økafr ls vki D;k le>rs gSa \
What do you understand by the french revolution which was a blood-less,

intellectual revoluation.

iz'uiz'uiz'uiz'uiz'u 24-24-24-24-24- Qzkal dh Økafr ds eq[; ifj.kkeksa dk mYys[k dhft,A

Write the main consequences of the french revoluation.

iz'uiz'uiz'uiz'uiz'u 25-25-25-25-25- mUuhloha 'krkCnh ls igys ds lkekftd Kku dks lekt 'kkL=h; Kku D;ksa ugha ekuk tkrkA
Why the social perception prior to the 19th century is not considered as the

sociological perception.

iz'uiz'uiz'uiz'uiz'u 26-26-26-26-26- lekt 'kkL= dk mYys[kuh; fodkl Hkkjr esa Lora=rk izkfIr ls igys D;ksa guha

gks ldk \
Why there was no significant development of sociology prior to the independence
of India.

iz'uiz'uiz'uiz'uiz'u 27-27-27-27-27- lekt 'kkL= ds fodkl dks izksRlkgu Hkkjr esa Lora=rk izkfIr ds ckn nsus okyh

izeq[k nq'kk,¡ dkSu&lh gS \
What are the major conditions which promoted the development of sociology

after the Indian independence.
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iz'uiz'uiz'uiz'uiz'u 28-28-28-28-28- HkkokRed ,dhdj.k esa lekt 'kkL= ds ;ksxnku dks fyf[k,A
Write the contribution of sociology in bringing emotional integration?

iz'uiz'uiz'uiz'uiz'u 29-29-29-29-29- lekt 'kkL= lkekftd fØ;kvksa dk v/;;u gSA** le>kb,A

"Sociology is the study of social action". Explain.

iz'uiz'uiz'uiz'uiz'u 30-30-30-30-30- lekt 'kkL= fdl izdkj lkekftd lEca/kksa dk v/;;u gS \
Explain How "Sociology is the study of social relations"?

iz'uiz'uiz'uiz'uiz'u 31-31-31-31-31- lekt 'kkL= dks foKku ekuus ds fo:) D;k vkifRr;k¡ dh tkrh gSa \

What are the major objections raised agaist sociology being considered as a sciences?

iz'uiz'uiz'uiz'uiz'u 32-32-32-32-32- lkekftd rFkk izkd`frd foKkuksa ds chp D;k vUrj gS \
What is the differences between social and natural sciences?

iz'uiz'uiz'uiz'uiz'u 33-33-33-33-33- lekt 'kkL= ds Lo:ikRed lEiznk; dk eq[; fu"d"kZ D;k gS \

What are the main conclusions of the formal school of sociology?

iz'uiz'uiz'uiz'uiz'u 34-34-34-34-34- lekt 'kkL= dks lkekU; lkekftd n'kkvksa ds v/;;u ds :i esa lksjksfdu us

fdl izdkj izLrqr fd;k \

iz'uiz'uiz'uiz'uiz'u 35-35-35-35-35- ^^lekt 'kkL= ,d lkekU; lkekftd foKku gS tcfd vFkZ'kkL= vkSj jktuhfr

'kkL= fo'ks"k lkekftd foKku gSA** le>kb,A
How did Pitrim Sorokin present sociology as the study of general social

condition?

iz'uiz'uiz'uiz'uiz'u 36-36-36-36-36- dkWEV ds vuqlkj lekt'kkL= fdl izdkj ,d Lora= lkekftd foKku gS \
According to August comte, how sociology is an independent social science.

iz'uiz'uiz'uiz'uiz'u 37-37-37-37-37- lekt 'kkL= rFkk bfrgkl esa D;k vUrj gS \

What is the difference betweeen Sociology and History.

iz'uiz'uiz'uiz'uiz'u 38-38-38-38-38- lekt 'kkL= rFkk vFkZ'kkL= esa D;k vUrj gS \
What is the differences between sociology and economics.

iz'uiz'uiz'uiz'uiz'u 39-39-39-39-39- lekt 'kkL= dks nwljs lkekftd foKkukas ds led{k D;ksa ekuk tkrk gS \

Why sociology is considered equal to other social sciences?

iz'uiz'uiz'uiz'uiz'u 40-40-40-40-40- Hkkjr ds fy, lekt 'kkL= ds egRo dh foospuk dhft,A

Discuss the importance of sociology for India.

iz'uiz'uiz'uiz'uiz'u 41-41-41-41-41- Hkkjr esa lekt 'kkL= dh mRifRr vkSj fodkl ij ,d ys[k fyf[k,A
Write a note on the origin and development of sociology in India.

iz'uiz'uiz'uiz'uiz'u 42-42-42-42-42- lekt 'kkL= dh mRifRr vkSj fodkl esa vkxLr dkWEV] gjoVZ LisUlj nq[khZe

vkSj oscj ds ;ksxnku dks le>kb,A
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 Explain the contribution of August Comte, Herbert Spencer, Emile Durkheim,

Max Weber for the origin and development of sociology.

iz'uiz'uiz'uiz'uiz'u 43-43-43-43-43- if'peh ns'kksa esa lekt'kkL= ds fodkl esa Qzkal dh Økafr rFkk vkS|ksfxd Økafr

ds ;ksxnku dh foospuk dhft,A
Discuss the impact of french revoluation and the industrial revolution in the
development of sociology in the western countries.

iz'uiz'uiz'uiz'uiz'u 44-44-44-44-44- lekt 'kkL= dh ifjHkk"kk nhft, rFkk blds v/;;u {ks= dk o.kZu dhft,A

Give the definition of sociology and describe its areas and scope of study.

iz'uiz'uiz'uiz'uiz'u 45-45-45-45-45- ^^lekt 'kkL= lkekftd lEc/kksa dk oSKkfud v/;;u gSA** bl dFku dks

mnkgj.k lfgr le>kb,A
"Sociology is the scientific study of social relations". Explain this statement
with examples.

iz'uiz'uiz'uiz'uiz'u 46-46-46-46-46- ^^lekt 'kkL= ,d lkekU; lkekftd foKku gS] fo'ks"k lkekftd foKku ughaA**

O;k[;k dhft,A
Discuss "Sociology is a general social science and not a specialized social

sciences.

iz'uiz'uiz'uiz'uiz'u 47-47-47-47-47- lekt 'kkL= dh ifjHkk"kk nhft,A ;g vFkZ'kkL= ls fdl izdkj laacaf/kr gSA
Give the definition of Sociology. How it is related to economics.

iz'uiz'uiz'uiz'uiz'u 48-48-48-48-48- lekt 'kkL= rFkk jktuhfr 'kkL= ds lEca/k ,oa fHkUurkvksa dh foospuk dhft,A

Discuss the similarities and differences of sociology and political science.

iz'uiz'uiz'uiz'uiz'u 49-49-49-49-49- lekt 'kkL= D;k gS \ lekt 'kkL= rFkk vU; lkekftd foKkuksa ds lEca/k esa

dkWEV vkSj lksjksfdu ds fopkjksa dks le>kb,A
What is Sociology? Explain the views of August Comte and Pitrim Sorokin
regarding the relation between sociology and other social sciences.

iz'uiz'uiz'uiz'uiz'u 50-50-50-50-50- ^^fofHkUu lkekftd foKkuksa dh fHkUurkvksa dh vis{kk muds chp ik;h tkus okyh

,drk vf/kd egRoiw.kZ gSA** foospuk dhft,A
"The similarities found between various social sciences is important than the

differences betweeen them". Discuss.

iz'uiz'uiz'uiz'uiz'u 51-51-51-51-51- ^^lekt 'kkL= dk vU; lkekftd foKkukas ds lkFk vnku&iznku dk lEca/k gSA**

foospuk dhft,A
"There is a relationship of exchange between sociology and other social

sciences". Discuss.
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bdkbZ & 2bdkbZ & 2bdkbZ & 2bdkbZ & 2bdkbZ & 2

     Unit -2

iz'uiz'uiz'uiz'uiz'u 1 -1 -1 -1 -1 - lgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;s

True or false:

¼1½ lekt lkekftd laca/kksa dk tky gSA

Society is a the web of social relations.

¼2½ lkekftd laca/k ds fy;s nks O;fDr;ksa ds chp tkx:drk vFkok vkilh psruk dk

gksuk t:jh ugha gSA

For social relation to establish between two individuals, it is essential that there

should be awareness and mutual consciousness between them.

¼3½ laca/kksa ds }kjk gh lkekU; fgrksa ,oa lkekU; y{;ksa dh iwfrZ dh tkrh gSA

General interests and goals achieved by relations only.

¼4½ lkekftd laca/k lkekftd <k¡ps dk vk/kkj ugha gSA

Social relations are not the base of the social structure.

¼5½ lekt ls vyx iyus okys cPpksa dk 'kkjhfjd vkSj ekufld fodkl Hkyh Hkkafr

gksrk gSA

The mental & physical development of children, brought up away from the

society is not proper.

¼6½ lekt ds fcuk O;fDr ,d lkekftd izk.kh ugha cu ldrkA

An individual cannot become a social animal without a society.

¼7½ lekt vkSj O;fDr ,d nwljs dks izHkkfor djrs gSaA

Both society & an individual influence each other.

¼8½ izkFkfed lewg vkdkj eas cgqr cM+s gksrs gSA

Primary group are very large in size.

¼9½ f}rh;d lewgksa dh lnL;rk ,sfPNd gksrh gSA

The membership of a secondary group is optional.

¼10½ lkekftd fu;a=.k O;fDr dks euekus :i ls dk;Z djus eas lgk;d gksrk gSA

Social control helps an individual to act arbitarily.

¼11½ lkekftd fu;a=.k ls lekt esa lnL;ksa ds chp lg;ksx dh Hkkouk mRiUu gksrh

gSA
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Due to social control, feeling of cooperation develops between the members

of the society.

¼12½ lkekftd fu;a=.k ls lkekftd laxBu dk <+k¡pk detksj gksrk gSA
The structure of social organisation weakens up due to the social control.

¼13½ lkekftd fu;a=.k ls lekt dh ijEijk,¡ {kfrxzLr gksrh gSA

 Social control, distruts the social tradition.

¼14½ /keZ lkekftd fu;a=.k dk vfuok;Z ,oa egRoiw.kZ lk/ku gSA

Religion is the important and essential means of the social control.

¼15½ laLd`fr ,d ih<+h ls nwljh ih<+h dks gLrkarfjr gksrh gSA

Culture gets transfered from one generation to another.

¼16½ izR;sd lekt dh laLd`fr ,d lh gksrh gSA

Culture of every society is same.

iz'uiz'uiz'uiz'uiz'u 2 -2 -2 -2 -2 - fjDr LFkkuksa dh iwfrZ dhft, %&fjDr LFkkuksa dh iwfrZ dhft, %&fjDr LFkkuksa dh iwfrZ dhft, %&fjDr LFkkuksa dh iwfrZ dhft, %&fjDr LFkkuksa dh iwfrZ dhft, %&

Fill in the blanks :

¼1½ lekt 'kkL= ekuo lekt dk --------------------- v/;;u gSA

Sociology is a  .................... study of Human society.

¼2½ euq"; viuh vusd t:jrksa dks iwjk djus ds fy;s yksxkas ls tkx:drk dh n'kk

esa laca/k ---------------------------- djrk gSA bUgha laca/kksa dks ge --------------------- dgrs gSA

A man .............................. relations consciously with other to fulfil his various

needs, we call these relations as ........................

¼3½ O;fDr nwljksa dh lgk;rk ds fcuk ---------------------- ,oa ----------------- mRihM+u ls viuh

j{kk ugha dj ldrkA

An individual cannot protect himself from the ........................ and ....................

oppressions without the help of others.

¼4½ lekt dsoy ---------------------- dk lewg ugha gS og lekt esa jgus okys ----------------

ds vkilh ---------------- dh ,d O;oLFkk gSA

Society is not just a group of ........................... only, it is a system of the mutual

..................... of the .................... living in the society.

¼5½ lekt dks O;fLFkr ,oa laxfBr cukus ds fy;s dqN ------------------ vFkok --------------

gksrs gSA
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To make the society, systematic and oganised there are certain .................. and

..........................

¼6½ dkuwu] /keZ] uSfrdrk] izFkk] ijEijk ,oa yksdkpkj ---------------------- ds izHkko 'kkyh

lk/ku gSA

Law, religion, morality, tradition, customs and ettiquettes are the effective means

of ....................

¼7½ vHkkSfrd laLd`fr ------------------ gksrh gSA

Non- material culture is ...................

¼8½ HkkSfrd laLd`fr dh rqyuk esa vHkkSfrd laLd`fr esa ifjorZu cgqr ------------------ gksrk

gSA

The changes in the non material culture takes place very ......................... as

compared to the material culture.

¼9½ orZeku ;qx eas f'k{kk O;oLFkk Hkh ------------------ dk izHkko iw.kZ lk/ku cu xbZ gSA

In the present era, the education system also, become an effective mean of

......................

¼10½ tc fdlh lekt esa /keZ dk egRo de gks tkrk gS ,oa ijEijk,a rFkk izFkk,a thou

dks fu;af=r djus esa vlQy gksrs gS] rc ------------------ gh O;fDr ds O;ogkjksa dks

fu;af=r djrs gS

In a society, when the importance of the religion is reduced and customs and

traditions fails to control the lives than ......................... only controls the

behaviours of the individuals.

iz'uiz'uiz'uiz'uiz'u 3 -3 -3 -3 -3 - tksM+h cukb;s &tksM+h cukb;s &tksM+h cukb;s &tksM+h cukb;s &tksM+h cukb;s &

Match the following :

¼1½ izFkk,a & O;ogkj djus dh fof/k;k¡

¼2½ tujhfr;k¡ & mfpr vuqfpr dh Hkkouk

¼3½ yksdkpkj & ekrk firk dk vknj] f'k"Vrk

¼4½ uSfrdrk & lkekftd fu;a=.k ,oa vkRe fu;a=.k

dk vk/kkj

¼5½ /keZ & lkekftd fu;a=.k dk vukSipkfjd
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lk/ku

1. Customs - procedures of behaviour

2. Tradition - feeling of proper, improper
3. Etiquettes - Regards for parents, courteous
4. Morality - Basis of social control & self

control

5. Religion Informal mean of social control

iz'uiz'uiz'uiz'uiz'u 4 -4 -4 -4 -4 - lgh fodYi pqfu;s &lgh fodYi pqfu;s &lgh fodYi pqfu;s &lgh fodYi pqfu;s &lgh fodYi pqfu;s &

Multiple Questions-

¼v½ lkekftd fu;a=.k dk ,d vkSipkfjd lk/ku

¼1½ ikB~;'kkyk ¼2½ dksVZ

¼3½ dk;kZy; ¼4½ jkT;

Which of the following is an formal means of social control -

(a) School (b) Court of Law

(c) Office (d) State

¼c½ lkekftd fu;a=.k dk ,d vukSipkfjd lk/ku

¼1½ ifjokj ¼2½ laLFkk

¼3½ izFkk,a ¼4½ dkWyst

Which of the following is an informal means of social control-

(a) Family (b) Institution
(c) Customs (d) College

¼l½ lkekftd fu;a=.k dk ,d Lo:i

¼1½ LFkk;h ¼2½ vLFkk;h

¼3½ vPNk ¼4½ cqjk

A form of social control -

(a) Permanent (b) Temporary

(c) Good (d) Bad

¼n½ lkekftd fu;a=.k dk ,d mn~ns';

¼1½ ifjokj dh LFkkiuk ¼2½ ijaijkvksa dh j{kk

¼3½ cPpksa dk ikyu iks"k.k ¼4½ cPpksa dh f'k{kk nh{kk

Objective of social control is-

(a) Establishment of a family
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(b) Protection of tradition
(c) Up-bringing & grooming of children

(d) Education of the children

¼b½ var lewg dh fo'ks"krk,a gSa &

¼1½ ge dh Hkkouk dh vfHkO;fDr

¼2½ rqyukRed :i ls NksVk vkdkj

¼3½ lewg dY;k.k ds lkeus O;fDrxr fgr xkS.k

¼4½ rqyukRed :i ls cM+k vkdkj

The features of 'In-group'-

(a) Expression of "we-feeling"
(b) comparatively smaller size
(c) Personal interest are subservient before the welfare of the group

(d) Comparatively large size

iz'uiz'uiz'uiz'uiz'u 5 -5 -5 -5 -5 - ,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &

Give answer in one sentence:

¼1½ lkekftd fu;a=.k ds ,d vukSipkfjd lk/ku dk uke fyf[k;s \

Write the name of one informal means of social control ?

¼2½ lkekftd fu;a=.k ds ,d vkSipkfjd lk/ku dk uke fyf[k;s \

Write the name of one formal means of social control ?

¼3½ izkFkfed lewg dh ,d fo'ks"krk crkb;s \

Write one feature of primary group ?

¼4½ lkekftd fu;a=.k dk ,d Lo:i fyf[k;s \

Write one form of social control.

¼5½ laLd`fr dh ,d fo'ks"krk,a fyf[k;s \

Write one feature of Culture ?

¼6½ izpkj dk ,d lk/ku fyf[k;s \

Write one mode of propagation

¼7½ laLd`fr dk 'kkfCnd vFkZ fyf[k;s \

What is the meaning of the word "Culture" ?

¼8½ HkkSfrd laLd`fr ds ,d rRo dk uke fyf[k;s \

Write the name of an element of material culture.
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¼9½ vHkkSfrd laLd`fr ds ,d rRo dk uke fyf[k;s \

Write the name of an element of the non-material culture.

y?kq mRrjh; iz'u y?kq mRrjh; iz'u y?kq mRrjh; iz'u y?kq mRrjh; iz'u y?kq mRrjh; iz'u &

Short answer -

iz'uiz'uiz'uiz'uiz'u 1 -1 -1 -1 -1 - lekt dh ifjHkk"kk Li"V djrs gq, mldh fo'ks"krk,a le>kb,A

Explain characterstics of society giving the definition of it.

iz'uiz'uiz'uiz'uiz'u 2 -2 -2 -2 -2 - lekt dks vewrZ D;ksa dgk tkrk gSa \

Why society is termed as virtual ?

iz'uiz'uiz'uiz'uiz'u 3 -3 -3 -3 -3 - lkekftd laca/k ifjorZu'khy D;ksa gksrs gS \

Why social relation is changeable ?

iz'uiz'uiz'uiz'uiz'u 4 -4 -4 -4 -4 - lkekftd vkSj HkkSfrd laca/k esa D;k vUrj gS \

What is the difference between social and physical relation.

iz'uiz'uiz'uiz'uiz'u 5 -5 -5 -5 -5 - ljy lekt dk D;k vFkZ gS \

What is the meaning of simple society .

iz'uiz'uiz'uiz'uiz'u 6 -6 -6 -6 -6 - ljy lekt esa lekurk vkSj fHkUurk dk gksuk D;ksa t:jh gS \

What is simple society, similarity and difference must be.

iz'uiz'uiz'uiz'uiz'u 7 -7 -7 -7 -7 - ^^lkslk;Vh** iqLrd ds ys[kd dkSu gS \

Who is the writer of 'Society' book.

iz'uiz'uiz'uiz'uiz'u 8 -8 -8 -8 -8 - tfVy lekt esa fdl rjg ds laca/k ik;s tkrs gS \

In complex society which kind of relation is found.

iz'uiz'uiz'uiz'uiz'u 9 -9 -9 -9 -9 - ikjLifjd fuHkZjrk lekt dk t:jh rRo D;ksa gS \

Mutual dependence is essential component of society ?

iz'uiz'uiz'uiz'uiz'u 10-10-10-10-10- ljy vkSj tfVy lekt esa D;k vUrj gS \

What is the difference between simple & complex society.

iz'uiz'uiz'uiz'uiz'u 11-11-11-11-11- izR;{k rFkk vizR;{k lg;ksx dk D;k vFkZ gS \

What is the meaning of visible & non-visible help ?

iz'uiz'uiz'uiz'uiz'u 12-12-12-12-12- lkekftd laca/k ds izeq[k rRo D;k gS \

What is the main component of social relation.

iz'uiz'uiz'uiz'uiz'u 13-13-13-13-13- lekt dh izd`fr ifjorZu'khy D;ksa gksrh gS \

Nature of society is changeable.Why ?
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iz'uiz'uiz'uiz'uiz'u 14-14-14-14-14- ^^lekt 'kkL= lekt dk oSKkfud v/;;u gSA** le>kb,A

"Sociology is the scientific study of society.Explain.

iz'uiz'uiz'uiz'uiz'u 15-15-15-15-15- O;fDr ds thou ij lekt ds dksbZ rhu izHkko fyf[k,A

Write any three effects of society on individual.

iz'uiz'uiz'uiz'uiz'u 16-16-16-16-16- lkekftd lewg dh eq[; fo'ks"krk,a D;k gS \

What are the main chacterstics of social group.

iz'uiz'uiz'uiz'uiz'u 17-17-17-17-17- lkekftd lewg dh dksbZ ,d ifjHkk"kk nhft,A

Give only one definition of social group.

iz'uiz'uiz'uiz'uiz'u 18-18-18-18-18- vUr% lewg ,oa ckg; lewg esa D;k vUrj gS \

What is the difference between external & internal group ?

iz'uiz'uiz'uiz'uiz'u 19-19-19-19-19- dwys ds vuqlkj izkFkfed lewg dk vFkZ fyf[k,A

What is the meaning of primary group by Phule.

iz'uiz'uiz'uiz'uiz'u 20-20-20-20-20- f}rh;d lewg ds pkj mnkgj.k fyf[k,A

Write four examples of secondary group.

iz'uiz'uiz'uiz'uiz'u 21-21-21-21-21- izkFkfed lewg dh eq[; fo'ks"krk,a D;k gS \

Write main characterstics of Primary group.

iz'uiz'uiz'uiz'uiz'u 22-22-22-22-22- f}rh;d lewg dh eq[; fo'ks"kk,a D;k gS \

What are the main characterstics of secondary group.

iz'uiz'uiz'uiz'uiz'u 23-23-23-23-23- vukSipkfjd lewg dk vFkZ mnkgj.k lfgr le>kb,A

Write the meaning of Non-formal group with example.

iz'uiz'uiz'uiz'uiz'u 24-24-24-24-24- lkekftd fu;a=.k ds dksbZ nks mn~ns'; fyf[k,A

Write any two aims of social control.

iz'uiz'uiz'uiz'uiz'u 25-25-25-25-25- fdlh ,d ifjHkk"kk ds vk/kkj ij lkekftd fu;a=.k dk vFkZ Li"V dhft,A

Write the meaning of social control on the basis of its definition.

iz'uiz'uiz'uiz'uiz'u 26-26-26-26-26- izR;{k ,oa vizR;{k fu;a=.k dh izd`fr dks le>kb,A

Explain the nature of visible & non-visible control.

iz'uiz'uiz'uiz'uiz'u 27-27-27-27-27- vkSipkfjd fu;a=.k ls vki D;k le>rs gS \

What do you mean by formal control.

iz'uiz'uiz'uiz'uiz'u 28-28-28-28-28- tujhfr;ksa dks lkekftd fu;a=.k dk vukSipkfjd lk/ku D;ksa dgk tkrk gS \

Why traditional values are called non-formal tools of social control.



( 20 )

iz'uiz'uiz'uiz'uiz'u 29-29-29-29-29- lkekftd fu;a=.k esa dkuwuksa dh Hkwfedk dks le>kb,A

Explain law/legal character in social control.

iz'uiz'uiz'uiz'uiz'u 30-30-30-30-30- lkekftd fu;a=.k ds eq[; dk;Z D;k gS \

What are the main work of social control.

iz'uiz'uiz'uiz'uiz'u 31-31-31-31-31- /keZ fdl izdkj lekt esa fu;a=.k djrk gS \

How religion control society ?

iz'uiz'uiz'uiz'uiz'u 32-32-32-32-32- ikjLifjd lg;ksx ds fy, lkekftd fu;a=.k dk egRo Li"V dhft,A

Explain importance of social control for mutual help.

iz'uiz'uiz'uiz'uiz'u 33-33-33-33-33- laLd`fr dk 'kkfCnd vFkZ D;k gS \

What is the meaning of Culture ?

iz'uiz'uiz'uiz'uiz'u 34-34-34-34-34- laLd`fr dh ifjHkk"kk fyf[k,A

Define Culture.

iz'uiz'uiz'uiz'uiz'u 35-35-35-35-35- laLd`fr dks ^i;kZoj.k dk ekuo fufeZr Hkkx* D;ksa dgk tkrk gS \

Why culture is called "Human made part of Environment".

iz'uiz'uiz'uiz'uiz'u 36-36-36-36-36- lkaLd`frd dk D;k vFkZ gSa \

What is meaning of cultural.

iz'uiz'uiz'uiz'uiz'u 37-37-37-37-37- laLd`fr lewg dk vk/kkj D;ksa gksrh gS \

Why is culture base of group.

iz'uiz'uiz'uiz'uiz'u 38-38-38-38-38- laLd`fr dh eq[; fo'ks"krk,a D;k gSa \

What are the characterstics of Culture.

iz'uiz'uiz'uiz'uiz'u 39-39-39-39-39- HkkSfrd ,oa vHkkSfrd laLd`fr dh fo'ks"krk,a fyf[k,A

Write physical & non-physical culture characterstics.

iz'uiz'uiz'uiz'uiz'u 40-40-40-40-40- vkWxcuZ us fdl izdkj laLd`fr ds vk/kkj ij lkekftd ifjorZu dks Li"V fd;kA

How Augburn explained social change on the basis of culture.

iz'uiz'uiz'uiz'uiz'u 41-41-41-41-41- laLd`fr rFkk lkekftd izfrekuksa esa D;k lEca/k gS \

What is the difference between cultural & social values.

iz'uiz'uiz'uiz'uiz'u 42-42-42-42-42- chjLVht ds vuqlkj laLd`fr esa dkSu ls rRo 'kkfey gksrs gSa \

According to Beersteej what components are included in culture.

o.kZukRed iz'u &o.kZukRed iz'u &o.kZukRed iz'u &o.kZukRed iz'u &o.kZukRed iz'u &
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Explanatory Questions -

iz'uiz'uiz'uiz'uiz'u 43-43-43-43-43- lekt D;k gS \ ekuo lekt ds izeq[k y{k.kksa dk o.kZu dhft,A

What is Society ? Explain main characterstics of Human society.

iz'uiz'uiz'uiz'uiz'u 44-44-44-44-44- ^^lekt esa lg;ksx rFkk la?k"kZ dk leku egRo gSaA** mnkgj.k lfgr Li"V

dhft,A

In society there is equal space for help & struggle.

iz'uiz'uiz'uiz'uiz'u 45-45-45-45-45- ^^lekt lkekftd lEcU/kksa dh O;oLFkk gSA** mnkgj.k lfgr foospuk dhft,A

Society is the facility of social relationship.

iz'uiz'uiz'uiz'uiz'u 46-46-46-46-46- lkekftd lewg D;k gS \ lkekftd lewg dk oxhZdj.k dhft,A

What is social group ? Classify it .

iz'uiz'uiz'uiz'uiz'u 47-47-47-47-47- lkekftd thou ds fy, lewgksa dh Hkwfedk dh foospuk dhft,A

For social life explain the role of group.

iz'uiz'uiz'uiz'uiz'u 48-48-48-48-48- lkekftd fu;a=.k ls vki D;k le>rs gS \ lkekftd fu;a=.k eas /keZ rFkk

uSfrdrk dh Hkwfedk dks Li"V dhft,A

What do you mean by social control.Explain the role of Religion & morality in

social control.

iz'uiz'uiz'uiz'uiz'u 49-49-49-49-49- lkekftd fu;a=.k D;k gS \ lkekftd fu;a=.k esa ifjokj dh Hkwfedk dh foospuk

dhft,A

What is social control ? Explain the role of family it ?

iz'uiz'uiz'uiz'uiz'u 50-50-50-50-50- ^^ekuo dh lcls cM+h lEfRr mldh laLd`fr gSA** bl dFku dh foospuk dhft,A

Biggest property of Human is culture.Explain.

iz'uiz'uiz'uiz'uiz'u 51-51-51-51-51- laLd`fr D;k gSa \ laLd`fr vkWxcuZ ds fopkjksa dh O;k[;k dhft,A

What is culture ?Explain Augburn ideology on it ?
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bdkbZ & 3bdkbZ & 3bdkbZ & 3bdkbZ & 3bdkbZ & 3

     Unit -3

iz'uiz'uiz'uiz'uiz'u 1 -1 -1 -1 -1 - lgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;s

True / False

¼1½ /keZ vius vki esa ,d egRoiw.kZ laLFkk gSA

Religion is its self important organisation.

¼2½ vrhr dh rqyuk esa vkt ifjokj dk vkdkj cM+k gksrk tk jgk gSA

In comparison of past, present size of family is big.

¼3½ vkt ds lekt esa yksx la;qDr ifjokj esa jguk ilan djrs gSA

In present society people prefers to live in joint family.

¼4½ lekt 'kkL= dh Hkk"kk eas laLFkk dk rkRi;Z O;fDr;ksa ds fdlh lewg ;k laxBu

ls  ugha gksrkA

According to the definition of sociology organization refers not to any group

of people.

¼5½ ijEijk ds :i eas laLFkk ls lacaf/kr fu;e ;k rjhds vkus okyh ihf<+;ksa ds fy;s

gLrkarfjr gksrs jgrs gSaA

In the form of tradition rules related to the organization is transfered for

generations.

¼6½ fookg ,d laLFkk ugha gSA

Marriage is not an organization.

¼7½ ifjokj fookg vkSj ukrsnkjh lkekftd fo?kVu esa lgk;d gksrs gSA

Family, marriage & relations are help for social breakup.

¼8½ tc vusd ihf<+;ksa ds yksx ,d lkFk jgrs gS] rks og ,dkdh ifjokj dgykrk gSA

When people from various generation lives together, called singlr family.

¼9½ ftl ifjokj eas ifr ifRu vkSj cPpsa jgrs gSaA mls la;qDr ifjokj dgrs gSaA

Family in which husband, wife and children are there is called Joint family.

¼10½ ifjokj dks pkgs laLFkk dgsa ;k lfefr ge eas ls gj O;fDr fdlh u fdlh ifjokj

dk lnL; gksrk gSA

Family is called an organisation or institution we all are the part of it.

¼11½ tks O;fDr vfookfgr jgdj vius ifjokj dh LFkkiuk ugha dj ikrs o fdlh Hkh
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ifjokj ds lnL; ugha gksrsA

Person who remain unmarried & do not form family as the part of any family.

¼12½ /keZ ,slh laLFkk gS] ftlesa vusd fo'okl ifo=rk ls lacaf/kr] fu;e ,oa uSfrd

vkpj.k 'kkfey gksrs gSaA
Religion is an institution in which various beliefs, rules and moral values are
included.

¼13½ ifjokj ,slh laLFkk gS ftlesa jDr laca/kh jgrs gSaA

Family is an institution in which blood relation prevails.

iz'uiz'uiz'uiz'uiz'u 2 -2 -2 -2 -2 - fjDr LFkkuksa dh iwfrZ dhft, %&fjDr LFkkuksa dh iwfrZ dhft, %&fjDr LFkkuksa dh iwfrZ dhft, %&fjDr LFkkuksa dh iwfrZ dhft, %&fjDr LFkkuksa dh iwfrZ dhft, %&

Fill in the blanks-

¼1½ lkoZHkkSfrdrk --------------------- dh fo'ks"krk gSA

Universal is .......................... characterstics.

¼2½ NksVk ifjokj fuf'pr izd`fr dk rFkk ---------------------------- lewg gSA

Small family is defined natural & ............... group.

¼3½ ifjokj dk vkdkj -------------------------- ;k --------------------- nksuksa izdkj dk gks ldrs gSA

Size of family may be ...................... & ........................

¼4½ ftlesa ifr ifRu vkSj cPPksa jgrs gSa mls --------------------- ifjokj dgk tkrk gSA

Where Husband, wife and children resides is called.........................

¼5½ fir` lRrkRed ifjokj esa fuokl rFkk oa'k uke ds {ks= esa ------------------------------ dh

iz/kkurk gksrh gSA

In father based family name of residence & family ........................ is dominant.

¼6½ fookg ds vk/kkj ij ifjokj ds rhu izeq[k :i gS --------------------- ifjokj -------------

ifjokj ,oa ------------------ ifjokjA

On the basis of family there are three types of marriage ....................,................

and .....................

¼7½ lEiw.kZ --------------------- eas ifjokj dk egRo dsUnzh; gSA

In ............... importance of family is man.

¼8½ ifjokj dk ,d ekSfyd y{k.k ;g gS fd ifjokj ,d --------------------- Hkh gS vkSj

----------------------- HkhA

The basic character of family is ...................... & ........................
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¼9½ la;qDr ifjokj esa ,d ls vf/kd --------------------- ,d lkFk ,d gh ?kj esa fuokl

djrh gSA

In joint family more than one .................... can reduce in one house.

¼10½ cgq iRuh fookg vkt Hkh vusd tutkrh; lektksa rFkk --------------------- lekt esa

fo|eku gSA

Daughters-in-law wife marriage prevails still in tribal socities & ................

society.

¼11½ cgq iRuh fookg esa --------------------- ls vf/kd ---------------------- gSA

In Daughter-in-law wife marriage .................... is more to ....................

¼12½ tc vusd HkkbZ feydj ,d L=h ls fookg djrs gS og --------------------- dgykrk gSA

When many brothers jointly names one women it is called ..................

¼13½ --------------------- fookg ls vuSfrdrk c<+rh gSA ;kSu jksxksa esa o`f) ,oa cPPkksa ds ikyu

iks"k.k esa dfBukbZ vkrh gSA

In ................... marriage immorality increases & sexual disease increases also

there is difficulty to bring up children.

¼14½ ftl lekt esa fL=;ksa dh n'kk iq:"kksa ls uhph le>h tkrh gSa A ogk¡ ---------------

fookg ds izpyu dh laHkkouk,a c<+ tkrh gSA

The society in which position of women is low to men prevails, there ...............

marriages posibility increases.

iz'uiz'uiz'uiz'uiz'u 3 -3 -3 -3 -3 - tksM+h cukb;s &tksM+h cukb;s &tksM+h cukb;s &tksM+h cukb;s &tksM+h cukb;s &

Match the following:

¼v½¼v½¼v½¼v½¼v½ ¼c½¼c½¼c½¼c½¼c½

¼1½  iq:"kksa dh rqyuk esa fL=;ksa dh & cgqifr fookg

fLFkfr uhph

¼2½ iq:"kksa ds vuqikr esa fL=;ksa dh & cgq ifRu fookg

la[;k de gksuk

¼3½ Hkzkr` cgqifr fookg & ,d fookg

¼4½ fookg dk ,d loksZRre izdkj & [kl] VksMk tutkfr

¼5½ csesy fookg & ifr ifRu dh mez esa dkQh vUrj gksuk
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1- Comparison to men status - Multi husband marriage

of women is low
2. In ratio of men population of - Multi wife marriage

women is less
3. Multi husband marriage - One marriage
4. Best of marriage - Khastoda caste

Difference between the age of

husband & wife

tksM+h cukb;s &tksM+h cukb;s &tksM+h cukb;s &tksM+h cukb;s &tksM+h cukb;s &

Match the following:

¼v½¼v½¼v½¼v½¼v½ ¼c½¼c½¼c½¼c½¼c½

¼1½ 18 o"kZ ls de vk;q esa yM+dh & ukjh 'kks"k.k dk dkj.k

dk fookg

¼2½ ngst izFkk & dkuwuh :i ls fu"ks/k

¼3½ fdlh leqnk; dks vius gh lewg & dqyhu fookg

esa fookg vko';d

¼4½ o.kZ tkfr ,oa lkekftd izfLFkfr & fookg foPNsn esa o`f)

ds vuqlkj fookg

¼5½ ifjokj rFkk fookg tSlh laLFkkvksa & vUrZfookZg

ij ekrk&firk dk fu;a=.k de

gksuk

A B

1- Marriage before 18 years age - women torture
2. Dowry system Banned by law
3. Community should marry in its- Rich marriage

community
4. Marriage based on caste & creed- increase in divorce
5. decrease in control over family &- inter marriage

marriage

tksM+h cukb;s &tksM+h cukb;s &tksM+h cukb;s &tksM+h cukb;s &tksM+h cukb;s &

Match the following:

¼v½¼v½¼v½¼v½¼v½ ¼c½¼c½¼c½¼c½¼c½

¼1½ vkfFkZd laLFkk,a & O;fDr;ksa ds chp dk;Z foHkktu
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¼2½ lEifRr & vkfFkZd fØ;kvksa dks O;ofLFkr cukus okyh

dk;Z i)fr ,oa fu;e

¼3½ Je foHkktu & gLrkarfjr gks ldrh gS

¼4½ iawthoknh vFkZ O;oLFkk & mRiknu ,oa forj.k ij jkT; dk

vf/kdkj

¼5½ lektoknh vFkZ O;oLFkk & cM+h ek=k esa mRiknu ij vk/kkfjr

A B

1 Financial Institutions - Work distribution between individuals

2. Property - Rule system to make proper financial
actions

3. Work distribution - Canbe transfered
4. Capitalist economic arrangement- Control of station production &

distribution

5. Socialist Economy - Based on high quality of production

iz'uiz'uiz'uiz'uiz'u 4 -4 -4 -4 -4 - lgh fodYi pqfu;s &lgh fodYi pqfu;s &lgh fodYi pqfu;s &lgh fodYi pqfu;s &lgh fodYi pqfu;s &

Select correct answer-

¼1½ iawthoknh vFkZO;oLFkk dh fo'ks"krk

¼d½ jkT; dk gLr{ksi ¼[k½ futh lEifRr dks ekU;rk

¼x½ lkoZtfud dY;k.k dks vf/kd egRo ¼?k½ ,dkf/kdkj dh Hkkouk

    Character of capitalistic Economy-

(a) Interference of state (b) to personal property

(c) Public development prefered (d)

¼2½ fefJr vFkZO;oLFkk dh izeq[k fo'ks"krk

¼d½ futh lEifRr dh ekU;rk ds lkFk jkT; dk fu;a=.k

¼[k½ dqVhj m|ksxksa ij cqjs izHkko

¼x½ ifjokj ij cqjk izHkko

¼?k½ vkS|ksfxd fodkl ij izfrdwy izHkko

Mixed Economic is -

(a) Control of state with personal property affiliation
(b) Bad effect on
(c) Bad effect on family

(d) Bad effect on industrial development
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¼3½ ;s jkT; dk ,d izdkj gS &

¼d½ lkezkT; ¼[k½ ifjokj

¼x½ lkekftd laLFkk,a ¼?k½ f}rh;d lewg

Is a type of state-

(a) (b) Family

(c) Social institutions (d) Second group

¼4½ ;s jkT; dk ,d egRoiw.kZ dk;Z gS &

¼d½ ifjokj dk fuekZ.k ¼[k½ laxBu cukuk

¼x½ ekSfyd vf/kdkjksa dh j{kk ¼?k½ Hkouksa dh lqj{kk

Is an important work state-

(a) formation of family (b) to make organization

(c) to protect fundamental rights (d) protection of building

¼5½ f'k{kk dk loZizFke mn~ns'; gS &

¼d½ O;fDr dks fookg ;ksX; cukuk

¼[k½ O;fDr dks lkekftd ewY;ksa vkSj vis{kkvksa ds vuqdwy cukuk

¼x½ O;fDr dks d`f"k djus ;ksX; cukuk

¼?k½ O;fDr dks ifjokj esa jgus ;ksX; cukuk

Main aim of education is-

(a) To make individual for marriage
(b) To make them adaptable to social values
(c) To make him able for agriculture

(d) To make him able for being a member of family

iz'uiz'uiz'uiz'uiz'u 5 -5 -5 -5 -5 - ,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &

Give answer in one word-

¼1½ f'k{kk dk ,d egRo fyf[k;s \

Importance of Education is ?

¼2½ loZ f'k{kk vfHk;ku dk ,d y{; fyf[k;s \

Write one aim of Sarv Shiksha Abhiyan ?

¼3½ Hkkjr esa f'k{kk dh ,d eq[; leL;k fyf[k;s \

Write one main problems related to education in India ?

¼4½ /keZ dh mRifRr dk ,d fl)kar dkSulk gS \
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A theory of creation of Religion is ?

¼5½ ekuo dk /kkfeZd n`f"V dks.k D;k gS \

What religious point of view for religion.

¼6½ ekuo dk oSKkfud n`f"V dks.k D;k gS \

What is scientific look out of Human ?

¼7½ fookg dk ,d izdkj fyf[k;s \

Write a kind of marriage.

¼8½ fookg dk mn~ns'; D;k gS \

What is the aim of marriage.

y?kq mRrjh; iz'u y?kq mRrjh; iz'u y?kq mRrjh; iz'u y?kq mRrjh; iz'u y?kq mRrjh; iz'u &

iz'uiz'uiz'uiz'uiz'u 1 -1 -1 -1 -1 - ifjokj dh dksbZ nks ifjHkk"kk fyf[k,A

Write any two definition of the family.

iz'uiz'uiz'uiz'uiz'u 2 -2 -2 -2 -2 - ifjokj dh izeq[k fo'ks"krk,a fyf[k,A

Write the main characterstics of the family.

iz'uiz'uiz'uiz'uiz'u 3 -3 -3 -3 -3 - la;qDr ifjokj rFkk ,adkdh ifjokj ds dksbZ nks vUrj crkb,A

Write any two differences between joint family and nuclear family.

iz'uiz'uiz'uiz'uiz'u 4 -4 -4 -4 -4 - chjLVhM us ifjokj ds dkSu&dkSu ls nl izeq[k dk;ksZa dk mYys[k fd;k gS \

What are the ten main functional of a family mentioned by Beristed.

iz'uiz'uiz'uiz'uiz'u 5 -5 -5 -5 -5 - fookg ds vk/kkj ij ifjokj fdrus izdkjksa esa ckVk x;k gS \

In how many types family has been divided on the basis of marriage.

iz'uiz'uiz'uiz'uiz'u 6 -6 -6 -6 -6 - ifjokj dh lajpuk esa vkt D;k ifjorZu gq, gS \

What are the changes that have occured in the structure of the family.

iz'uiz'uiz'uiz'uiz'u 7 -7 -7 -7 -7 - vkt ifjokjksa dk vkdkj NksVk D;ksa gksrk tk jgk gS \

Why the size of the family is getting smaller.

iz'uiz'uiz'uiz'uiz'u 8 -8 -8 -8 -8 - ekr` lRrkRed ifjokj dh eq[; fo'ks"krk,a crkb,A

Write the features of matriarchial family.

iz'uiz'uiz'uiz'uiz'u 9 -9 -9 -9 -9 - ifjokj ,d lkoZHkkSfed laLFkk fdl izdkj gS \

How a family is a universal institution ?

iz'uiz'uiz'uiz'uiz'u 10-10-10-10-10- fookg dk vFkZ rFkk ifjHkk"kk fyf[k,A

Write the meaning and definition of marriage.
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iz'uiz'uiz'uiz'uiz'u 11-11-11-11-11- fookg dh izeq[k fo'ks"krkvksa dks fyf[k,A

Write the main features of marriage.

iz'uiz'uiz'uiz'uiz'u 12-12-12-12-12- ikfjokfjd laxBu ds vk/kkj ij fookg ds rhu izeq[k izdkj dkSu&ls gS \

What are the three types of marriage, based on family structure ?

iz'uiz'uiz'uiz'uiz'u 13-13-13-13-13- vUrfookg ds fu;e dh eq[; fo'ks"krk,a crkb,A

Write main features of endogamy ?

iz'uiz'uiz'uiz'uiz'u 14-14-14-14-14- cfgfoZokg ds eq[; :i dkSu ls gSa \

What are the main types of exogamy ?

iz'uiz'uiz'uiz'uiz'u 15-15-15-15-15- oSokfgd leL;k,¡ lkekftd thou dks dSls izHkkfor djrh gS \

How the marriage problems affects the social life ?

iz'uiz'uiz'uiz'uiz'u 16-16-16-16-16- ukrsnkjh dh vo/kkj.kk dks fdlh ,d ifjHkk"kk ds }kjk le>kb,A

Explain the concept of Kinship by an example.

iz'uiz'uiz'uiz'uiz'u 17-17-17-17-17- jDr lEcU/kh ukrsnkjh ls vki D;k le>rs gS \

What do you understand by kinship based on blood relation.

iz'uiz'uiz'uiz'uiz'u 18-18-18-18-18- izkFkfed ukrsnkj dk vk'k; fdu O;fDr;ksa ls gS \

With whom the primary kinship is related to ?

iz'uiz'uiz'uiz'uiz'u 19-19-19-19-19- ukrsnkjh ds eq[; izdkj crkb,A

Write main types of Kinship.

iz'uiz'uiz'uiz'uiz'u 20-20-20-20-20- vkfFkZd laLFkk dk vFkZ ifjHkk"kk nsdj Li"V dhft,A

Explain the meaning of economic institution with definition.

iz'uiz'uiz'uiz'uiz'u 21-21-21-21-21- vkfFkZd laLFkk rFkk vkfFkZd O;oLFkk ,d nwljs ls fdl izdkj lEacaf/kr gS \

How the economic institution & economic system are related with each other

iz'uiz'uiz'uiz'uiz'u 22-22-22-22-22- vFkZ O;oLFkk dks lekt dh ,d miiz.kkyh D;ksa dgk tkrk gS \

Why the economic system is called a Sub-system of the society ?

iz'uiz'uiz'uiz'uiz'u 23-23-23-23-23- O;fDrxr lEifRr rFkk lkoZtfud lEifRr esa D;k vUrj gS \

What is the difference between personal & public property ?

iz'uiz'uiz'uiz'uiz'u 24-24-24-24-24- O;kolkf;d xfr'khyrk dk D;k vFkZ gS \

What is commercial dynamism ?

iz'uiz'uiz'uiz'uiz'u 25-25-25-25-25- iw¡thoknh vFkZO;oLFkk esa oxZ&la?k"kZ ds fdlh ,d dkj.k dks le>kb,A

Explain any one reason for the class-conflict the capitalistic system of economy.
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iz'uiz'uiz'uiz'uiz'u 26-26-26-26-26- lEifRr dh vo/kkj.kk D;k gS \

What is the concept of Wealth ?

iz'uiz'uiz'uiz'uiz'u 27-27-27-27-27- vkfFkZd laLFkk ds :i eas lEifRr dh dksbZ rhu fo'ks"krkvksa dks le>kb,A

Explain any three features of property on an economic system.

iz'uiz'uiz'uiz'uiz'u 28-28-28-28-28- Je foHkktu ds eq[; ykHk D;k gSa \

What are the main advantages of division Labour ?

iz'uiz'uiz'uiz'uiz'u 29-29-29-29-29- d`f"k vFkZ O;oLFkk dh fdUgha rhu fo'ks"krkvksa ij izdk'k Mkfy,A

Throw light on any three features of the agrarian economic system.

iz'uiz'uiz'uiz'uiz'u 30-30-30-30-30- vkS|ksfxd vFkZO;oLFkk dks fdUgha pkj fo'ks"krkvksa dk o.kZu dhft,A

Write any four features of industrial economic system.

iz'uiz'uiz'uiz'uiz'u 31-31-31-31-31- iw¡thoknh vFkZO;oLFkk rFkk fefJr vFkZO;oLFkk esa vUrj le>kb,A

Write the difference between mixed & capitalistic economy.

iz'uiz'uiz'uiz'uiz'u 32-32-32-32-32- lektoknh vFkZO;oLFkk ,oa iw¡thoknh vFkZO;oLFkk eas D;k fHkUurk gS \ Li"V

dhft,A

Write the difference between Capitalistic and Socialistic economy.

iz'uiz'uiz'uiz'uiz'u 33-33-33-33-33- vkS|ksfxd vFkZO;oLFkk ds fdUgha nks&nks lkekftd vkSj vkfFkZd ifj.kkeksa dk

o.kZu dhft,A
Write any two economic consquences and social consquence of industrial

economy.

iz'uiz'uiz'uiz'uiz'u 34-34-34-34-34- jktuSfrd laLFkk dks ifjHkkf"kr dj dksbZ nks mnkgj.k nhft;sA

Define political institution with two examples.

iz'uiz'uiz'uiz'uiz'u 35-35-35-35-35- jkT; dh vo/kkj.kk Li"V dhft,A

Explain the concept of the state.

iz'uiz'uiz'uiz'uiz'u 36-36-36-36-36- jkT; ds dksbZ pkj dk;Z le>kb,A

Explain any four function of a state.

iz'uiz'uiz'uiz'uiz'u 37-37-37-37-37- yksdra= esa jktuSfrd nyksa dk D;k egRo gS \

What is the importance of political parties in the democracy.

iz'uiz'uiz'uiz'uiz'u 38-38-38-38-38- yksdrU= eas ncko lewgksa dh Hkwfedk ij izdk'k Mkfy,A

Throw light on the role of pressure group in democracy.

iz'uiz'uiz'uiz'uiz'u 39-39-39-39-39- /keZ dh ifjHkk"kk nhft,A
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Give the definition of religion.

iz'uiz'uiz'uiz'uiz'u 40-40-40-40-40- /keZ dh eq[; fo'ks"krkvksa dk o.kZu dhft,A

Describe the main features of the religion.

iz'uiz'uiz'uiz'uiz'u 41-41-41-41-41- /keZ fdl rjg O;fDr dk lekthdj.k djr gS \

How does religion socialize an individual ?

iz'uiz'uiz'uiz'uiz'u 42-42-42-42-42- orZeku lektksa esa /kkfeZd psruk us D;k leL;k,¡ mRiUu dh gSa \

What problem the religion consciousness has created in the present socities ?

iz'uiz'uiz'uiz'uiz'u 43-43-43-43-43- /keZ rFkk tknw ds chp D;k vUrj gS \

What is the difference religion & magic ?

iz'uiz'uiz'uiz'uiz'u 44-44-44-44-44- /keZ dks ,d uSfrd & /kkfeZd laLFkk D;ksa dgk tkrk gS \

Why a religion is called a moral-religious institution ?

iz'uiz'uiz'uiz'uiz'u 45-45-45-45-45- /keZ dh mRifRr dks Li"V djus ds fy, Qzstj us D;k fopkj izLrqr fd;s \

What thoughts were put forwarded by Frazer to explain the origin of religion ?

iz'uiz'uiz'uiz'uiz'u 46-46-46-46-46- /keZ esa laLd`fr ds fdu HkkSfrd vkSj vHkkSfrd rRoksa dk lekos'k gksrk gS \

What are the materialistic and non-materialistic elements of culure that are

included in Religion ?

iz'uiz'uiz'uiz'uiz'u 47-47-47-47-47- f'k{kk dks ,d izkFkfed laLFkk D;ksa dgk tkrk gS \

Why education is considered as a primary institution ?

iz'uiz'uiz'uiz'uiz'u 48-48-48-48-48- f'k{kk dh ifjHkk"kk nhft,A

Define Education.

iz'uiz'uiz'uiz'uiz'u 49-49-49-49-49- f'k{kk ds ekSfyd dk;Z fyf[k,A

Write fundamental functions of Education ?

iz'uiz'uiz'uiz'uiz'u 50-50-50-50-50- /keZ&iz/kku f'k{kk ls vki D;k le>rs gS \

What do you mean by religion - dominated education ?
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bdkbZ & 4bdkbZ & 4bdkbZ & 4bdkbZ & 4bdkbZ & 4

     Unit -4

iz'uiz'uiz'uiz'uiz'u 1 -1 -1 -1 -1 - lgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;s

Mark True or false : -

¼1½ laLd`fr dk fodkloknh fl)kar ewy:i ls MkfoZZu ds mn~fodkl ds fl)kar ij

vk/kkfjr gSA

Principle of cultural development is fundamentally based on the Darvin's theory

of evolution.

¼2½ izdk;Zoknh fl)kar ds izfriknd bekby nq[khZZe gSA

Emile Durkheim is the propounder of the functionalist theory.

¼3½ laaLd`fr esa ljyrk ls tfVyrk dh vksj c<+us dk xq.k ugha gksrkA

Culture does not include the feature of progress from simple to complex.

¼4½ izR;sd lekt dh laaLd`fr ,dlh gksrh gSA

Every society has a similar culture.

¼5½ euq"; ds thou dks ftruh Hkh n'kk,a pkjksa vksj ls izHkkfor djrh gS mudh

laiw.kZrk dks i;kZoj.k dgk tkrk gSA
All those conditions that affects the human life from all direction ; are

collectively called as an environmnt.

¼6½ i;kZoj.k dks nl Hkkxksa esa ckaaVk tkrk gSA

Environment is divided into ten parts.

¼7½ laLd`fr;ksa dks fo}kuksa us nks Hkkxksa esa ckaVk gSA

Scholars have divided various culture into two parts.

¼8½ O;fDrRo ds fuekZ.k esa lekt vkSj laLd`fr nksukas leku :i ls egRoiw.kZ gSA
Society and culture , both are equally important in the development of

 personality.

¼9½ laLd`fr ifjorZu'khy ugha gSA

Culture is static, it doesnt change.

¼10½ lekt] laaLd`fr vkSj O;fDr ds chp dksbZ lEca/k ugha gksrkA

There is no relation between society , culture and man.



( 33 )

¼11½ lkaLd`frd ifjorZu dh xfr cgqr rst gksuk O;fDrRo ds fo?kVu dk eq[; dkj.k

gSA

The fast cultural changes are the main reasons for the disintegration of the

personality.

¼12½ orZeku ;qx esa lq[koknh laLd`fr dk c<+rk izHkko O;fDrRo ds fo?kVu dks Li"V

djrk gSA
The increasing effect epicurian culture in the modern era, clarifies the

disintegration of the personality.

¼13½ O;fDrRo dk vk'k; 'kkjhfjd laqnjrk ls gSa

Personality means physical beauty.

¼14½ O;fDrRo tUetkr ugha gksrk cfYd O;fDr bls vusd iz;klksa vkSj lh[k dh

izfØ;k ds }kjk fodflr djrk gSA
Personality is not ascriptive, individual by his endevours and process of learning,

develops it.

¼15½ O;fDr ds O;fDrRo ds fuekZ.k esa tSfodh; xq.kksa dh dksbZ Hkwfedk ugha jgrhA
Biological factors do not play any role in the development of the personality of

an individual.

iz'uiz'uiz'uiz'uiz'u 2 -2 -2 -2 -2 - fjDr LFkkuksa dh iwfrZ dhft;sAfjDr LFkkuksa dh iwfrZ dhft;sAfjDr LFkkuksa dh iwfrZ dhft;sAfjDr LFkkuksa dh iwfrZ dhft;sAfjDr LFkkuksa dh iwfrZ dhft;sA

Fill in the blanks

¼1½ laaLd`fr dks le>us ds fy;s lcls igys ;g tkuuk t:jh gS fd laLd`fr ds

fuekZ.k esa fdu ------------------ ,oa ------------------ dk ;ksxnku gksrk gS

To understand the culture , it is essential to know first that in the constitution

of culture , which ................... and .................... has the contribution.

¼2½ cgqr ls lkaLd`frd rRo tc laLd`fr ds ewY;ksa vkSj fu;eksa ds vuqlkj ,d nwljs

ls lacaf/kr gksdj gekjh t:jr dks iwjk djrs gSa rHkh ge bls ------------ dgrs gSA

When many of the elements of culture , gets related and connected, according

to the values and believes of the culture ; and fulfil our needs, then only we

called this ...............

¼3½ flUnwj] dkty] paanu] fyfifLVd] d.kZQwy rFkk lkSan;Z dh cgqr NksVh&NksVh

oLrq,a ----------------gSa tc bu lHkh rRoksa dk O;ofLFkr :i ls mi;ksx djds lkSan;Z

dks fu[kkjk tkrk gSA rc bls ge--------- dgrs gSA
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Small-Small objects like Vermilon, lampblack, sandal paste, lipstick, ear rings
and other items of cosmetics are ............... , when all these are used by us in a

proper arrangement, then we call ..................

¼4½ xzkeh.k laLd`fr esa cht] [kkn] gy] cSy] gafl;k] Vksdjh vkfn [ksrh ls lacaf/kr

dqN fo'ks"k -------------] gSA tc budh lgk;rk ls ge [ksrh dk dke djrs gSA rc

bls ------------ dgk tkrk gSA
In the rural cultural, seeds, manure, plough, bull, sickle, basket etc are some
.................... related to agriculture. When we cultivate, then we use all these, it

is called .....................

¼5½ laLd`fr ds rhu fl)kar egRoiw.kZ gS ------------------- fl)kar] --------------------- fl)kar

,oa --------------------- fl)karA
The three important theories of culture are ............... theory , ............... theory

and ................. theory.

¼6½ czkmu us ;gk¡ rd dgk gS fd **laLd`fr ds rRoksa dk izeq[k dk;Z ---------------------- dks

cuk;as j[kuk gSA

Brown has even said that , the main function of the elements of culture is to

maintain .....................

¼7½ laLd`fr ds eq[; fl)karksa ds vfrfjDr ------------------------ us laLd`fr easa gksus okys

ifjorZu dh n'kk eas ------------------ ds fl)kar ds vk/kkj ij laLd`fr dks Li"V fd;kA

Apart from the main theories of culture ................... , in the context of the changes

taking place in the culture, has clarified, culture on the basis of .................. theory.

¼8½ O;fDrRo ds lkaLd`frd dkjd gS -------------------------- izFkk,as ----------------------- /keZ rFkk

-------------------- laLFkk,a ------------------- ,oa ------------------- rFkk ------------------ izxfr vkfn

egRo iw.kZ lkaLd`frd dkjd gSA
The important factors of personality are ............... traditiions, .............. religion

, ..................... institution , ................ and ................ and ................. progress etc.

¼9½ ;wjksi ds lSfudksa dh vis{kk Hkkjrh; lSfud vf/kd ------------------ vkSj -----------------

gksrs gSA

Indian soldiers are more .................... & .................. than the European soldiers.

¼10½ yksdkpkj  ------------- dk egRo iw.kZ vax gksrs gSA ftruk O;fDr yksdkpkj dk ikyu

djrk gS mruk gh mldk O;fDrRo vPNk ekuk tkrk gSA
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Public etiquete are the important part of ................... The more an individual

follows it , the more his personality is deemed good.

¼11½ lekthdj.k og izfØ;k gS ftlds }kjk ,d tSfodh; izk.kh lkekftd izk.kh ds

:i esa ------------------ gksrk gSA

Socialization is the process by which, a biological animal ................... in form

of social animal.

iz'u 3-iz'u 3-iz'u 3-iz'u 3-iz'u 3- lgh tksfM+;k¡ cukb;sAlgh tksfM+;k¡ cukb;sAlgh tksfM+;k¡ cukb;sAlgh tksfM+;k¡ cukb;sAlgh tksfM+;k¡ cukb;sA

Make correct pairs:

¼d½ &¼d½ &¼d½ &¼d½ &¼d½ &   ¼v½  ¼v½  ¼v½  ¼v½  ¼v½ ¼c½¼c½¼c½¼c½¼c½

¼1½ :Fk csusfMDV & ¼1½ HkkSfrd vHkkSfrd

¼2½ laLd`fr rRo & ¼2½ iSVuZ vkWQ dYpj

¼3½ laLd`fr ladqy & ¼3½ fuf'pr lwph ugh cu ldrh

¼4½ laLd`fr rRoksa dh laLFkk & ¼4½ vusd laLd`fr rRoksa dh lexzrk

¼5½ fodkloknh fl)kar & ¼5½ lakLd`frd fo'ks"krkvksa dk vknku

iznkuA

¼6½ izlkjokn dk fl)kar & ¼6½ MkfoZu ds mn~fodkl fl)kar ij

vk/kkfjr

A B

1. Ruth Benedict Material , Non-material
2. Elements of culture - Patterns of culture
3. Cultural complex No fixed list can be made
4. Institution of elements of- Totality of the elements of

culture culture
5. Exchange of cultural features
6. Theory of cultural expansion- Based on Darvin's theory of

evoluation

¼[k½ &¼[k½ &¼[k½ &¼[k½ &¼[k½ &   ¼v½  ¼v½  ¼v½  ¼v½  ¼v½ ¼c½¼c½¼c½¼c½¼c½

¼1½ vkjk is'k tutkfr & ¼1½ bl tutkfr ds yksxksa esa Øwjrk

funZ;rk vkSj vkØe.k dh izo`fRr

¼2½ eq.M xqekj tutkfr & ¼2½ ;kSfud ifo=rk dh rqyuk esa esgur

bekunkjh dk egRo

¼3½ ;wjksi dh laLd`fr & ¼3½ izse iw.kZ ,oa uez O;ogkj dks egRo
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¼4½ dksu;d ukxk laLd`fr & ¼4½ cPps dks 'kq: ls d"V dk vH;kl

¼5½ jsM bf.M;u tutkfr & ¼5½ ifr ds vfrfjDr ;kSu laca/k vuSfrd

ugha
A B

1. Ara pesh tribe - People of this tribe are cruel,
 mercyless and aggresive by
nature

2. Mund murar tribe - Hard work and honesty is given
more importance than sexual
purity

3. European culture - Behaviour fill with love and
humble is given importance

4. Konyak Naga culture - Child practise to bear pains since
from early age

5. Red Indian tribe - Legitimate to have sexual

relation other than the husband

iz'uiz'uiz'uiz'uiz'u 4 -4 -4 -4 -4 - lgh fodYi pqfu;s &lgh fodYi pqfu;s &lgh fodYi pqfu;s &lgh fodYi pqfu;s &lgh fodYi pqfu;s &

Choose the correct option :

¼1½ laLd`fr dk MkfoZu mn~fodkl vk/kkfjr fl)kar

¼d½ lekthdj.k dk fl)kar ¼[k½ lkaLd`frd fodkl

¼x½ fodkl oknh fl)kar ¼?k½ fLeFk dk fl)kar

The theory of culture, based on Darvin evoluationary principle-

(a) Theory of socialization (b) Cultural development

(c) (d) Smith's theory

¼2½ Hkkjrh; lkaLd`frd ewY; rFkk izfreku gSa

¼d½ cM+ksa dk rFkk c`)ksa dk lEeku djuk

¼[k½ ,d nwljs dh vkykspuk

¼x½ NksVksa }kjk cM+ksa dk vuknj

¼?k½ cM+ksa dks vuns[kk djuk

Indian cultural values and standards are :

(a) To give honour and respect to elders and old age people
(b) Criticize one and other
(c) Disrespect of elders by the younger

(d) Neglect the elders
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¼3½ if'peh laLd`fr dk izfreku gS

¼d½ cM+ksa ,oa o`)ksa ds iSj Nwuk

¼[k½ ekrk firk dh vkKk ds fcuk fookg u djuk

¼x½ ;kSu Lora=rk

¼?k½ fookg ,d ifo= ca/ku
Western standards of culture is :
(a) To touch the feet of the elders in respect
(b) Not to get married against the consent of the parents
(c) Sexual freedom

(d) Marriage as a sacred tie

¼4½ lkaLd`frd ewY; vkSj vkn'kZ esa ifjorZu dk dkj.k

¼d½ fookg djuk ¼[k½ ukrsnkjh

¼x½ lkekftd lqj{kk ¼?k½ vkS|ksxhdj.k ,oa uxjhdj.k
The reason for the change in cultural values and morals is:
(a) Marriage (b) Kinship

(c) Social security (d) Industrialization and urbanization

¼5½ O;fDrRo fo?kVu dk ,d dkj.k gS

¼d½ lekt ¼[k½ ifjokj

¼x½ f'k{k.k laLFkk,a ¼?k½ lq[koknh laLd`fr ds izHkko esa o`f)
The reason for the disintegration of the personality is :
(a) Society (b) Family
(c) Educational institution (d) Increase in the tendency of epicurian

 culture

¼6½ dkjsu gkuhZ dh iqLrd gS

¼d½ MkfoZu dk mn~fodkl dk fl)kar

¼[k½ /keZ dh foospuk

¼x½ n U;wjkWfVd ilZuSfyVh vkWQ voj VkbEl

The book written by Coren Harney is :

(a) "The evoluation theory of Darvin"
(b) "Interpretation of Religion"

(c) "The neuratic personality of our times"

iz'uiz'uiz'uiz'uiz'u 5 -5 -5 -5 -5 - ,d ;k nks 'kCnksa esa mRrj fyf[k;s &,d ;k nks 'kCnksa esa mRrj fyf[k;s &,d ;k nks 'kCnksa esa mRrj fyf[k;s &,d ;k nks 'kCnksa esa mRrj fyf[k;s &,d ;k nks 'kCnksa esa mRrj fyf[k;s &

Answer in one or two words-
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¼1½ laLd`fr dk ,d fl)kar dkSu lk gS \

Which is the principle of culture ?

¼2½ if'peh laLd`fr dk ,d izfreku fyf[k;sA

Write one illustration of western culture.

¼3½ lekthdj.k dh izfØ;k ds nks Lrj fyf[k;sA

Write two stages of socialization.

¼4½ lekthdj.k ds vfHkdj.k dk uke fyf[k;sA

Write the name of the agency of socialization.

¼5½ ^^iSVuZ vkWQ dYpj** ds ys[kd dk uke D;k Fkk \

Who is the author of the book "Patterns of culture".

¼6½ O;fDrRo dh nks fo'ks"krk,a fyf[k;sA

Write two features of personality ?

¼7½ O;fDrRo fuekZ.k ds nks dkjd fyf[k;s

Write two factors for the development of personality.

¼8½ yksdkpkj D;k gS \

What is public-etiquettes ?

¼9½ nks izFkkvksa ds uke fyf[k;s \

Write the name of any two traditions.

¼10½ xzkeh.k laLd`fr esa ^^d`f"k ladqy** D;k a gS \

What is "agricultural complex" in the rural cultural.

y?kq mRrjh; iz'u y?kq mRrjh; iz'u y?kq mRrjh; iz'u y?kq mRrjh; iz'u y?kq mRrjh; iz'u &

Short answer questions-

iz'uiz'uiz'uiz'uiz'u 1 -1 -1 -1 -1 - laLd`fr ds eq[; vax dkSu & ls gSa \

What are important parts/organs of cultural ?

iz'uiz'uiz'uiz'uiz'u 2 -2 -2 -2 -2 - laLd`fr izfreku ds nks mnkgj.k nsrs gq, vFkZ crkb,A

Give two examples of culture norms and explain there meaning.

iz'uiz'uiz'uiz'uiz'u 3 -3 -3 -3 -3 - laLd`fr esa ifjorZu D;ksa gksrk gS \

Why change occurs in the culture ?

iz'uiz'uiz'uiz'uiz'u 4 -4 -4 -4 -4 - O;fDrRo dk vFkZ D;k gS \

What is meant by Personality ?
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iz'uiz'uiz'uiz'uiz'u 5 -5 -5 -5 -5 - izfLFkfr rFkk Hkwfedk dk D;k vFkZ gS \

What is the meaning of status and role ?

iz'uiz'uiz'uiz'uiz'u 6 -6 -6 -6 -6 - laLd`fr ds izlkjoknh fl)kar dk vFkZ D;k gS \

Explain the expansionist theory of culture ?

iz'uiz'uiz'uiz'uiz'u 7 -7 -7 -7 -7 - laLd`fr ds vFkZ rFkk izdkjksa dh foospuk dhft,A

Discuss the meaning and types of culture ?

iz'uiz'uiz'uiz'uiz'u 8 -8 -8 -8 -8 - lkaLd`frd foyEcuk ls vki D;k le>rs gSA

What are the reasons for the cultural Lag ?

iz'uiz'uiz'uiz'uiz'u 9 -9 -9 -9 -9 - lkaLd`frd fofo/krk ds D;k dkj.k gS \

What are the reasons for cultural diversity ?

iz'uiz'uiz'uiz'uiz'u 10-10-10-10-10- laLd`fr rRo dk D;k vFkZ gS \

What is the meaning of cultural elements ?

iz'uiz'uiz'uiz'uiz'u 11-11-11-11-11- lekthdj.k dh ifjHkk"kk ds }kjk mlds vFkZ dks Li"V dhft,A

Clarify the meaning of socialization by giving its definition .

iz'uiz'uiz'uiz'uiz'u 12-12-12-12-12- lekthdj.k dh fo'ks"krk,¡ fyf[k,A

Write the features of socialization.

iz'uiz'uiz'uiz'uiz'u 13-13-13-13-13- lekthdj.k ds fodkl dks fdrus Lrjksa esa foHkkftr fd;k x;k gS fdlh ,d Lrj

dh fo'ks"krk,a fyf[k,A
In how many stages, the development of socialization can be divided, write

features of any one stage.

iz'uiz'uiz'uiz'uiz'u 14-14-14-14-14- ^Lo* dh /kkj.kk ls vki D;k le>rs gSaA

What do you understand by the concept of "Self" ?

iz'uiz'uiz'uiz'uiz'u 15-15-15-15-15- lekthdj.k esa fo|ky; dh Hkwfedk dks Li"V djsaA

Clarify the role of school in socialization.

iz'uiz'uiz'uiz'uiz'u 16-16-16-16-16- lekthdj.k dh izfØ;k O;fDr esa fdu izeq[k {kerkvksa dks fodflr djrh gSa \
What are the main abilities of a person that develops by the process of

socialization.

iz'uiz'uiz'uiz'uiz'u 17-17-17-17-17- /keZ rFkk lekthdj.k ds laca/k ij izdk'k MkysaA

Throw light on the relation between religion and socialization.

iz'uiz'uiz'uiz'uiz'u 18-18-18-18-18- lekthdj.k O;fDr ds fy, D;ksa t:jh gS \
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Why socialization is important for an individual ?

iz'uiz'uiz'uiz'uiz'u 19-19-19-19-19- fdlh ,d ifjHkk"kk ds vk/kkj ij O;fDrRo ds vFkZ dks Li"V djsaA

Explain the meaning of personality on the basis of any one definition.

iz'uiz'uiz'uiz'uiz'u 20-20-20-20-20- O;fDrRo dh fo'ks"krk,¡ fyf[k,A

Write the features of personality.

iz'uiz'uiz'uiz'uiz'u 21-21-21-21-21- O;fDrRo ds lkaLd`frd dkjd dkSu&ls gS \ uke fyf[k,A

What are the cultural factors of the personality.Name them.

iz'uiz'uiz'uiz'uiz'u 22-22-22-22-22- laLd`fr dh lh[k dk D;k vFkZ gS \

What is the meaning of cultural teaching ?

iz'uiz'uiz'uiz'uiz'u 23-23-23-23-23- lq[koknh laLd`fr fdl izdkj O;fDrRo dks fo?kfVr djrh gS \

How Hideonism , disintegrates the personality ?

iz'uiz'uiz'uiz'uiz'u 24-24-24-24-24- laLd`fr rFkk O;fDrRo ds fo?kVu esa D;k lEca/k gS \

What is the relation between the culture and disintegration of personality ?

iz'uiz'uiz'uiz'uiz'u 25-25-25-25-25- lkaLd`frd lkoZHkkSe dk vFkZ le>kb,A

Explain cultural universals.

iz'uiz'uiz'uiz'uiz'u 26-26-26-26-26- i;kZoj.k rFkk laLd`fr fdl izdkj ,d&nwljs dks izHkkfor djrs gSa \ mnkgj.k

lfgr le>kb,A

How culture and environment ,influence each other ? Explain with example.

iz'uiz'uiz'uiz'uiz'u 27-27-27-27-27- laLd`fr lekt rFkk O;fDrRo ds laca/k dh foospuk dhft,A

Discuss the relation between personality and culture society.

iz'uiz'uiz'uiz'uiz'u 28-28-28-28-28- lkaLd`frd ewY; rFkk lkaLd`frd izfreku ls vki D;k le>rs gS \ lkaLd`frd

ifjorZu esa budh Hkwfedk dks le>kb,A
What do you understand by cultural values and cultural norms? Explain their

roles in cultural change ?

iz'uiz'uiz'uiz'uiz'u 29-29-29-29-29- lekthdj.k ds eq[; fl)karksa dh la{ksi esa foospuk dhft,A

Discuss the major theories of culture.

iz'uiz'uiz'uiz'uiz'u 30-30-30-30-30- ^^laLd`fr rFkk O;fDrRo vkil eas lEcaf/kr gSA** mnkgj.k lfgr O;k[;k dhft,A

"Culture and personality are related", Describe with example.
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bdkbZ & 5bdkbZ & 5bdkbZ & 5bdkbZ & 5bdkbZ & 5

     Unit -5

iz'uiz'uiz'uiz'uiz'u 1 -1 -1 -1 -1 - lgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;s

Mark true or false:

¼1½ foKku dk izeq[k vk/kkj ijaijkvksa ds }kjk Kku dk fo'ys"k.k djuk gSA

The principal foundation of the science is to analyse the knowledge by traditions

¼2½ lkekftd 'kks/k dk mn~ns'; lkekftd ?kVukvkas dk oSKkfud :i ls v/;;u

djuk gSA

The objective of the social reasearch is to study social event scientifically.

¼3½ vkWxLV dkEV us ekuo ds ckSf)d fodl dh O;k[;k ,sfrgkfld i)fr ds vk/kkj

ij dhA

August comte has described the intellectual develpment of man on the basis of

historical approach.

¼4½ ,sfrgkfld i)fr esa vrhr dk dksbZ egRo ugha gksrkA

In the historical approach, past is of no importance.

¼5½ fyf[kr lkexzh Hkh ,sfrgkfld i)fr dk L=ksr gSA

Written documents are also the sources of historical approach.

¼6½ i{kikr dh laHkkouk ,sfrgkfld i)fr dk nks"k gSA

The demerit of the historical approach is that is is not value free.

¼7½ rqyukRed i)fr fdlh Hkh v/;;u esa lgk;d ugha gksrhA

The comparative approach is not helpful in any study.

¼8½ ,sfrgkfld vkSj rqyukRed i)fr eas dksbZ vUrj ugha gksrkA

There is no difference between historical and comparative approach.

¼9½ bekmy nq[khZe us ̂ ^lekt esa Je foHkktu** ,oa lekt 'kkL=h; i)fr ds fu;e**

uked iqLrd fy[kh gSA

The books "Division of Labour in society "and "Rules of sociological methods

are written by Emile Dukhiem.

¼10½ lkekftd losZ{k.k i)fr eas rF;ksa dks ?kj cSBs&cSBs gh ,d= fd;k tk ldrk gSA

In social observation method, data can be collected easily while sitting at home.
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¼11½ dqN lkekftd rF; Li"V fn[kkbZ nsrs gS] tcfd dqN dh izd`fr vizR;{k gksrh gSaA

mUgsa le>us ds fy;s lw{e n`f"V dh t:jr gksrh gSA

Some social facts are very prominant ,they are easily visible, while some are

not ,they need to be viewed microscopicallysitting .

¼12½ lgHkkxh voyksdu esa O;fDr dks] lewg ;k leqnk; esa tkdj feyus dh vko';drk

ugha gksrhA

A participant observations, is not required to meet the groups or a community.

iz'uiz'uiz'uiz'uiz'u 2 -2 -2 -2 -2 - fjDr LFkkuksa dh iwfrZ dhft;sAfjDr LFkkuksa dh iwfrZ dhft;sAfjDr LFkkuksa dh iwfrZ dhft;sAfjDr LFkkuksa dh iwfrZ dhft;sAfjDr LFkkuksa dh iwfrZ dhft;sA

Fill in the blanks-

¼1½ vkWxLV dkEV us ekuo ds ckSf/kd fodkl dh O;k[;k ---------------- ds vk/kkj ij dhA

August comte has deseribed the intellectual development of man on the basis of

........................

¼2½ ,sfrgkfld i)fr dk vk'k;] ml i)fr ls gS] ftlesa vrhr dh ?kVukksa ds

vk/kkj ij -------------------- lkekftd rF;ksa dh ------------------- dks Li"V fd;k tkrk gSA

The historical approach is that approach in which, on the basis of past experience

the ............... of the ................... social facts are clarified.

¼3½ fyf[kr lkexzh dk L=ksr ------------------------- ,oa ------------------ vkfn gSA

Sources of written document are ..................and ...................

¼4½ [kqnkb;ksa ls izkIr vo'ks"k tSls --------------------- vkfn ,frgkfld i)fr ds L=ksr gSA

Remanents, obtained from archaeological excavations like .................... etc are

sources of historical approach.

¼5½ oS;fDrd v/;;u eas ---------------------- dk cgqr egRo gksrk gSA

In personal studies ....................... is of great importance.

The information inferred from the questionnaire is ...................... as compared

to other methods.

¼6½ iz'ukoyh esa iz'uksa dk ------------------------ djuk ,d -------------------- gSA

To ....................... the questions in a questionnaire is ...................

¼7½ iz'ukoyh dh lwpuk,a vU; i)fr;ksa dh vis{kk -------------------------- gksrh gSA

The information inferred from the questionnaire is ..................... as compared

to other methods.
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¼8½ lk{kkRdkj vf'kf{kr yksxksa ds chp cSBdj ----------------------- djus dh vPNh fof/k gSA

Interview, is a good technique of ...................... while sitting among the illeterates.

iz'u 3-iz'u 3-iz'u 3-iz'u 3-iz'u 3- lgh tksfM+;k¡ cukb;sAlgh tksfM+;k¡ cukb;sAlgh tksfM+;k¡ cukb;sAlgh tksfM+;k¡ cukb;sAlgh tksfM+;k¡ cukb;sA

Make correct pairs-

¼d½ &¼d½ &¼d½ &¼d½ &¼d½ &   ¼v½  ¼v½  ¼v½  ¼v½  ¼v½ ¼c½¼c½¼c½¼c½¼c½

¼1½ osLVj ekdZ & ¼1½ vrhr dh lgk;rk ls orZeku dk Kku

¼2½ ,sfrgkfld i)fr & ¼2½ fgLVªh vkWQ g~;weu eSfjt

¼3½ rqyukRed i)fr & ¼3½ ,sfrgkfld i)fr dk nks"k

¼4½ iz'ukoyh & ¼4½ lHkh izdkj ds v/;;u eas mi;ksxh

¼5½ rF;ksa dh viw.kZrk & ¼5½ can] [kqyh] fefJr ;k fp=iw.kZ

A B

1. Westermarc - Knowledge of present by the help
of the past

2. Historical approach - History of Human marriage
3. Comparative approach - Demerit of historical approach
4. Questionnaire - Useful in all types of studies

5. Inadequacy of the facts - Close, open .mixed or diagramatic

¼[k½ &¼[k½ &¼[k½ &¼[k½ &¼[k½ &   ¼v½  ¼v½  ¼v½  ¼v½  ¼v½ ¼c½¼c½¼c½¼c½¼c½

¼1½ iz'ukoyh ds ykHk & ¼1½ mRrjnkrk ls ckrphr

¼2½ lk{kkRdkj vuqlwph & ¼2½ lkekftd ?kVukvka ds v/;;u esa

lgk;d

¼3½ losZ{k.k] lka[;dh] iSekuk & ¼3½ /ku o Je dh cpr

i)fr

¼4½ voyksdu i)fr & ¼4½ fp=ksa] xzkQksa] ãl izn'kZu

¼5½ lka[;dh; i)fr & ¼5½ lgHkkxh] vlgHkkxh

 A B

1. Advantages of Questionnaire - Conversation with the answerer
2. Interviews Schedule - Assists in the study of social

events
3. Survey, statistics, scaling technique- Saving of money & Labour
4. Observational technique - Depletion presentation, graphs,

diagrams
5. Statistical methods - Participant, non-participant
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iz'uiz'uiz'uiz'uiz'u 4 -4 -4 -4 -4 - lgh fodYi pqfu;s &lgh fodYi pqfu;s &lgh fodYi pqfu;s &lgh fodYi pqfu;s &lgh fodYi pqfu;s &

Choose the correct option:

¼1½ ,sfrgkfld i)fr vrhr ij vk/kkfjr gS D;ksafd bleas

¼d½ vrhr ds vk/kkj ij orZeku dk Kku gksrk gSA

¼[k½ bleas O;fDr ls ckrphr }kjk v/;;u fd;k tkrk gSA

¼x½ blesa dsoy vkadMs ,d= fd;s tkrs gSA

¼?k½ bleas iz'uksa dh lwph gksrh gSA

Historical approach is based on the past because:

(a) We can get the knowledge of the present, based on the past.
(b) In this studies are carried out by interacting with the individual.
(c) In this only data is collected

(d) It has a list of  questions

¼2½ ,sfrgkfld i)fr dk ,d nks"k gS

¼d½ i{kikr dh leL;k ¼[k½ fo'ys"k.k dh leL;k

¼x½ vkadMs+ miyC/k u gksuk ¼?k½ mRrj nkrk dh :fp

The demerit of historical approach:

(a) Problem of partially (b) Problem of analysis

(c) Unavailabilty of the data

¼3½ voyksdu dk ,d izdkj gSA

¼d½ vkilh cqjkbZ ¼[k½ lgHkkxh voyksdu

¼x½ vad iSekuk ¼?k½ rqyuk djuk

Which of the following is a type of observation:

(a) Mutual critism (b) Participant observation

(c) Scoring scale (d) To compare

¼4½ iz'ukoyh eas

¼d½ vrhr ls vkadMs ,d=  djrs gSA

¼[k½ vkRedFkk ds vk/kkj ij v/;;u djrs gSA

¼x½ Mk;jh ds vk/kkj ij rF;ksa dks ,d= djrs gS

¼?k½ iz'uksa dh lwph ftleas fofHkUu i{kksa ls lacaf/kr fofHkUu izdkj ds iz'u gksrs gSA

In questionnaire

(a) Data are collected from the past
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(b) Studies are done on the basis of autobiography
(c) Facts are collected from the dairy

(d) List of various questions regarding different aspects

¼5½ ih- oh- ;ax us fy[kk gS fd voyksdu esa

¼d½ O;fDrRo v/;;u ckrphr }kjk gksrk gSA

¼[k½ voyksdu eas v/;;u drkZ rVLFk ugha jg ikrk

¼x½ vkadM+s miyC/k ugha gksrsA

¼?k½ dqN iz'u tfVy gksrs gSA

Accoding P.B.Young: In observation:

(a) Personality is studied by conversation
(b) The researche cannot remain neutral in observation
(c) Data are unavailable

(d) Some questions are very complex

iz'uiz'uiz'uiz'uiz'u 5 -5 -5 -5 -5 - ,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &

Answer in one sentence

¼1½ lk{kkRdkj dh lwph dk uke crkb;s \

Name the list of the interview ?

¼2½ ,sfrgkfld i)fr ds nks L=ksr crkb;s \

Give two sources of historical approach. ?

¼3½ rqyukRed i)fr dk D;k egRo gS \

What is the importance of comparative approach ?

¼4½ lekt ess ^^Je foHkktu** iqLrd fdlus fy[kh Fkh \

Who has written the book "Division of labourin Socity" ?

¼5½ iz'ukoyh i)fr ds nks ykHk fyf[k;ss \

Write two advantage of questionnire method

¼6½ iz'ukoyh i)fr dk ,d nks"k fyf[k;s \

Write two disadvantages of questionnire method

¼7½ rqyukRed i)fr dk nks"k fyf[k;s \

Write the demerits of comparative approach ?

¼8½ voyksdu ds nks izdkj fyf[k;s \

Write two types of observation ?
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¼9½ rF; ladyu dh ,d fof/k fyf[k;s \

Write a medhod of collection dada ?

¼10½ voyksdu izfof/k ds nks"k fyf[k;s \

Write the demerits of observation technigue?

y?kq mRrjh; iz'u y?kq mRrjh; iz'u y?kq mRrjh; iz'u y?kq mRrjh; iz'u y?kq mRrjh; iz'u &

Short answer question -

iz'uiz'uiz'uiz'uiz'u 1 -1 -1 -1 -1 - i)fr ls vki D;k le>rs gSa \

What do you understand by approach ?

iz'uiz'uiz'uiz'uiz'u 2 -2 -2 -2 -2 - rhu izeq[k i)fr;ksa ds uke fyf[k,A

Write the names of three main approaches ?

iz'uiz'uiz'uiz'uiz'u 3 -3 -3 -3 -3 - ,sfrgkfld i)fr dk D;k vFkZ gS \

What is meant by historial approach ?

iz'uiz'uiz'uiz'uiz'u 4 -4 -4 -4 -4 - ,sfrgkfld rF;ksa ds eq[; L=ksr D;k gS \

What is the main source of historical facts ?

iz'uiz'uiz'uiz'uiz'u 5 -5 -5 -5 -5 - ,sfrgkfld i)fr ds egRo dks le>kb,A

Explain the importance of historical approach ?

iz'uiz'uiz'uiz'uiz'u 6 -6 -6 -6 -6 - ,sfrgkfld i)fr ds nks"k dkSu&ls gSa \

What are the demerits of historical approach ?

iz'uiz'uiz'uiz'uiz'u 7 -7 -7 -7 -7 - rqyukRed i)fr dh izd`fr dks le>kb,A

Explain the nature of comparative approach.

iz'uiz'uiz'uiz'uiz'u 8 -8 -8 -8 -8 - rqyukRed i)fr ds egRo dks le>kb,A

Explain the importance of comparative approach.

iz'uiz'uiz'uiz'uiz'u 9 -9 -9 -9 -9 - rqyukRed i)fr ds mi;ksx ls lEcaf/kr fdUgha pkj dfBukbZ;ksa dks fyf[k,A

Write any four difficulties related to the use of comparative approach.

iz'uiz'uiz'uiz'uiz'u 10-10-10-10-10- ,sfrgkfld rFkk rqyukRed i)fr ds vUrj dks le>kb,A

Differentiate between historical and comparative approach.

iz'uiz'uiz'uiz'uiz'u 11-11-11-11-11- izdk;kZRed i)fr ds pkj nks"k fyf[k,A

Write any four demerits of functionalist approach.

iz'uiz'uiz'uiz'uiz'u 12-12-12-12-12- izdk;Z rFkk vdk;Z dk D;k vFkZ gS \

What is the meaning of function and non-function ?
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iz'uiz'uiz'uiz'uiz'u 13-13-13-13-13- lkaf[dh; i)fr dk rF;ksa ds foospuk esa mi;ksx crkb,A

Deseribe the use of statistical approach is analysation of data.

iz'uiz'uiz'uiz'uiz'u 14-14-14-14-14- rF; ladyu dh eq[; izfof/k;k¡ dkSu&lh gSa \

What are the main methods of data collection ?

iz'uiz'uiz'uiz'uiz'u 15-15-15-15-15- voyksdu dk D;k vFkZ gS \

What is meant by observation ?

iz'uiz'uiz'uiz'uiz'u 16-16-16-16-16- voyksdu ds eq[; pkj izdkj fyf[k,A

Write four main types of observation.

iz'uiz'uiz'uiz'uiz'u 17-17-17-17-17- voyksdu izfof/k ds nks"k D;k gSa \

What are the demerits of the method of observation ?

iz'uiz'uiz'uiz'uiz'u 18-18-18-18-18- lgHkkxh rFkk vlgHkkxh voyksdu esa D;k vUrj gS \
What is the difference between partcipant observation and non-participant

observation.

iz'uiz'uiz'uiz'uiz'u 19-19-19-19-19- lkewfgd voyksdu dk D;k vFkZ gS \

What is meant by group observation ?

iz'uiz'uiz'uiz'uiz'u 20-20-20-20-20- oS;fDrd v/;;u dk vFkZ crkb,A

Explain the meaning of personal study.

iz'uiz'uiz'uiz'uiz'u 21-21-21-21-21- oS;fDrd v/;;u ds f}rh;d L=ksr D;k gSA

What are the secondary sources of personal study.

iz'uiz'uiz'uiz'uiz'u 22-22-22-22-22- oS;fDrd v/;;u fdl izdkj lkekftd rF;ksa ds v/;;u dh eq[; fof/k gSa\

How is personal study is the main method of the study of social facts ?

iz'uiz'uiz'uiz'uiz'u 23-23-23-23-23- iz'ukoyh ls vki D;k le>rs gSa \

What do you understand by questionnaire ?

iz'uiz'uiz'uiz'uiz'u 24-24-24-24-24- [kqyh iz'ukoyh dk D;k vFkZ gS \

What is meant by a open questionnaire ?

iz'uiz'uiz'uiz'uiz'u 25-25-25-25-25- cUn iz'ukoyh esa iz'u fdl rjg ds gksrs gSa \

What type of questions are there in a closed questionnaire ?

iz'uiz'uiz'uiz'uiz'u 26-26-26-26-26- iz'ukoyh ds eq[; izdkj dkSu&ls gS \

What are the main types of questionnaire ?
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iz'uiz'uiz'uiz'uiz'u 27-27-27-27-27- iz'ukoyh rFkk lk{kkRed vuqlwph esa vUrj le>kb;sA

Differentiate between a questionnaire and an interview schedule.

iz'uiz'uiz'uiz'uiz'u 28-28-28-28-28- izdk;kZRed i)fr dh izd`fr dks le>kb,A lkekftd ?kVukvkas ds v/;;u esa

bldh D;k mi;ksfxrk gS \
Explain the nature of the functionalist approach what is its utility in the study of

social events ?

iz'uiz'uiz'uiz'uiz'u 29-29-29-29-29- lkekftd ?kVukvksa dks v/;;u esa losZ{k.k i)fr] lkaf[;dh; i)fr rFkk iSekuk

i)fr fdl izdkj lg;ksx djrh gSa \
How does survey method, statistical methods, and sealing method help in the

study of social events.

iz'uiz'uiz'uiz'uiz'u 30-30-30-30-30- lkekftd vuqla/kku eas voyksdu ds egRo dh foospuk dhft,A
Explain the importance of observation in the social research.
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bdkbZ & 6bdkbZ & 6bdkbZ & 6bdkbZ & 6bdkbZ & 6

     Unit -6

iz'uiz'uiz'uiz'uiz'u 1 -1 -1 -1 -1 - lgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;s

Mark true or false:

¼1½ iklZUl ds vuqlkj lkekftd O;oLFkk ds fy;s loZizFke vusdrkvksa dk gksuk

t:jh gSA

According to Talcott Parsons, first criteria for the social system is the diversity.

¼2½ lkekftd O;oLFkk fLFkj gksrh gS blesa xfr'khyrk ugha ikbZ tkrh gSA

Social system is static; it is not dynamic.

¼3½ izR;sd HkkSfrd vHkkSfrd oLrq dh ,d lajpuk gksrh gSA

Every material and non-material thing has a structure.

¼4½ lkekftd lajpuk Øe c) ugha gksrhA

Social structure dosent have any order.

¼5½ lkekftd lajpuk vO;ofLFkr gksrh gSA

Social structure is unorganised.

¼6½ lkekftd lajpuk dh izR;sd bdkbZ dk izdk;Z lekt ds lkaLd`frd fu;eksa vkSj

lkekftd ewY;ksa ds }kjk fu/kkZfjr gksrk gSA

Functions of each unit of a social structure are decided by the cultural rules and

values of the society.

¼7½ lkekftd lajpuk ifjorZu'khy gksrh gSA

Social structure is dynamic.

¼8½ lkekftd O;oLFkk dk lkaLd`frd O;oLFkk ls laca/k ugha gksrkA

Social system and cultural system are not related.

¼9½ lkekftd O;oLFkk esa vuqdwyu djus dk xq.k gksrk gSA

Social system has the quality of adaption.

¼10½ izR;sdz dk;Z dk ,d fo'ks"k mn~ns'; gksrk gSA

Every function has an objective.

¼11½ lekt dks ,d nwljs ls mPp vkSj fuEu Lrjksa eas foHkkftr djus dh izfØ;k dk

uke gh lkekftd Lrjhdj.k gSA
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The process of dividing the society in strate, superior and inferior to each other,

is called as the stratification.

     ¼12½ [kqyk gqvk Lrjhdj.k ,d ykspiw.kZ iz.kkyh gSA

Open stratification is flexible.

¼13½ [kqys Lrjhdj.k esa yksxksa dks thou esa volj de feyrs gSaA

In an open stratification; people get less opportunity of life.

¼14½ iznRr izfLFkfr vius vki ugha feyrhA

Ascribed status are not recieved on its own.

¼15½ vftZr izfLFkfr og fLFkfr gS ftls O;fDr viuh esgur vkSj iz;klksa ls izkIr djrk gSA
Achieved status is the one which an individual can achieve by his hard work and

endavours.

iz'uiz'uiz'uiz'uiz'u 2 -2 -2 -2 -2 - fjDr LFkkuksa dh iwfrZ dhft;sAfjDr LFkkuksa dh iwfrZ dhft;sAfjDr LFkkuksa dh iwfrZ dhft;sAfjDr LFkkuksa dh iwfrZ dhft;sAfjDr LFkkuksa dh iwfrZ dhft;sA

Fill in the blanks:

¼1½ oxZ O;oLFkk ds vUrxZr Hkh lekt vusd Hkkxksa esa  ------------------------ gksrk gS rFkk

izR;sd oxZ dks feyus okys vf/kdkj vkSj --------------------- ,d nwljs ls vyx gksrs gSA

Under the class system also; society was ........................... into many parts and

the rights and ................s..... conferred to each class was different from others.

¼2½ ,d -------------------- oxZ esa O;fDr dks feyus okyk LFkku mldh ------------------- vkSj

dq'kyrk ij fuHkZj gksrk gSA

In a ................................ class, the position acquired by an individual, depends

upon his ......................... and skills.

¼3½ ,d oxZ ds lnL;ksa dh ------------------------- vkSj ------------------ fLFkfr yxHkx ,d leku

gksrh gSA

...................... and ..................... of the members of a class is more or less same.

¼4½ oxZ&psruk --------------------- dh ,d eq[; ---------------------------- gSA

Class-consiousness is the main .................... of ....................

¼5½ 'kfDr dh izd`fr ------------------------- ls vyx gksrh gSA

The nature of power is different from ........................

¼6½ 'kfDr ls ---------------------- feyuk t:jh ugha gSA

It is not necessay that by power one can get .....................
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¼7½ 'kfDr ds rhu eq[; :i gS -------------------- 'kfDr ------------------- 'kfDr ---------------------

'kfDr ,oa ---------------------- 'kfDr gSA

Three main forms of power are ......................... power, ...................... power and

.................... power.

¼8½ 'kfDr dh izd`fr -------------------------- 'khy gksrh gSA

The nature of power is ....................

¼9½ fyax ds vk/kkj ij fd;k tkus okyk HksnHkko ----------------------- }kjk -----------------------

vkSj ---------------------- gSA

The discrimination done on the basis of gender is ........................ by .......................

and .........................

¼10½ ----------------------- lektksa esa iq:"kksa }kjk fd;s tkus okys dk;ksZa dks vf/kd egRoiw.kZ

le>k tkrk gSA

In .......................... socities, the functions assigned and performed by males are

considered  more important.

¼11½ vk/kqfud lekt esa 'kkjhfjd 'kfDr dh rqyuk esa ------------------- vkSj ---------------------

--dk egRo dgha vf/kd gSA

In modern society .................... and ................... are more important as compared

to the physical strength.

¼12½ tSls&tSls vf/kdka'k] lekt vk/kqfudj.k dh fn'kk esa c<+ jgs gSA fyax ij     vk/

kfjr -----------------------de gksrh tk jgh gSA

As most of the socities are modernising, the ........................ based on gender is

reducing.

¼13½ u`tkfrdh vkSj lkekftd Lrjhddj.k ds chp ----------------------- laca/k gSA

There is a .................... relation between ethnocentrism and stratification.

¼14½ vYi la[;d Hkkx og gksrk gS ftldh ----------------------- vkSj ---------------------- fo'ks"krk,a

vyx gksus ds lkFk tula[;k dk izfr'kr de gksrk gSA

Minority is the one whose .................. and .................... features are different and

at the same time their population percetage is less.

iz'u 3-iz'u 3-iz'u 3-iz'u 3-iz'u 3- lgh tksfM+;k¡ cukb;saAlgh tksfM+;k¡ cukb;saAlgh tksfM+;k¡ cukb;saAlgh tksfM+;k¡ cukb;saAlgh tksfM+;k¡ cukb;saA

Make correct pairs:
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¼d½ &¼d½ &¼d½ &¼d½ &¼d½ &   ¼v½  ¼v½  ¼v½  ¼v½  ¼v½ ¼c½¼c½¼c½¼c½¼c½

¼1½ 'kfDr & ¼1½ fyax Hksn de gks jgk gSA

¼2½ orZeku ;qx & ¼2½ lkekftd Lrjhdj.k dk eq[;

vk/kkj

¼3½ la;qDr ifjokj & ¼3½ lkekftd O;oLFkk dk egRoiw.kZ rRo

¼4½ ukrsnkjh O;oLFkk & ¼4½ lcls cM+s lnL; dks drkZ dk in

¼5½ lkaLd`frd fu;e & ¼5½ lewg esa O;fDr dks dkSulh

izfLFkfr vkSj vf/kdkj feysaxsA

A B

1. Power - Gender discrimination is reducing

2. Present era - Main basis of stratification
3. Joint family Important element of social

system
4. Kinship system - The eldest member get the post

of the head
5. Cultural rules - What status and rights a person

gets in the group

¼[k½ &¼[k½ &¼[k½ &¼[k½ &¼[k½ &   ¼v½  ¼v½  ¼v½  ¼v½  ¼v½ ¼c½¼c½¼c½¼c½¼c½

¼1½ LisUlj & ¼1½ lkekftd fØ;k dh vo/kkj.kk

¼2½ oscj rFkk iklZUl & ¼2½ lekt ,d O;oLFkk

¼3½ eVZu & ¼3½ tkfr ,d can oxZ gSA

¼4½ nq[khZe & ¼4½ lks'ky fFk;jh ,.M lks'ky LVªDpj

¼5½ etwenkj vkSj enu & ¼5½ izdk;Z dh vo/kkj.kk dks O;ofLFkr

mi;ksx esa ykus dk Js;
A B

1- Spencer - concept of social action
2. Weber and Parson - society as a system
3. Murton - caste is a closed class
4. Durkheim - social thoery and social structure
5. Maymudar & Madan - credit of bringing organised

use of the concept of function

iz'uiz'uiz'uiz'uiz'u 4 -4 -4 -4 -4 - lgh fodYi pqfu;s &lgh fodYi pqfu;s &lgh fodYi pqfu;s &lgh fodYi pqfu;s &lgh fodYi pqfu;s &

Choose the correct option:
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¼1½ lkekftd lajpuk dh ,d fo'ks"krk gS

¼d½ lkekftd lajpuk esa Øec)rk gSA ¼[k½ lkekftd ewY; dk u gksukA

¼x½ uSfrd ewY; dk u gksuk ¼?k½ lkekftd ifjorZu u gksukA
Which one of the following is a features of social structure:
(a) social structure is sequential (b) Lack of social value

(c) Lack of moral value (d) Lack of social change

¼2½ tkfr O;oLFkk dh ,d fo'ks"krk gS

¼d½ tkfr dk dksbZ uke ughaA ¼[k½ tkfr tUe dk vk/kkj ughaA

¼x½ tkfr esa O;fDr ifjorZu ugha dj ldrk ¼?k½ tkfr /keZ ds vk/kkj ij fu/kkZfjrA
Feature of caste system:
(a) caste has no name (b) caste is not the base of birth
(c) An individuala can bring any         (d)caste is divided on the religion

changes in the caste system

¼3½ oxZ dh ,d fo'ks"krk gS

¼d½ ,d fo'ks"k oxZ eas O;fDr dks feyus okyk LFkku ;ksX;rk o dq'kyrk ij fuHkZj

djrk gSA

¼[k½ oxksZa ds chp esa map uhp dk laLrj.k ughaA

¼x½ izR;sd oxZ esa dksbZ mioxZ ugha gksrkA

¼?k½ ,d oxZ ds lnL;ksa dh vkfFkZd fLFkfr esa vlekurkA
Features of class is :
(a) The position, a person gets in a specific class depends upon the merits and

proficiency
(b) There is no higher or lower strata
(c) In every class there are no sub class

(d) In equality in the economic conditions of the members of a class

¼4½ 'kfDr dh ,d fo'ks"krk gS

¼d½ 'kfDr dk vk/kkj vkfFkZd ¼[k½ 'kfDr dk vk/kkj tkfr

¼x½ 'kfDr dk vk/kkj uSfrdrk ¼?k½ 'kfDr dh izd`fr ifjorZu 'khy
A features of power is :
(a) The base of the power is economic
(b) The base of the power is caste
(c) The base of the power is morality

(d) Nature of power is dynamic
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iz'uiz'uiz'uiz'uiz'u 5 -5 -5 -5 -5 - ,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &

Answer in one sentence:

¼1½ lkekftd O;oLFkk ds lajpukRed i{k dk fuekZ.k djus okyk rRo dkSulk gS\
Which element is responsible for the formation of the structural aspect of social

system ?

¼2½ lkekftd Lrjhdj.k dk egRo crkb;s \

Give the importance of social stratification ?

¼3½ fyax Hksn D;k gS \

What is gender discrimination ?

¼4½ tkfr O;oLFkk dk ,d egRo fyf[k;s \

Write one importance of caste system.

¼5½ oxZ dh ,d fo'ks"krk fyf[k;s \

Write one feature of class.

¼6½ 'kfDr dh ,d fo'ks"krk fyf[k;s \

Write one feature of power.

¼7½ ekr` lRrkRed lekt dh ,d fo'ks"krk crkb;s \

Write one feature of Matriarchal society .

¼8½ fir` lRrkRed lekt dh ,d fo'ks"krk fyf[k;s \

Write one feature of Patriarchal society.

¼9½ HkkSfrd lajpuk ds 2 mgkj.k fyf[k;s \

Write two examples of material structure.

¼10½ vHkkSfrd lajpuk ds 2 mnkgj.k fyf[k;s \

Write two examples of non- material structure.

y?kq mRrjh; iz'u y?kq mRrjh; iz'u y?kq mRrjh; iz'u y?kq mRrjh; iz'u y?kq mRrjh; iz'u &

Short answer questions -

iz'uiz'uiz'uiz'uiz'u 1 -1 -1 -1 -1 - lkekftd O;oLFkk ls vki D;k le>rs gS \

What do you understand by social system ?

iz'uiz'uiz'uiz'uiz'u 2 -2 -2 -2 -2 - lkekftd O;oLFkk ds rRo D;k gS \

What are the elements of social system ?

iz'uiz'uiz'uiz'uiz'u 3 -3 -3 -3 -3 - lkekftd O;oLFkk ds lajpkRed i{k dk fuekZ.k djus okys pkj izeq[k rRo dkSu

ls gSA
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What are the four major elements responsible for the formation of the structural

aspect of social system.

iz'uiz'uiz'uiz'uiz'u 4 -4 -4 -4 -4 - lkekftd O;oLFkk dk izdk;kZRed i{k ds vUrxZr iklZUl us fdu rhu izdkj dh

laLFkkvksa dk o.kZu fd;k gS \

What are the three types of institutions described by Talcott Parsons under the

functional aspect of social system.

iz'uiz'uiz'uiz'uiz'u 5 -5 -5 -5 -5 - lkekftd O;oLFkk dh fo'ks"krk, fyf[k,A

Write the features of a social system.

iz'uiz'uiz'uiz'uiz'u 6 -6 -6 -6 -6 - lkekftd lajpuk dh vo/kkj.kk D;k gS \

What is the consept of social structure ?

iz'uiz'uiz'uiz'uiz'u 7 -7 -7 -7 -7 - lkekftd lajpuk vewZr D;ksa gksrh gS \

Why social structure is obstract ?

iz'uiz'uiz'uiz'uiz'u 8 -8 -8 -8 -8 - lkekftd lajpuk LFkkuh; fo'ks"krkvksa ls fdl izdkj izHkkfor gksrh gSA

How does the social system get affected by the Local features ?

iz'uiz'uiz'uiz'uiz'u 9 -9 -9 -9 -9 - ^^lkekftd lajpuk vis{kkd`r :i ls ,d LFkk;h izfreku gSA** foospuk dhft,A

Discuss "Social structure is comparatively a permanent norm".

iz'uiz'uiz'uiz'uiz'u 10-10-10-10-10- izdk;Z dh vo/kkj.kk D;k gS \

What is the concept of the function ?

iz'uiz'uiz'uiz'uiz'u 11-11-11-11-11- izdV izdk;Z ds vFkZ dks le>kb,A

What is manifest functions ?

iz'uiz'uiz'uiz'uiz'u 12-12-12-12-12- fufgr izdk;Z ds vFkZ dks eVZu us fdl izdkj Li"V fd;k gSA

How did Murton clarified the meaning of Latent function.

iz'uiz'uiz'uiz'uiz'u 13-13-13-13-13- izdV rFkk fufgr izdk;Z ds vUrj dh foospuk dhft,A

Discuss the difference between mainfest and latent function.

iz'uiz'uiz'uiz'uiz'u 14-14-14-14-14- lkekftd Lrjhdj.k dh dksbZ ,d ifjHkk"kk fyf[k,A

Write any one definition of social stratification.

iz'uiz'uiz'uiz'uiz'u 15-15-15-15-15- lkekftd Lrjhdj.k dh fo'ks"krk,a¡ fyf[k,A

Write the features of social stratification.

iz'uiz'uiz'uiz'uiz'u 16-16-16-16-16- cUn rFkk [kqys Lrjhdj.k esa D;k vUrj gS \

What is the difference between open & close stratification ?
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iz'uiz'uiz'uiz'uiz'u 17-17-17-17-17- lkekftd xfr'khyrk dk D;k vFkZ gS \

What is meant by social dynamics ?

iz'uiz'uiz'uiz'uiz'u 18-18-18-18-18- ^^thou la;ksx** dh vo/kkj.kk D;k gSA

What is the concept of "Life chance"?

iz'uiz'uiz'uiz'uiz'u 19-19-19-19-19- tkfr dh pkj fo'ks"krk,¡ fyf[k,A

Write four features of Caste.

iz'uiz'uiz'uiz'uiz'u 20-20-20-20-20- 'kfDr ls vki D;k le>rs gS \

What do you understand by Power ?

iz'uiz'uiz'uiz'uiz'u 21-21-21-21-21- oxZ&psruk dk vFkZ D;k gSa \

What is the meaning of class conciousness ?

iz'uiz'uiz'uiz'uiz'u 22-22-22-22-22- u`tkfrdh dk D;k vFkZ gS \

What is Ethnocentrism ?

iz'uiz'uiz'uiz'uiz'u 23-23-23-23-23- lkekftd Lrjhdj.k lekt ds fy, t:jh D;ksa gSA

Why is social stratification essential for a society .

iz'uiz'uiz'uiz'uiz'u 24-24-24-24-24- oxZ&O;oLFkk esa lkekftd Lrjhdj.k ds eq[; vk/kkj dkSu&ls gksrs gS \

What are the important bases of stratification in the class system ?

iz'uiz'uiz'uiz'uiz'u 25-25-25-25-25- iznRr vkSj vftZr izfLFkfr dk vFksZ D;k gS \

What is the meaning of achieved and ascribed status ?

iz'uiz'uiz'uiz'uiz'u 26-26-26-26-26- O;fDr vkSj lekt ds fy, Ljrhdj.k ds izdk;Z D;k gS \

What are the funtions of stratification for the society and for an individual ?

nh?kZmRrjh; iz'u &nh?kZmRrjh; iz'u &nh?kZmRrjh; iz'u &nh?kZmRrjh; iz'u &nh?kZmRrjh; iz'u &

Long answer questions-

iz'uiz'uiz'uiz'uiz'u 28-28-28-28-28- lkekftd lajpuk dks ifjHkkf"kr dhft, rFkk bldh eq[; fo'ks"krkvksa dks le>kb,A

Define social structure and explain its main feature.

iz'uiz'uiz'uiz'uiz'u 29-29-29-29-29- lajpuk rFkk izdk;Z fdl izdkj lkekftd O;oLFkk ds nks eq[; i{k gSA le>kb,A

Explain how. structural and function are two main aspects of social system ?

iz'uiz'uiz'uiz'uiz'u 30-30-30-30-30- lkekftd Lrjhdj.k ds eq[; vk/kkjksa dh foospuk dhft,A

Discuss the bases of social stratification.

iz'uiz'uiz'uiz'uiz'u 31-31-31-31-31- lkekftd Lrjhdj.k dks O;fDr vkSj lekt ds fy, mi;ksxh D;kas ekuk tkrk gSA

foospuk dhft,A
Discuss, why social stratification is cosidered useful for an individual and the

society.
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bdkbZ & 7bdkbZ & 7bdkbZ & 7bdkbZ & 7bdkbZ & 7

     Unit - 7

iz'uiz'uiz'uiz'uiz'u 1 -1 -1 -1 -1 - lgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;s

¼1½ lekt dk fuekZ.k ftu lkekftd laca/kksa ls gksrk gS os fdlh u fdlh vUrfØZ;k

dk gh ifj.kke gksrs gSA

Those social relationship which constitutes the society are the result of some

or the other interation.

¼2½ lkekftd izfØ;k og egRoiw.kZ rF; gS ftlls lekt dh xfr'khy izd`fr dks

le>k tk ldrk gSA

Social process is that important social fact by which the social dynamics can be

understood.

¼3½ lg;ksx O;fDrRo ds fodkl esa ck/kd gksrk gSA

Coorperation is the obstruction in the development of personality.

¼4½ O;oLFkkiu ,d fojks/kiw.kZ lg;ksx gSA

Accommodation is a cooperation having resistance.

¼5½ O;oLFkkiu ,d ifjorZu'khy izfØ;k ugha gSA

Accommodation is not a dynamic process.

¼6½ cy iz;ksx dk vFkZ 'kkjhfjd vFkok ckSf)d 'kfDr }kjk ,d i{k dk nwljs i{kdks

vius vuqdwy cukuk gSA

Coercion (use of force) means, by physical or intellectual force, accommodation

of one party by the other party.

¼7½ izfrLi)kZ ds dksbZ ewY; ;k fu;e ugha gksrsA

Competition has no values or rules.

¼8½ la?k"kZ dh izd`fr oS;fDrd gksrh gSA

Nature of conflit is personal.

¼9½ la?k"kZ vkSj izfrLi)kZ esa dksbZ vUrj ugha gksrkA

There is no difference between conflit and competition

¼10½ izfrLi)kZ esa ges'kk fgalk dk LFkku gksrk gSA

Competition always involves violence.
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¼11½ izfrLi)kZ esa uSfrdrk 'kkfey gksrh gSA

Morality is involved in the competition.

¼12½ la?k"kZ esa uSfrdrk dk LFkku ugha gksrkA

Morality is not included in conflit.

¼13½ lkekftd ifjorZu lekt esa lnSo fo|eku jgus okyh izfØ;k gSA

Social change is a process that ever existing in the society.

¼14½ ifjorZu dk :i lnSo ,d lk gksrk gSA

Change is always of one form.

¼15½ lkekftd ifjorZu ,d lkaLd`frd ifjorZu ls ?kfu"B laaca/k gSA

Social change is closely related to cultured change.

¼16½ lkekftd ifjorZu ,d LokHkkfod izfØ;k gSA

Sccial Change is a natural process.

iz'uiz'uiz'uiz'uiz'u 2 -2 -2 -2 -2 - fjDr LFkkuksa dh iwfrZ dhft;sAfjDr LFkkuksa dh iwfrZ dhft;sAfjDr LFkkuksa dh iwfrZ dhft;sAfjDr LFkkuksa dh iwfrZ dhft;sAfjDr LFkkuksa dh iwfrZ dhft;sA

¼1½ lkekftd izfØ;k ---------------------------- dk ,d fo'ks"k :i gSA

Social change is a special form of .............................

¼2½ lkekftd izfØ;k dh izd`fr -------------------- ugha gksrhA

The nature of Social change is not .............................

¼3½ lg;ksx og egRoiw.kZ lkekftd izfØ;k gS tks ,d lewg eas O;fDr;ksa dks

------------------------- ds ca/ku esa cka/krh gS vkSj lekt dks ---------------------- cukrh gSA

Cooperation is that important Social process that binds the people in a group

in the bonds of ............................. and makes society

¼4½ lg;ksx dk mn~ns'; fdlh --------------------- ls lacaf/kr gksrk gSA

The objective of cooperation is related with  .............................

¼5½ lg;ksx eas ------------------------- Hkkouk gksrh gSA

Feeling of ............................. is there in cooperation.

¼6½ lg;ksx ,d --------------------- fØ;k gSA

Cooperation is a  ............................. action.

¼7½ O;oLFkkiu dh izfØ;k ls lekt esa -------------------------- cuk jgrk gSA

By the process of accommodation .......................... is maitained in the society.
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¼9½ lehdj.k dh izfØ;k esa ncko dk lekos'k ugha gksrk ;g izfØ;k -----------------------

vkSj ---------------------- gksrh gSA

In the process of assimilation, pressure is not included, this process is

............................. and .........................

¼10½ lkekftd lEidZ lehdj.k dks ----------------------- nsrh gSA

Social contact provides ............................. to assimilation.

¼11½ izfrLi)kZ ,d ----------------------- izfØ;k gSA

Competition is a  ............................. process.

¼12½ izfrLi)kZ esa ----------------------- ikbZ tkrh gSA

............................. is found in cooperation.

¼13½ izfrLi)kZ ----------------------- fojks/k gSA

Competition is  ............................. resistance.

¼14½ izfrLi)kZ dk ----------------------- ls fo'ks"k laca/k gSA

Competition has special relations with .............................

¼15½ izfrLi)kZ og vk/kkj gS] tks ----------------------- dks vius lkekftd Lrj esa lq/kkj ykus

dh -------------------- djrh gSA

Competition is that foundation which ............................. a ......................... to

improve its social strates.

¼16½ izfrLi)kZ ,d mi;ksxh izfØ;k t:j gS ysfdu ;fn ;g dqN lhek,a ikj dj tkrh

gSA rks ----------------------- n'kk,¡ Hkh iSnk dj nsrh gSA

Competition is a  necessary process but when it exceeds certain limit that it can

create ............................. conditions as well.

iz'u 3-iz'u 3-iz'u 3-iz'u 3-iz'u 3- lgh tksfM+;k¡ cukb;sAlgh tksfM+;k¡ cukb;sAlgh tksfM+;k¡ cukb;sAlgh tksfM+;k¡ cukb;sAlgh tksfM+;k¡ cukb;sA

¼d½ &¼d½ &¼d½ &¼d½ &¼d½ &   ¼v½  ¼v½  ¼v½  ¼v½  ¼v½ ¼c½¼c½¼c½¼c½¼c½

¼1½ elZj vkSj okaMjj & Økafr dk lekt 'kkL=

¼2½ fxfyu vkSj fxfyu & ,fUl,aV lkslk;Vh

¼3½ pkYlZ MkfoZu & n LVsMh vkWQ lkslk;Vh

¼4½ ysfol ekxZu & dYpjy lksf'k;ksykWth

¼5½ lksjksfdu & vksjhtu vkWQ Lislht
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A B

1. Marser and wonders - Sociology of revoluation

2. Gilin and Gilin - Ancient Society

3. Charles Darvin - The Study of society

4. Lewis - Cultured Sociology

5. Pitrim Sorokin - Origin of species.

¼[k½ &¼[k½ &¼[k½ &¼[k½ &¼[k½ &   ¼v½  ¼v½  ¼v½  ¼v½  ¼v½ ¼c½¼c½¼c½¼c½¼c½

¼1½ vkxcZu rFkk fuedkQ & izR;{k] vizR;{k lg;ksx

¼2½ xzhu & vkaf'kd la?k"kZ] iw.kZ la?k"kZ

¼3½ fdaXlys Msfol & izkFkfed lg;ksx] f}rh;d

lg;ksx r`rh;d lg;ksxA

¼4½ iklZUl] dkstj rFkk Mgju la?k"kZ dk fl)kar

MkQZ

A B

1. Ogburn and Nimkoff - Direct and Indirect Cooperation

2. Green - Partial conflit and total conflit

3. Kingsley Davis - Primary, Secondary and territory

Cooperation

4. Persons, Koser and Darendargf- Conflit Theory

¼x½ &¼x½ &¼x½ &¼x½ &¼x½ &   ¼v½  ¼v½  ¼v½  ¼v½  ¼v½ ¼c½¼c½¼c½¼c½¼c½

¼1½ izxfr & /khjs&/khjs fodflr

¼2½ Økafr & fu;eksa dk mYya?ku

¼3½ izfrLi)kZ & lkaLd`frd rF;

¼4½ la?k"kZ & fu;ksftr iz;kl

¼5½ lehdj.k dh izfØ;k & lk0 ifjorZu dk fo'ks"k izfreku

A B

1. Progress - Developed gradually

2. Revolt - Violation of Laws

3. competition - cultural fact

4. conflict - planned efforts
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5. Process of assimilation - special norms of social

change

iz'uiz'uiz'uiz'uiz'u 4 -4 -4 -4 -4 - lgh fodYi pqfu;s &lgh fodYi pqfu;s &lgh fodYi pqfu;s &lgh fodYi pqfu;s &lgh fodYi pqfu;s &

Choose correct alternative/options :

¼1½ lg;ksx dk egRo gS D;kasfd

¼d½ lkekftd izxfr ds fy;s vko';d gSA

¼[k½ Økafr vkus esa ck/kd gSA

¼x½ la?k"kZ dh laHkkouk jgrh gSA

¼?k½ izxfr esa ck/kd gSA

Cooperation has its importance, because :

(a) It is important of social so progress
(b) It provides resistance to revolt
(c) The possibility of conflit remains

(d) It provides resistance to progress

¼2½ izfrLi)kZ dk eq[; ykHk ;g gS fd

¼d½ O;fDr fu"Øh; jgrk gSA

¼[k½ O;fDr dk fodkl :drk gSA

¼x½ ;g fdlh Hkh lekt esa ugha ikbZ tkrhA

¼?k½ ;g fagalk jfgr fojks/k gSA

The main advantage of competition is that

(a) The individual remains dormant
(b) The development of an individual stops
(c) It is not found in any society

(d) It is non-violent resistance

¼3½ O;oLFkkiu ls la?k"kZ nwj gks ldrk gS D;ksafd

¼d½ ;g udkjkRed gSA

¼[k½ ;g lewgksa dks ,dhd`r djus okyh lkekftd izfØ;k gSA

¼x½ fdlh Hkh lekt eas ugha ik;h tkrhA

¼?k½ O;oLFkkiu dk vPNk vlj ugha gksrkA

By accomodation, conflict can be avoided because-

(a) It is negative
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(b) It is a social process of integrating the groups
(c) Not found in any society

(d) It dosent have a good impact

¼4½ lkekftd ifjorZu dh eq[; fo'ks"krk gSA

¼d½ lkekftd ifjorZu dk LokHkkfod izfØ;k gSA

¼[k½ lEHkkftd ifjorZu dk ifj.kke lnSo udkjkRed gksrh gSA

¼x½ lkekftd ifjorZu ls lekt ds fodkl ij cqjk izHkko iM+rk gSA

¼?k½ lkekftd ifjorZu ls ,drk fNUu fHkUu gksrh gSA

The main features of the social change is that

(a) It is a natural process
(b) Its impact is always negative
(c) It leaves a bad impact on the development of the society

(d) It disturbs the unity

¼5½ egkRek xk¡/kh us vius izHkko'kkyh O;fDrRo ls &

¼d½ csjkstxkjh nwj dh

¼[k½ lekt esa O;kIr NqvkNwr dks feVkus esa vHkwriwoZ ;ksxnku fn;k

¼x½ vkfFkZd n'kk lq/kkjus dk iz;kl fd;kA

¼?k½ e¡gxkbZ dks de fd;kA

Mahatma Gandhi by his effective personality-

(a) Helped to eliminate unemployment from the society
(b) Helped to eliminate untouchability from the society
(c) contributed to improve the economic condition

(d) Reduced the price-rise

iz'uiz'uiz'uiz'uiz'u 5 -5 -5 -5 -5 - ,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &

Give answer in one sentence-

¼1½ ekxZu ds vuqlkj lekt ds mn~fodkl ds nks izdkj fyf[k;s \

Write the two types of evoluation of the society as suggested by L.H.Morgan.

¼2½ izxfr dh ,d fo'ks"krk fyf[k;s \

Write one feature of progress.

¼3½ Økafr dh ,d fo'ks"krk fyf[k;s \

Write one feature of revoluation.

¼4½ la?k"kZ vkSj izfrLi)kZ esa ,d vUrj crkb;s \
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Differentiate between couflit and competition.

¼5½ lehdj.k dh ,d fo'ks"krk crkb;sA  \

Write a feature of

¼6½ Økafr dk ,d mnkgj.k fyf[k;s \

Write an example of revoluation.

¼7½ Økafr dk lekt 'kkL= iqLrd ds jpf;rk dk uke fyf[k;s \

Who has written the book "Society of revolt" ?

¼8½ mnfodkl vkSj izxfr eas ,d vUrj fyf[k;s \

Write one difference between evoluation and progress.

¼9½ HkkSxksfyd dkj.kksa ls gksus okys nks ifjorZuksa ds uke fyf[k;s \

Write two changes which takes place due to geographical factors.

y?kq mRrjh; iz'u y?kq mRrjh; iz'u y?kq mRrjh; iz'u y?kq mRrjh; iz'u y?kq mRrjh; iz'u &

Short answer questions-

iz'uiz'uiz'uiz'uiz'u 1 -1 -1 -1 -1 - lkekftd izfØ;k dk vFkZ D;k gS \

What is the meaning of social process ?

iz'uiz'uiz'uiz'uiz'u 2 -2 -2 -2 -2 - lkekftd izfØ;k dh eq[; fo'ks"krkvksa dks le>kb,A

Explain main features of social process.

iz'uiz'uiz'uiz'uiz'u 3 -3 -3 -3 -3 - lg;ksx ls vki D;k le>rs gS \

What do you understand by cooperation.

iz'uiz'uiz'uiz'uiz'u 4 -4 -4 -4 -4 - lg;ksx dh fo'ks"krk,¡ fyf[k,A

Write the features of cooperation.

iz'uiz'uiz'uiz'uiz'u 5 -5 -5 -5 -5 - lg;ksxh izfØ;k ds dqN eq[; Lo:iksa dk mYys[k dhft,A

Describe some of the main forms of the process of cooperation.

iz'uiz'uiz'uiz'uiz'u 6 -6 -6 -6 -6 - lg;ksx ds egRo fdu {ks=ksa esa ns[kk tk ldrk gS \

In which areas, the effect of coopertation can be seen ?

iz'uiz'uiz'uiz'uiz'u 7 -7 -7 -7 -7 - O;oLFkkiu dh dksbZ nks ifjHkk"kk fyf[k, \

Write two definitions of accomodation.

iz'uiz'uiz'uiz'uiz'u 8 -8 -8 -8 -8 - O;oLFkkiu dh izeq[k fo'ks"krk,¡ D;k gSa \

What are the main features of accomodation ?



( 64 )

iz'uiz'uiz'uiz'uiz'u 9 -9 -9 -9 -9 - O;oLFkkiu ds nks :iksa dh foospuk dhft,A

Discuus any two forms of accomodation.

iz'uiz'uiz'uiz'uiz'u 10-10-10-10-10- lehdj.k dk D;k vFkZ gSa \

What is the meaning of assimilation ?

iz'uiz'uiz'uiz'uiz'u 11-11-11-11-11- lehdj.k dh fo'ks"krkvksa dks le>kb,A

Explain the features of assimilation.

iz'uiz'uiz'uiz'uiz'u 12-12-12-12-12- izfrLi)kZ dh izfØ;k dks voS;fDrd D;kas dgk tkrk gS \

Why the process of competition is called as impersonal ?

iz'uiz'uiz'uiz'uiz'u 13-13-13-13-13- izfrLi)kZ ds eq[; izdkjksa dks la{ksi esa le>kb,A

Explain the main forms of competition in brief.

iz'uiz'uiz'uiz'uiz'u 14-14-14-14-14- izfrLi)kZ dh nks gkfu;k¡ ,oa ykHkkas dk mYys[k dhft,A

Explain two advantages and disadvantages of competition.

iz'uiz'uiz'uiz'uiz'u 15-15-15-15-15- la?k"kZ ls vki D;k le>rs gSa \

What do you uderstand by conflit ?

iz'uiz'uiz'uiz'uiz'u 16-16-16-16-16- la?k"kZ dh fdUgha pkj fo'ks"krkvksa ij izdk'k Mkfy,A

Throw light on any four features of conflit.

iz'uiz'uiz'uiz'uiz'u 17-17-17-17-17- oxZ&la?k"kZ dk vk'k; D;k gS \

What is meant by class-conflit ?

iz'uiz'uiz'uiz'uiz'u 18-18-18-18-18- vkaf'kd rFkk iw.kZ la?k"kZ esa D;k vUrj gSA

What is the difference between partial and total conflit ?

iz'uiz'uiz'uiz'uiz'u 19-19-19-19-19- la?k"kZ dh izd`fr oS;fDrd D;kas gksrh gS \

Why the nature of conflit is personal ?

iz'uiz'uiz'uiz'uiz'u 20-20-20-20-20- la?k"kZ dh izfØ;k esa uSfrd ewY;ksa dk izHkko D;ksa lekIr gks tkrk gSa \

Why the effect and importance ceases in a conflit ?

iz'uiz'uiz'uiz'uiz'u 21-21-21-21-21- izR;{k rFkk vizR;{k la?k"kZ dh izd`fr dks mnkgj.k lfgr le>kb,A

Explain the nature of direct and indirect conflit with example.

iz'uiz'uiz'uiz'uiz'u 22-22-22-22-22- lkekftd ifjorZu dk vFkZ D;k gS \

What is the meaning of social change ?

iz'uiz'uiz'uiz'uiz'u 23-23-23-23-23- lkekftd ifjorZu dh eq[; fo'ks"krk,a fyf[k,A

Write the main features of social change ?
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iz'uiz'uiz'uiz'uiz'u 24-24-24-24-24- lkekftd ifjorZu ds dkjd dkSu&ls gS \

What are the factors of social change ?

iz'uiz'uiz'uiz'uiz'u 25-25-25-25-25- lkekftd ifjorZu dk lkaLd`frd ifjorZu ls vUrj Li"V dhft,A

Differentiate between social change and cultural change ?

iz'uiz'uiz'uiz'uiz'u 26-26-26-26-26- lkekftd ifjorZu ds fofHkUu :i dkSu&ls gS \

What are the various forms of social change ?

iz'uiz'uiz'uiz'uiz'u 27-27-27-27-27- MkfoZu ds tSfodh; mn~fodl ls vki D;k le>rs gSa \

What do you understand by Darvin's biological evoluation ?

iz'uiz'uiz'uiz'uiz'u 28-28-28-28-28- mn~fodkl dh vo/kkj.kk ls lEcaf/kr fdUgha pkj fopkjdksa ds uke fyf[k,A

Name any four thinkers associated to the concept of evoluation.

iz'uiz'uiz'uiz'uiz'u 29-29-29-29-29- izxfr dh vo/kkj.kk dks Li"V dhft,A

Explain the concept of progress.

iz'uiz'uiz'uiz'uiz'u 30-30-30-30-30- izxfr dh eq[; fo'ks"krk,a D;k gSa \

What are the main features of progress ?

iz'uiz'uiz'uiz'uiz'u 31-31-31-31-31- izxfr dh lgk;d n'kkvksa dks le>kb,A

Explain the conditions that supports progress.

iz'uiz'uiz'uiz'uiz'u 32-32-32-32-32- Økafr dk vFkZ le>kb,A

Explain the meaning of revolt.

iz'uiz'uiz'uiz'uiz'u 33-33-33-33-33- ØkafUr ds dkj.kksa dks le>kb,A

Explain the reasons of revolt.

iz'uiz'uiz'uiz'uiz'u 34-34-34-34-34- Økafr vkSj izxfr esa eq[; vUrj D;k gS \

What is the main difference between revolt and progress ?

iz'uiz'uiz'uiz'uiz'u 35-35-35-35-35- Økafr dh fo'ks"krk,¡ fyf[k,A

Write the main features of revolt.

nh?kZmRrjh; iz'u &nh?kZmRrjh; iz'u &nh?kZmRrjh; iz'u &nh?kZmRrjh; iz'u &nh?kZmRrjh; iz'u &

Long answer questions-

iz'uiz'uiz'uiz'uiz'u 36-36-36-36-36- O;oLFkkiu ds fofHkUu :iksa vkSj i)fr;ksa dh foospuk dhft,A

Discuss the main forms and theories of accomodation.

iz'uiz'uiz'uiz'uiz'u 37-37-37-37-37- lehdj.k dh izfØ;k dks izksRlkgu nsus okyh n'kkvksa dh foospuk dhft,A

Discuss the conditions that supports and promotes the process of
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iz'uiz'uiz'uiz'uiz'u 38-38-38-38-38-  lekt esa la?k"kZ dk D;k egRo gS \ foospuk dhft,A

What is the importance of conflit in the society ? Discuss.

iz'uiz'uiz'uiz'uiz'u 39-39-39-39-39- ^^lkekftd ifjorZu dk vk'k; lkekftd laca/kksa rFkk lekt dh lajpuk esa gksus

okys ifjorZu ls gSaA** mnkgj.k lfgr foospuk dhft,A

"The meaning of the social change is the change occuring in the social relationship

and social struture ".Discuss with examples.

iz'uiz'uiz'uiz'uiz'u 40-40-40-40-40- lkekftd ifjorZu esa izks|ksfxd] vkfFkZd ,oa lkaLd`frd dkjdksa dh Hkwfedk dks

le>kb,A
Explain the role of technological, economical and cultural factors in social

change.

iz'uiz'uiz'uiz'uiz'u 41-41-41-41-41- mn~fodkl rFkk izxfr esa vUrj Li"V dhft,A

Clarify the difference between evoluation and progress.

iz'uiz'uiz'uiz'uiz'u 42-42-42-42-42- Økafr ds ifj.kkeksa dk o.kZu dhft,A

Describe the consquences of the revolt.
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bdkbZ & 8bdkbZ & 8bdkbZ & 8bdkbZ & 8bdkbZ & 8

     Unit - 8

iz'uiz'uiz'uiz'uiz'u 1 -1 -1 -1 -1 - lgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;s

Mark true or false:

¼1½ lekt 'kkL= ds vUrxZr lkekftd ikfjfLFkfrdh fofHkUu leqnk;ksa rFkk muds

i;kZoj.k ds laca/k dk v/;;u gSA

Under sociology, social ecology is the study of the relationship of different

communities and their environment.

¼2½ ikfjfLFkfrdh rFkk i;kZoj.k dh vo/kkj.kk ,d nwljs ls vyx ugha gSA

The concepts of ecology and environment are not different from each other.

¼3½ lkekftd ikfjfLFkfrdh ds fuekZ.k esa tula[;k dh dksbZ Hkwfedk ugha gSA

Population has no role in the formation of social ecology.

¼4½ ekuo ikfjfLFkfrdh dk leqnk; dh izd`fr ls ?kfu"B laca/k gSA

Human ecology is very deeply related to the nature of the community.

¼5½ d`"kd xzke os gSa ftuesa jgus okys lHkh xzkeh.k eq[; :i ls [ksrh }kjk vkthfodk

pykrs gSA

Village are those where the entire population is mainly dependent on agriculture

for its livelihood.

¼6½ NksVk vkdkj lnSo ls uxjh; lekt dh fo'ks"krk jgk gSA

Small size has always been a feature of the urban society.

¼7½ lekt ds leqfpr fodkl fy;s lekt vkSj i;kZoj.k ds chp larqyu gksuk t:jh gSA

For the proper development of the society, there should be a balance between

society and the environment.

¼8½ mu uxjksa dks egkuxj dgk tkrk gS ftudh tula[;k ikap yk[k ;k mlls de

gksrh gSA

The cities are called as the metropolitian cities, whose population is 5 laks or

less than that.

¼9½ xzkeh.k lekt dh rqyuk esa uxjh; lektksa dh tula[;k vf/kd gksus ds dkj.k

budk vkdkjcM+k gksrk gSA
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The reason for the population of an urban society being more than rural society

is the large size of the urban society.

¼10½ xzkeh.k lekt esa ifjokj dk egRo de gSA

The family has less importance in a rural society.

¼11½ xzkeh.k lekt es iapk;r] izFkk,¡ rFkk /kkfeZd fu;e lkekftd fu;a=.k dk lk/ku

gSA

In the rural society, panchyati, customs & traditions and religious norms are the

means of social control.

¼12½ egkuxj ds dsUnzh; Hkkx dks dsUnzh; uxj dgrs gSA

The centre part of a metropolitan city is called as central city.

iz'uiz'uiz'uiz'uiz'u 2 -2 -2 -2 -2 - fjDr LFkkuksa dh iwfrZ dhft;sAfjDr LFkkuksa dh iwfrZ dhft;sAfjDr LFkkuksa dh iwfrZ dhft;sAfjDr LFkkuksa dh iwfrZ dhft;sAfjDr LFkkuksa dh iwfrZ dhft;sA

fill in the blanks:

¼1½ euq"; vius ---------------------------- dh mit gksrk gSA

Man is the product of his ............................

¼2½ lkekftd ikfjfLFkfrdh og foKku gS tks fdlh leqnk; ij HkkSfrd ------------------

rFkk ------------------- n'kkvksa ds izHkko dk -------------------------- djrk gSA

Social ecology is a science that aims at the .......................... of the effects of

physical, ..................... and ............................. conditions on a community.

¼3½ ewy :i ls ikfjfLFkfrdh dh vo/kkj.kk ------------------------- foKku ls lacaf/kr gSA

Fundamentally, the concept of ecology is related to ........................ science.

¼4½ ekuo dh ikfjfLFkfrdh esa --------------------- dk fo'ks"k egRo gS

...................... has a special importance in the ecology of man.

¼5½ tyok;q ------------------------- rjg rjg dh ouLifr;ka ,oa xzg ------------------- dk

ifjpyu gekjk izkd`frd i;kZoj.k gSA

Climate ......................., various types of vegetation and the circulation of plants

................... is our natural environment.

¼6½ ikfjfLFkfrdh ds vk/kkj ij lekt ds lcls vkjfEHkd :i dks ---------------- dgrs gSA

On the basis of ecology, the promitive form of the society is called as .............

¼7½ i'kqikyu dh ---------------------- vkfne lekt ds fodkl dh -------------------------- gSA

The ................. of rearing of animals, is the .................. of primitive society.
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¼8½ vkfne lekt esa lcls 'kfDr'kkyh O;fDr dks ------------------------ dk eqf[k;k ekuk

tkrk FkkA

In the primitve society, the most powerful man was considered is the chief of

.....................

¼9½ vkS|ksfxd Økafr ds ckn tc ;krk;kr ,oa -------------------------- ds lk/kuksa dk rsth ls

fodkl gqvk rc uxj o xkao ds ykxksa dks ,d nwljs ds --------------------- esa vkus dk

------------------------ feykA

After the industrial revoluation, by the rapid development of the means of

transport and .............. the people of the cities and villages got the ................ to

came ................... to each other.

¼10½ tks xzkeh.k dqN le; igys rd ijEijkxr rjhdks ls [ksrh dk dke djrs Fks os

vkt [ksrks dh tqrkbZ ls ysdj Qly dkVus rd dk dke ------------------- ls djrs gSA

Those villagers, who till some time ago were cultivating the land by conventional

methods, but today right from ploughing the land till the harvesting of the crops.

every thing the do by ....................

iz'u 3-iz'u 3-iz'u 3-iz'u 3-iz'u 3- lgh tksfM+;k¡ cukb;sAlgh tksfM+;k¡ cukb;sAlgh tksfM+;k¡ cukb;sAlgh tksfM+;k¡ cukb;sAlgh tksfM+;k¡ cukb;sA

Make the correct pairs:

¼d½ &¼d½ &¼d½ &¼d½ &¼d½ &   ¼v½  ¼v½  ¼v½  ¼v½  ¼v½ ¼c½¼c½¼c½¼c½¼c½

¼1½ ikdZ rFkk cxsZl & lkekftd ikfjfLFkfrdh ds rRoksa dks

pkj Hkkxksa esa ckaVk

¼2½ esdsUth & lkekftd ikfjfLFkfrdh vFkok

ekuo ikfjfLFkfrdh dh vo/kkj.kk

¼3½ cjVsª.M & n vcZu dE;wfuVh

¼4½ jkWcVZ bZ- ikdZ & ljy lksf'k;ksykWth

¼5½ ySf.Ml & iwoZ vkS|ksfxd] vkS|ksfxdh uxj

¼6½ fxLV gycVZ & i;kZoj.k ds rhu Hkkx &

¼1½ izkd`frd i;kZoj.k

¼2½ lkekftd i;kZoj.k

¼3½ lkaLd`frd i;kZoj.k
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A B

1- Park and Burgess - Divided the elements of social

ecology in four parts
2. Mackenzy - concept social ecology of human

ecology
3. Bertrend - The urban community
4. Robert E.Park - Simple sociology
5. Land is - Pre-Indusrial, Industrial town
6. Gist Herbert - Three parts of Environment

1.Natural environment
2.Social environment

3.Cultural environment

¼[k½ &¼[k½ &¼[k½ &¼[k½ &¼[k½ &   ¼v½  ¼v½  ¼v½  ¼v½  ¼v½ ¼c½¼c½¼c½¼c½¼c½

¼1½ LVhuj & ¼1½ HkkSxksfyd ¼2½ lkaLd`frd

¼3½ vkfFkZd

¼2½ esdsUth us lkekftd & d`f"k iz/kku xzkeh.k lektksa dks

ikfjfLFkfrdh ds rRoksa dks d`"kd lekt dk uke fn;k

pkj eq[; Hkkxksa esa ckaVk

¼3½ jsMQhYM & Hkwfe dh cukoV] tyok;q]

izkd`frd laink] LFkkuh; izHkko

¼4½ eSdkboj & nLrdkjksa] f'kfYi;ksa] dkjhxjkas dk xzke

¼5½ xSj d`"kd xzke xzkeh.k lkekftd thou dh ,d

fo'ks"k fof/k

A B

1- Stiner - 1.Geographical 2.Cultural
3.Economical

2. Mackenzy has divided the- The agricultural based, rural
elements of social ecology society was called agarian
into four main parts society

3. Redfield - Structure of Land, Climate
,Natural resources, Local
influence /effect

4. McIver - village of craftsman, artisens and
workers

5. Non-agarian village - A special method/way of village
social life
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iz'uiz'uiz'uiz'uiz'u 4 -4 -4 -4 -4 - lgh fodYi pqfu;s &lgh fodYi pqfu;s &lgh fodYi pqfu;s &lgh fodYi pqfu;s &lgh fodYi pqfu;s &

Choose correct option:

¼1½ xzkeh.k lekt dh eq[; fo'ks"krk &

¼d½ cM+k vkdkj

¼[k½ ,dkdh ifjokj

¼x½ d`f"k eq[; O;oLFkk

¼?k½ f'kf{kr ,oa iw.kZ fodflr lekt

The main features of rural society is :

(a) Bigger size
(b) Nuclear family
(c) Agricultural based system

(d) Literate and fully developed society

¼2½ jkcVZ b- ikdZ gS fjl }kjk izLrqr uxj ds rhu izk:i esa ls ,d gSA

¼d½ iz[k.M fl)kar

¼[k½ tula[;k dk fl)kar

¼x½ vkS|ksdh dkj.k

¼?k½ d`f"k dh iz/kkurk

The three forms of city as presented by Robert T.Park Harris

(a)
(b) Principle of population
(c) Industrialization

(d) Dominance of agriculture

¼3½ xzkeh.k vkSj uxjh; leqnk;ksa dh blh fujarjrk vFkok ?kfu"Brk dks Li"V djus

ds fy;s ftl 'kCn dk iz;ksx fd;k og gS &

¼d½ xzkeh.k uxjh; lkE;

¼[k½ xzkeh.k uxjh; lkrR;

¼x½ tutkrh; lekt

¼?k½ HkkSxksfyd lqj{kk

For the continously or the closeness between urban and rural socities,

which of the following is used-
(a) Rural urban equilibrium
(b) Rural urban continuum
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(c) Tribal society

(d) Geographical security

¼4½ egkuxjksa dh ,d fo'ks"krk gS

¼d½ ;gk¡ d`f"k gksrh gS

¼[k½ tgk¡ tula[;k dk ?kuRo de gSa

¼x½ ;gk¡ vkokxeu ds lk/ku de gS

¼?k½ tula[;k dk /kuRo cgqr vf/kd gS

The feature of metropolitan city is-

(a) Agriculture is practiced
(b) The population density is less
(c) Means of transportation is inadequate

(d) Population density is very high

¼5½ izks|ksfxd fodkl us 'kgjksa eas fuEu ,d leL;k c<+k nh gSA

¼d½ d`f"k ;ksX; Hkwfe dh deh

¼[k½ ok;q&iznw"k.k c<+ x;k gSA

¼x½ tula[;k esa deh

¼?k½ f'kf{krkas dh la[;k esa deh

Which one of the following problems has been increased by the industrial

development
(a) Decrease in cultivate land
(b) Increase in air pollution
(c) Decrease in population

(d) Decrease in the number of literates

iz'uiz'uiz'uiz'uiz'u 5 -5 -5 -5 -5 - ,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &

Answer in one sentence :

¼1½ i;kZoj.k dk ,d izdkj fyf[k;s \

Write one types of Environment.

¼2½ ikfjfLFkfrdh ds vk/kkj ij lekt dk ,d :i fyf[k;s \

Based upon ecology, write one of the type of societies.

¼3½ uxjh; ikfjfLFkfrdh dk izk:i fyf[k;s \

Write the patterns of urban ecology.
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¼4½ lkekftd ikfjfLFkfrdh ds rRo dk uke fyf[k;s \

Write the names of the elements of social ecology.

¼5½ vkS|ksxhdj.k ds dkj.k xzkeh.k lekt 'kgjksa dh vksj D;ksa vkdf"kZr gks jgs gSa \

Why the rural society is being attracted towards the cities after industrialization?

¼6½ d`"kd xzke D;k gS \

What is 'agarian village' ?

¼7½ taxy ds dVus ls 'kgjksa esa dkSulh leL;k gS \

Which problems is being faced by the cities due to deforestation.

¼8½ egkuxj fdls dgrs gS \

What is called a metropolitan .

¼9½ xzkeh.k lekt dh 'kfDr'kkyh bdkbZ dkSulh gS \

Which is the most powerful unit of rural society ?

¼10½ ^^ljy lksf'k;ksykWth** iqLrd ds ys[kd dkSu gS \

Who wrote "Simple Sociology" ?

y?kq mRrjh; iz'uy?kq mRrjh; iz'uy?kq mRrjh; iz'uy?kq mRrjh; iz'uy?kq mRrjh; iz'u&

Short answer questions-

iz'uiz'uiz'uiz'uiz'u 1 -1 -1 -1 -1 - lkekftd ikfjfLFkfrdh dk vFkZ D;k gSA

What is the meaning of social ecology.

iz'uiz'uiz'uiz'uiz'u 2 -2 -2 -2 -2 - lkekftd ikfjfLFkfrdh dh dksbZ nks ifjHkk"kk fyf[k,A

Write any two definitions of social ecology.

iz'uiz'uiz'uiz'uiz'u 3 -3 -3 -3 -3 - lkekftd ikfjfLFkfrdh ds rRo dkSu&ls gS \

What are the elements of social ecology.

iz'uiz'uiz'uiz'uiz'u 4 -4 -4 -4 -4 - i;kZoj.k ds vFkZ dks le>kb,A

Explain the meaning of Environment.

iz'uiz'uiz'uiz'uiz'u 5 -5 -5 -5 -5 - ySf.Ml us i;kZoj.k dh izd`fr dks fdrus Hkkxksa esa Li"V fd;k gSA

In how many parts, Landis has divided the nature of environment ?

iz'uiz'uiz'uiz'uiz'u 6 -6 -6 -6 -6 - vkfne lekt dh izeq[k fo'ks"krk,a D;k gS \

What are the features of primitive society ?

iz'uiz'uiz'uiz'uiz'u 7 -7 -7 -7 -7 - d`"kd xzke rFkk xSj&d`"kd xzke esa D;k vUrj gS \

What is the difference between agarian village and non-agarian village ?
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iz'uiz'uiz'uiz'uiz'u 8 -8 -8 -8 -8 - xzkeh.k lekt dh ,d le:i lekt D;ksa dgk tkrk gS \

Why the rural society is called a uniform society.

iz'uiz'uiz'uiz'uiz'u 9 -9 -9 -9 -9 - xzkeh.k lekt esa clkgV dh izd`fr dks le>kb,A

Explain the nature of settlement in rural society.

iz'uiz'uiz'uiz'uiz'u 10-10-10-10-10- iwoZ vkS|ksfxdh uxjksa dk fodkl fdu dkj.kksa ls gqvk \

Due to which reasons, the development of pre-industrial cities took place ?

iz'uiz'uiz'uiz'uiz'u 11-11-11-11-11- vkS|ksfxd uxj dh eq[; fo'ks"krk,¡ D;k gSa \

What are the main features of an industrialization.

iz'uiz'uiz'uiz'uiz'u 12-12-12-12-12- ikfjfLFkfrdh O;oLFkk ds vlUrqyu dk D;k vFkZ gS \

What is the meaning of imbalance in the ecological system ?

iz'uiz'uiz'uiz'uiz'u 13-13-13-13-13- iz[k.M fl)kUr ds vuqlkj uxjksa dh ikfjLFkfrdh dks le>kb,A

Explain the ecology of the cities on the basis of the principle of .................

iz'uiz'uiz'uiz'uiz'u 14-14-14-14-14- ikfjfLFkfrdh O;oLFkk fcxM+us ls uxjksa esa dkSu&lh leL;k,¡ mRiUu gqbZ gS \

What are problems that emerged out due to the disturbance in the ecological

system ?

iz'uiz'uiz'uiz'uiz'u 15-15-15-15-15- i;kZoj.k rFkk lekt ds lEca/k dks le>kb, \

Explain the relation between environment and society ?

iz'uiz'uiz'uiz'uiz'u 16-16-16-16-16- vkS|ksfxdh uxjksa ds fodkl ds dkj.k le>kb,A

Explain the reason for the development of industrial towns ?

iz'uiz'uiz'uiz'uiz'u 17-17-17-17-17- izeq[k uxj ls vki D;k le>rs gS \

What do you understand by major towns ?

iz'uiz'uiz'uiz'uiz'u 18-18-18-18-18- egkuxj dh vo/kkj.kk dks le>kb,A

Explain the concept of metropolitian city.

iz'uiz'uiz'uiz'uiz'u 19-19-19-19-19- dsUnzh; uxj dk D;k vkZ gS \

What is the meaning of central town/city ?

iz'uiz'uiz'uiz'uiz'u 20-20-20-20-20- miuxj ls vki D;k le>rs gSa \

What do you understand by Suburban ?

iz'uiz'uiz'uiz'uiz'u 21-21-21-21-21- egkuxjksa ls lacaf/kr miuxjksa dh eq[; fo'ks"krk,¡ D;k gSa \

Write the main features of Suburban, related to the metropolitan cities.
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iz'uiz'uiz'uiz'uiz'u 22-22-22-22-22- xzkeh.k izkS|ksfxdh esa vkt D;k ifjorZu gq, gS \

What are the changes that occured today in the rural technology ?

i'ui'ui'ui'ui'u 23-23-23-23-23- xzkE; & uxjh;dj.k dk D;k vFkZ gS \

What is the meaning of rural urbanization ?

iz'uiz'uiz'uiz'uiz'u 24-24-24-24-24- i;kZoj.k ds vk/kkj ij xk¡o vkSj uxj dh rqyuk dhft,A

Compare a village and a town on the basis of the evironment.

iz'uiz'uiz'uiz'uiz'u 25-25-25-25-25- dsUnzh; uxj dh eq[; fo'ks"krk,a fyf[k,A

Explain the main features of the central city/town.

nh?kZmRrjh; iz'u &nh?kZmRrjh; iz'u &nh?kZmRrjh; iz'u &nh?kZmRrjh; iz'u &nh?kZmRrjh; iz'u &

Long answer questions-

iz'uiz'uiz'uiz'uiz'u 26-26-26-26-26- uxjh; ikfjfLFkfrdh ls lEcaf/kr eq[; izk:i dkSu&ls gS \ mudh izd`fr dks

la{ksi esa le>kb,

What are the main pattern, related to urban ecology.Explain their nature in brief.

iz'uiz'uiz'uiz'uiz'u 27-27-27-27-27- lkekftd ikfjfLFkfrdh ds izeq[; rRoksa dh foospu dhft,A

Discuss the main elements of social ecology.

iz'uiz'uiz'uiz'uiz'u 28-28-28-28-28- eSdkboj ds vuqlkj xk¡o vkSj uxj dh fHkUurk dks Li"V djus ls lEcaf/kr eq[;

dfBukbZ;k¡ D;k gSa \

What are the main problems related to the clarification of the differences

between village and a town as according to McIver ?

iz'uiz'uiz'uiz'uiz'u 29-29-29-29-29- xzkeh.k&uxjh; lkrR; dh izd`fr dk o.kZu dhft,A

Explain the nature of rural urban continuum.

iz'uiz'uiz'uiz'uiz'u 30-30-30-30-30- xzkeh.k rFkk uxjh; lekt dh lekurkvksa vkSj vlekurkvksa dks le>kb,A

Explain the similarities and dissimilarities between rural and urban societies.
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bdkbZ & 9bdkbZ & 9bdkbZ & 9bdkbZ & 9bdkbZ & 9

     Unit - 9

iz'uiz'uiz'uiz'uiz'u 1 -1 -1 -1 -1 - lgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;s

Mark true or false:

¼1½ dkyZ ekDlZ dks lektoknh fopkj /kkjk dk tud ekuk tkrk gSA

Karl Marx is considered as the father of socialist ideology.

¼2½ ekDlZ ds fparu esa bfrgkl] vFkZ'kkL=] jktuhfr foKku] lekt 'kkL= vkSj n'kZu

ds fl)karksa dk vuwBk feJ.k gSA

There is a unique mixture of History, Economics, Political science, sociology

and philosophy in the Mark's thoughts.

¼3½ oxZ&la?k"kZ ls lacaf/kr lekt 'kkL=h; fparu esa dkyZ ekDlZ dk dksbZ ;ksxnku ugha

gSA

There is no contribution of Marx in the sociologist thinking of class-struggle.

¼4½ vk/kqfud lekt esa yksx izd̀fr }kjk iznRr oLrqvksa ls gh viuk xqtkjk dj ysrs gSaA

In the modern society people live on the things given by Nature.

¼5½ tc 'kksf"kr oxZ dk valrks"k yxkrkj c<+rk tkrk gS rc&oxZ&la?k"kZ dk tUe gksrk

gSA

When the discontentment among the exploited class increases continously the

class-stuggle emerges out.

¼6½ iwathoknh O;oLFkk esa iwathifr dk eq[; mn~ns'; Jfedksa dh HkykbZ gksrk gSA

In capitlalism, the main objectives of the capitalist is the welfare of the Labours.

¼7½ lektoknh O;oLFkk esa iawthoknh O;oLFkk ds nks"k lekIr gks tkrk gSA

In the socialist system, all the demerits of capitalist system gets ended.

¼8½ dkyZ ekDlZ ds fopkj cgqr egRoiw.kZ gksus ds lkFk gh lnSo fookniw.kZ jgs gSaA

The theories, prospectives and ideas of the karl marx despite being important;

remained controversial.

¼9½ esDl oscj dh e`R;q lu~ 1920 dks gqbZA

Max Weber died in 1920.
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¼10½ nq[khZe ds vuqlkj fdlh lekt ds ,d cM+s fgLls dks {kfr igq¡pkus okyh n'kk,¡

O;kf/kdh; rF;ksa dks tUe nsrh gSA

According to Durkhiem the conditions that causes damage to the bigger part of

the society, give rise to the pathological facts.

¼11½ Je foHkktu dk :i lkekftd laca/kksa ds Lo:i ij gh vk/kkfjr gksrk gSA

The form of division of labour is based on the forms of social relations.

¼12½ nq[khZe ds vuqlkj dSFkksfyd /keZ ekuus okyksa dh rqyuk esas izksVsDVsaV /keZ dks ekuus

okys vf/kd vkRegR;k djrs gSA

According to Durkhiem ; followers of protestantison commited more suicides

than the followers of catholicity.

¼13½ nq[khZe ds vuqlkj vkRegR;k lkekftd n'kkvksa dk ifj.kke gSA

According Durkhiem, suicides are the result of social conditions.

iz'uiz'uiz'uiz'uiz'u 2 -2 -2 -2 -2 - fjDr LFkkuksa dh iwfrZ dhft;sAfjDr LFkkuksa dh iwfrZ dhft;sAfjDr LFkkuksa dh iwfrZ dhft;sAfjDr LFkkuksa dh iwfrZ dhft;sAfjDr LFkkuksa dh iwfrZ dhft;sA

Fill in the blanks-

¼1½ dkyZ ekDlZ eSDl oscj ,oa bekby nq[khZe lekt 'kkL= ds  ---------------------------vkSj

------------------- dgk tkrk gSA

Karl Marx, Max Weber and Emile Durkhiem are the ....................... of sociology

and  are called .......................

¼2½ ekDlZ dh }U}kRed HkkSfrd okn dh vo/kkj.kk eq[;r% -------------------------- ds fopkjksa

ls izHkkfor gSA

The dialectical materialism concept of marx is mainly influenced by the thoughts

of ....................

¼3½ oxZ&la?k"kZ ------------------------- dk ,d t:jh ifj.kke gSA

Class struggle is the essential out come of .................

¼4½ iwath ifr viuh lqfo/kk ds vuqlkj fofHkUu oLrqvksa ds --------------------- dks r; djrs

gSA QyLo:i Jfed viuh ----------------------- vkSj dq'kyrk dk ---------------------- ugha

dj ikrsA

Capitalists decides the ...................... of the articles according to their wish as a

result the labourers cannot do ................... and .................. of skills.
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¼5½ Jfed oxZ tc vius  ------------------------- ds izfr  ------------------- gks tkrk gS rc og

Økafr ds }kjk iwathoknh ls lRrk Nhu ysrk gSA

When the labour class becomes .............. of his ....................... then through

revolution

he snatches the power from the capitalist.

¼6½ ekDlZ ds vuqlkj tc oxZ&Hksn vkSj oxZ&fojks/k lekIr gks tk;sxk rc jkT; vusd

--------------------- esa foHkkftr  ugha gksxkA

According to Marx when class-differences and class-protest ends then the state

will not divide into ..................

¼7½  ---------------------- ds dkj.k lekt esa Økafr gksrh gSA

...................... causes revolt in the society.

¼8½ vkfFkZd fodkl ds fy;s izR;sd O;ogkj ds ihNs ;g t:jh gS fd O;fDr dk

------------------------ rkfdZd gksA

Behind every efforts, for the economic development it is essential that the

.................

of an individual is logical.

¼9½ nq[khZe ds vuqlkj lekt 'kkL= iwjs ----------------------- dk v/;;u djus okyk

---------------------- gSA

According to Durkiem ; sociology is a ................... aims at the complete study

of .........................

iz'u 3-iz'u 3-iz'u 3-iz'u 3-iz'u 3- lgh tksfM+;k¡ cukb;sAlgh tksfM+;k¡ cukb;sAlgh tksfM+;k¡ cukb;sAlgh tksfM+;k¡ cukb;sAlgh tksfM+;k¡ cukb;sA

Make correct pairs:

¼d½ &¼d½ &¼d½ &¼d½ &¼d½ &   ¼v½  ¼v½  ¼v½  ¼v½  ¼v½ ¼c½¼c½¼c½¼c½¼c½

¼1½ eSDl oscj & Qzkal eas oxZ&la?k"kZ ,oa nkl dsihVy

¼2½ dkyZ ekDlZ & lekt esa Je foHkktu

¼3½ nq[khZe & jkse dk d`f"k laca/kh bfrgkl

¼4½ vkRe gR;k & nq[khZe

A B

1. Max Weber - class struggle in france &

Das kapital

2. Karl Marx - Division of labour in society
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3. Durkhiem - Roman history, related to
agriculture

4. Suicide - Durkhiem

¼[k½ &¼[k½ &¼[k½ &¼[k½ &¼[k½ &   ¼v½  ¼v½  ¼v½  ¼v½  ¼v½ ¼c½¼c½¼c½¼c½¼c½

¼1½ izksVsLVs.V vkpkj ,oa & ghxy

iwathokn dh vkRek

¼2½ }Unokn & dkyZ ekDlZ

¼3½ Qzkalhlh lekt 'kkL=h & esDl oscj

¼4½ }U}kRed HkkSfrdokn & bekby nq[khZe

¼5½ dkuwu dk lekt 'kkL= & esDl oscj

A B

1. Protestant ethics and the- Hegel

spirit of capitalism
2. Dialectic - Karl Marx
3. French sociologist - Max Weber
4. Dialectical materialism - Emile Durkhiem

5. Sociology of law - MAx Weber

iz'uiz'uiz'uiz'uiz'u 4 -4 -4 -4 -4 - lgh fodYi pqfu;s &lgh fodYi pqfu;s &lgh fodYi pqfu;s &lgh fodYi pqfu;s &lgh fodYi pqfu;s &

Choose the correct option:

¼1½ lkekftd rF;ksa dh izd`fr esa

¼d½ lkekftd rF;ksa esa ckãrk dk xq.k gksrk gSA

¼[k½ lkekftd rF; cnyrs ugha gS

¼x½ /keZ ,d lkekftd rF;  ugha gS

¼?k½ lkekftd gR;k dk ,d izdkj gS

The nature of sociological facts :

(a) social facts have the features of externalisation.
(b) social facts do not change
(c) Religion is not a social fact

(d) It is a type of social murder.

¼2½ nq[khZe }kjk fn;s x;s vkRegR;k ds izdkjksa esa ls ,d gS %

¼d½ vgaoknh vkRegR;k ¼[k½ ikuh esa Mwcdj

¼x½ lkeqnkf;d dkj.k ¼?k½ fdlh dkj.k ls vkRegR;k
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Type of suicide is:

(a) Egoistic suicide (b) suicide by drowning
(c) suicide due commuinty reasons(d) suicide by any other reason

¼3½ /keZ dk dk;Z gS

¼d½ lewg ds yksxksa dks uSfrd ca/ku esa cka/kuk vkSj ,drk c<+kuk

¼[k½ lewg ds lnL;ksa dks jkstxkj fnykuk

¼x½ lewg ds lnL;ksa dh f'k{kknh{kk dk izca/k djukA

¼?k½ lewg ds yksxksa dk fookg djokuk

The features of Religion is :

(a) To lie the members of the grouops in a  moral bond and to promote integrity
(b) To provide employment to the members of the group
(c) To arrange for the education and initiation

(d) To organise for the marriage of the members

¼4½ oxZ la?k"kZ dk izeq[k dkj.k gS

¼d½ ;g rF; dh iwathifr vehj gksrk gSSA

¼[k½ etnwjksa dk f'kf{kr gksuk

¼x½ etnwjksa ds fuokl dh O;oLFkk gksuk

¼?k½ iawthifr;ksa }kjk etnwjksa dk 'kks"k.k

The main reason for the class struggle is:

(a) The fact that the capitalists are rich
(b) Literacy of the labours
(c) The arrangements for the residence of the labour

         (d) Exploitation of the labours by the capitalists

iz'uiz'uiz'uiz'uiz'u 5 -5 -5 -5 -5 - ,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &

Answer in one sentence:

¼1½ ^^nkl dsihVy** fdl lekt 'kkL=h us fy[kh gS \

Which sociologist has written "Das Kapitals" ?

¼2½ oxZ&la?k"kZ D;ksa gksrk gS \

Why class struggle occurs ?

¼3½ dkyZ ekDlZ ds }kjk izLrqr nks fl)karksa ds uke fyf[k;s \

Write the names of the theories given by Karl Marx.

¼4½ eSDl oscj dk tUe fdl lu esa vkSj dgk¡ gqvk Fkk \

When and where Max Weber was born ?
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¼5½ eSDl oscj dh nks jpukvksa ds uke fyf[k;s \

Write the names of any two creation of Max Weber.

¼6½ bekby nq[khZe dk tUe dgka gqvk Fkk \

Where was Emile Dukhiem born ?

¼7½ vgaoknh vkRegR;k D;k gS \

What is egoistic suicide ?

¼8½ lkekftd rF;ksa dh fo'ks"krk,a fyf[k;s \

Write the features of sociological facts.

¼9½ vyxko D;k gS \

What is alienation ?

¼10½ oxZ la?k"kZ dkSulh O;oLFkk esa mRiUu gksrk gS \

In which system, class-struggle occurs ?

y?kq mRrjh; iz'u y?kq mRrjh; iz'u y?kq mRrjh; iz'u y?kq mRrjh; iz'u y?kq mRrjh; iz'u &

Short answer questions:

iz'uiz'uiz'uiz'uiz'u 1 -1 -1 -1 -1 - dkyZ ekDlZ dh fdUgha pkj jpukvksa ds uke fyf[k,A

Name any four creations of Karl Marx.

iz'uiz'uiz'uiz'uiz'u 2 -2 -2 -2 -2 - ekDlZ }kjk izLrqr fdUgha pkj fl)karksa ds uke fyf[k,A

Write the names of any four theories/principle given by Karl Marx.

iz'uiz'uiz'uiz'uiz'u 3 -3 -3 -3 -3 - ekDlZ us ghxy ds }U}okn dks }U}kRed HkkSfrdokn D;ksa dgk \

Why Marx called, Hegel's dialetics as dialectical materialism.

iz'uiz'uiz'uiz'uiz'u 4 -4 -4 -4 -4 - mRiknu dh iz.kkyh vkfne lkE;oknh ;qx esa dSlh Fkh \

How was sytem of production in the primitive communalism ?

iz'uiz'uiz'uiz'uiz'u 5 -5 -5 -5 -5 - vyxkao dk vFkZ Li"V dhft,A

Explain the meaning of Alienation.

iz'uiz'uiz'uiz'uiz'u 6 -6 -6 -6 -6 - oxZ&la?k"kZ ds dksbZ pkj dkj.k fyf[k,A

Write any four reasons for class-struggle.

iz'uiz'uiz'uiz'uiz'u 7 -7 -7 -7 -7 - vfrfjDr ewY; dh O;k[;k dhft,A

Describe surplus value.

iz'uiz'uiz'uiz'uiz'u 8 -8 -8 -8 -8 - ekDlZ ds vuqlkj lkekftd ifjorZu dk eq[; dkj.k D;k gS \

According to Marx what is the main reason for social change.
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iz'uiz'uiz'uiz'uiz'u 9 -9 -9 -9 -9 - oxZ jfgr lekt dk D;k vFkZ gS \

What is the meaning of class-less society ?

iz'uiz'uiz'uiz'uiz'u 10-10-10-10-10- oxZ&la?k"kZ iwa¡thoknh O;oLFkk esa D;ksa mRiUu gksrk gS \

Why class-struggle occurs in capitalist society.

iz'uiz'uiz'uiz'uiz'u 11-11-11-11-11- ia¡wthoknh O;oLFkk dh eq[; pkj fo'ks"krk,a fyf[k,A

Write four features of capitalistic system.

iz'uiz'uiz'uiz'uiz'u 12-12-12-12-12- ekDlZ ds vuqlkj ,sfrgkfld HkkSfrdokn ls lEcaf/kr ;qx dkSu&ls gSa \

According to Marx which period are related to historical materialism.

iz'uiz'uiz'uiz'uiz'u 13-13-13-13-13- vyxkao dh n'kk fdl izdkj oxZ&la?k"kZ dks tUe nsrh gSa \

How does alienation gives rise to class dtuggle?

iz'uiz'uiz'uiz'uiz'u 14-14-14-14-14- ekDlZ ds vuqlkj lektoknh O;oLFkk dh eq[; fo'ks"krk,a D;k gSa \

What are the main features of sociological system according to Marx ?

iz'uiz'uiz'uiz'uiz'u 15-15-15-15-15- eSDl oscj dh dksbZ pkj jpukvksa ds uke fyf[k,A

Write the names of any four creations of Max Weber.

iz'uiz'uiz'uiz'uiz'u 16-16-16-16-16- oscj us lkeftd fØ;k dks fdl izdkj le>k;k gS \

How Max Weber has explained the social action ?

iz'uiz'uiz'uiz'uiz'u 17-17-17-17-17- oscj ds vuqlkj lkekftd fØ;k ds izdkjksa dk mYys[k dhft,A

Discuss the types of social action, as given by Max Weber.

iz'uiz'uiz'uiz'uiz'u 18-18-18-18-18- oLVZghu dk vFkZ D;k gS \

What is the meaning of Verstehen ?

iz'uiz'uiz'uiz'uiz'u 19-19-19-19-19- /keZ ds lekt 'kkL= ij oscj ds fopkj D;k gSa \

What are Weber's thought on soicology of religion ?

iz'uiz'uiz'uiz'uiz'u 20-20-20-20-20- lRRkk rFkk 'kfDr esa D;k vUrj  gS \

What is the difference between the power and authority.

iz'uiz'uiz'uiz'uiz'u 21-21-21-21-21- ukSdj 'kkgh dh fo'ks"krkvksa dks le>kb,A

Explain the features of Bureaucracy.

iz'uiz'uiz'uiz'uiz'u 22-22-22-22-22- eSDl oscj ds vuqlkj iw¡thokn dh fo'ks"krkvksa dks le>kb;sA

Explain the features of capitalism as given by Weber.

iz'uiz'uiz'uiz'uiz'u 23-23-23-23-23- vkn'kZ izk:i dk D;k vFkZ gS \

What is the meaning of Ideal types ?
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iz'uiz'uiz'uiz'uiz'u 24-24-24-24-24- 'kfDr dh vo/kkj.kk dks le>kb,A

Explain the concept of power.

iz'uiz'uiz'uiz'uiz'u 25-25-25-25-25- oxZ rFkk izfLFkfr dk D;k vFkZ gSa \

What is the meaning of class and status ?

iz'uiz'uiz'uiz'uiz'u 26-26-26-26-26- vkfFkZd fodkl esa fgUnw /keZ ds vkpkj fdl rjg ck/kd gS \

How are the conducts of the Hindu  religion obstructs the economic

development

iz'uiz'uiz'uiz'uiz'u 27-27-27-27-27- nq[khZe dh fdUgha pkj iqLrdksa ds uke fyf[k,A

Write the names of nay four book written by Durkhiem.

iz'uiz'uiz'uiz'uiz'u 28-28-28-28-28- lkekftd rF; dh D;k vo/kkj.kk gS \

What is the concept of social fact ?

iz'uiz'uiz'uiz'uiz'u 29-29-29-29-29- nq[khZe us lkekftd rF; dh fdu ?kVukvksa dks fo'ks"k egRo fn;k gS \

What are the incidents of social facts, that were given special importance, by

Durkhiem.

iz'uiz'uiz'uiz'uiz'u 30-30-30-30-30- lkekftd rF; dh nks fo'ks"krk,a fyf[k,A

Write two features of social facts.

iz'uiz'uiz'uiz'uiz'u 31-31-31-31-31- lkekftd rF; ds v/;;u ds dksbZ ik¡p fu;e fyf[k,A

Write any five rules to study social facts.

iz'uiz'uiz'uiz'uiz'u 32-32-32-32-32- lkekftd ,drk dks nq[khZe us fdrus Hkkxksa esa foHkkftr fd;k gS \ uke

fyf[k,A

In how many parts, Durkhiem has divided social integration ?Name them.

iz'uiz'uiz'uiz'uiz'u 33-33-33-33-33- nq[khZe ds vuqlkj Je&foHkktu ds eq[; izdk;Z D;k gS \

According to Durkhiem, what are the functions of division of labour ?

iz'uiz'uiz'uiz'uiz'u 34-34-34-34-34- VksVe ls vki D;k le>rs gS \

What do you understand by Totem ?

iz'uiz'uiz'uiz'uiz'u 35-35-35-35-35- ijkFkZoknh vkSj vgaoknh vkRegR;k esa D;k vUrj gS \

Differentiation between Altrustic & Egoistis suicide.

iz'uiz'uiz'uiz'uiz'u 36-36-36-36-36- folaxfriw.kZ vkRegR;k dk D;k vFkZ gS \

What is the meaning of Anomic suicide.
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nh?kZmRrjh; iz'u &nh?kZmRrjh; iz'u &nh?kZmRrjh; iz'u &nh?kZmRrjh; iz'u &nh?kZmRrjh; iz'u &

Long answer questions-

iz'uiz'uiz'uiz'uiz'u 39-39-39-39-39-  lekt'kkL= ds fodkl esa dkyZ ekDlZ dk D;k ;ksxnku gS \

What is the contribution of Karl Marx in the development of sociology.

iz'uiz'uiz'uiz'uiz'u 40-40-40-40-40- lekt'kkL= ds fodkl esa eSDl oscj dk D;k ;ksxnku gS \

Discuss the Marxian theory of class-struggle .

iz'uiz'uiz'uiz'uiz'u 41-41-41-41-41- oscj us dkuwu ds lekt'kkL= dks fdu vk/kkjksa ij le>k;k \ mnkgj.k lfgr

le>kb,A

What is the contribution of Max Weber in the development of sociology.

iz'uiz'uiz'uiz'uiz'u 42-42-42-42-42- lekt'kkL= ds fy, nq[khZe ds ;ksxnku dks la{ksi esa le>kb,A

Explain in brief the contribution of Emile Durkhiem.

iz'uiz'uiz'uiz'uiz'u 43-43-43-43-43- Je&foHkktu ds ckjs esa nq[khZe ds fopkjkas dk o.kZu dhft,A

Explain Derkhiem's thoughts and ideas about "Division of Labour"..

iz'uiz'uiz'uiz'uiz'u 44-44-44-44-44- nq[khZe ds vuqlkj vkRegR;k ds izdkj D;k gSa \

According to Durkhiem what are the types of suicide .a



( 85 )

bdkbZ & 10bdkbZ & 10bdkbZ & 10bdkbZ & 10bdkbZ & 10

     Unit - 10

iz'uiz'uiz'uiz'uiz'u 1 -1 -1 -1 -1 - lgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;slgh ;k xyr dk fu'kku yxkb;s

Mark true or false:

¼1½ izks- th- ,l- /kwj;s dk tUe 10 vDVwj 1915 eas Hkkjr ds ,d xk¡o esa gqvkA

Prof.G.S.Ghurey was born on 10 oct.1915 in a village in India.

¼2½( ,l- /kwj;s dh e`R;q 28 fnlEcj 1983 esa 90 o"kZ dh vk;q eas gqbZA

Prof.G.S.Ghurey died on 28 December 1983 at the age of 90.

¼3½ mUgksaus ch-,- dh ijh{kk cacbZ fo'ofo|ky; ls lu 1916 esa izFke Js.kh esa mRrh.kZ

dhA

He complected his B.A. from Bombay university in 1916 in Ist in division.

¼4½ mUgksaus 1918 eas laLd`r esa ,e-,- fd;kA

He did his M.A. in sanskrit.

¼5½ os v/;;u gsrq Qzkal x;sA

He went to france for studies.

¼6½ izks- th- ,l- /kwj;s baXyS.M esa ogka ds eq[; lekt 'kkL=h ,e- Vh- gkWc gkml ds

fo|kFkhZ jgsA
Prof.G.S. Ghurey was the student of famous sociolgist M. T. HobbeHouse in

England.

¼7½ izks- th- ,l- /kwj;s dks dydRrk fo'ofo|ky; esa jhMj dk in feykA

Prof.Ghurey, joined calcutta university as a reader.

¼8½ izks- /kwj;s 1950 esa lsokfuo`Rr gq,A

Prof. Ghurey retired from his service in 1950.

¼9½ izks- th- ,l- /kwj;s dks 1923 eas Hkkjr esa tkfr vkSj iztkfr** fo"k; ij fy[ks x;s

'kks/k izca/k ij dSfEczt fo'ofo|ky; ls ih- ,p- Mh- dh mikf/k feyhA

Prof Ghurey was  awarded Ph.d from cambridge university for his research Paper

tilted "Caste and Races in India" in 1923.

¼10½ izks- /kwj;s us 1952 esa ^^bf.M;u lksf'k;ksykWftdy** lkslk;Vh dh LFkkiuk dhA

Prof. Ghurey in 1952, founded "Indian Sociological Society".
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¼11½ lsok fuo`Rr gksus ds ckn izks- /kwj;s us lekt 'kkL= ds {ks= esa dksbZ dke ugha fd;kA

After retirement he hasan't done anything in the field of sociology.

¼12½ mudh jpukRed fopkj/kkjk dks blh ckr ls le>k tk ldrk gS fd muds vusd

fo|kFkhZ ckn eas izfl) lekt 'kkfL=;ksa ds :i esa tkus x;sA

His creative ideology can be understand from the fact that many of his students

emerged out as world famous sociologist.

iz'uiz'uiz'uiz'uiz'u 2 -2 -2 -2 -2 - fjDr LFkkuksa dh iwfrZ dhft;sAfjDr LFkkuksa dh iwfrZ dhft;sAfjDr LFkkuksa dh iwfrZ dhft;sAfjDr LFkkuksa dh iwfrZ dhft;sAfjDr LFkkuksa dh iwfrZ dhft;sA

Fill in the blanks:

¼1½ /kwj;s dk ekuuk Fkk fd vUrfoZokg vkSj cfgZfoZokg ds fu;eksa us Hkkjr esa -----------

dks vf/kd etcwn fd;k gSA

Prof.Ghurey believed that the rules of endogamy and exogamy in India has

strengthen the .........................

¼2½ MkW0 /kwj;s fuEu tkfr;ksa ds fodkl ds -------------------------- Fks ysfdu ,d vfuf'pr

dky ds fy;s vuwlwfpr tkfr;ksa dks fn;s tkus okys ------------------------ dks jk"Vªh;

vkSj lkekftd fgr ds fy;s -------------------- ugha ekukA
Dr.Ghurey was in ................ of lower caste but not considered ............... the
...................... given to scheduled caste for indefinite time as ................... for

national and social interest.

¼3½ /kwj;s dk ekuuk Fkk fd Hkkjrh; lekt vkt Hkh tkfr;ksa esa caVk gqvk gS] ysfdu

blds ------------------------- yxHkx lekIr gks pqds gSA

Ghurey believed that the Indian society, today also is divided into castes but its

.................... have been, more of less ended.

¼4½ /kwj;s us tutkfr;ksa dks vyx leqnk; ds :i esa Li"V u djds mUgsa ----------------

dk uke fn;kA

Prof. Ghurey has not clarified and presented the tribes as a different community

but instead he name them as .........................

¼5½ tutkfr;ksa ds fodkl esa -------------------- vkSj ------------------ dh Hkwfedk mYys[kuh; gSA

In development of tribes ..................... and ............. have a crucial role.

¼6½ fczfV'k ljdkj us tutkfr;ksa dks --------------------- ls izkIr gksus okyh fofHkUu

----------------------- dk mi;ksx djus ls jksd fn;kA
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British government had barred the tribes to use the different .................. they

use to get from the .................

¼7½ laLd`r ds ---------------------- fo)ku gksus ds dkj.k izks- /kwj;s us lHkh ---------------------- dk

v/;;u fd;kA

Prof. Ghurey had studied all the ....................... , being the ................ scholars of

Sanskrit.

¼8½ /kwj;s ds vuqlkj Hkkjrh; lekt esa /kkfeZd fo'okl] ges'kk yksxksa ds chp

----------------------- ,drk fodflr djrs jgs gSaA
According to Ghurey, in Indian society religious belief has always created

................ unity among the people.

¼9½ vjfoan] Lokeh n;kuan rFkk foosdkuan mPp dksfV ds -------------------------- gSA

Arvind, Swami Dayanand and Vivekananda were ................. of high class and order.

¼10½ nq[khZe ds vuqlkj lekt 'kkL= iwjs ----------------------- dk v/;;u djus okyk

---------------------- gSA

According to Durkhiem, sociology is a  .................... which aims to study entire

........................

iz'u 3-iz'u 3-iz'u 3-iz'u 3-iz'u 3- lgh tksfM+;k¡ cukb;sAlgh tksfM+;k¡ cukb;sAlgh tksfM+;k¡ cukb;sAlgh tksfM+;k¡ cukb;sAlgh tksfM+;k¡ cukb;sA

Make correct pairs:

¼d½ &¼d½ &¼d½ &¼d½ &¼d½ &   ¼v½  ¼v½  ¼v½  ¼v½  ¼v½ ¼c½¼c½¼c½¼c½¼c½

¼1½ Hkkjr eas tkfr ,oa iztkfr & Lora=rk ds ckn

¼2½ vuqlwfpr tutkfr;k¡ & lu 1947

¼3½ laLd`fr rFkk lekt & lu 1963

¼4½ Hkkjrh; lk/kq & lu 1932

¼5½ Hkkjr esa lkekftd ruko & lu 1943

A B

1. Castes and Races in India- After independence
2. Schedule tribes - 1947
3. Culture and society - 1963
4. Indian sage - 1932
5. Social tensions in India - 1943
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¼[k½ &¼[k½ &¼[k½ &¼[k½ &¼[k½ &   ¼v½  ¼v½  ¼v½  ¼v½  ¼v½ ¼c½¼c½¼c½¼c½¼c½

¼1½ lekt 'kkL= foHkkx ds & Mh- ih- eqdthZ

cacbZ esa v/;{k

¼2½ 1894 esa caxky ds ,d e/;e & lu~ 1924

&oxhZ; czkg; ifjokj esa tUe

¼3½ ilZuSfyVh ,.M ns lks'ky & lu 1942

lkbUlsl

¼4½ vk/kqfud Hkkjrh; laLd`fr & lu 1962

¼5½ Mh- ih- eqdthZ dk fu/ku & lu 1924 ls 1959

A B

1. Head of department of - D.P.Mukherjee

sociology in Bombay
2. Born in a middle class family - 1924

in Bengal in 1894
3. Personality and the social - 1942

science
4. Modern Indian culture - 1962

5. D.P.Mukherjee died - 1924-1959

¼x½ &¼x½ &¼x½ &¼x½ &¼x½ &   ¼v½  ¼v½  ¼v½  ¼v½  ¼v½ ¼c½¼c½¼c½¼c½¼c½

¼1½ 1922 & vyhx<+] eqfLye fo'ofo|ky; esa

vFkZ'kkL= ds foHkkx ds v/;{kin

ij Mh- ih- eqdthZ dh fu;qfDr

¼2½ 1953 & y[kuÅ fo'ofo|ky; esa vFkZ'kkL=

vkSj lekt 'kkL= ds izoDrk in

ij Mh- ih- eqdthZ dh fu;qfDr

¼3½ 7 fnlEcj lu 1889 eas i- & jk/kkdey eqdthZ

caxky ds cjgkeiqj uked

dLcs esa tUe

A B

1 1922 - D.P.Mukherjee appointed as the
head of department of economic
at Aligarh muslim university
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2 1953 - D.P.Mukherjee appointed as the
eloquent speaker at lucknow
university.

3 Born in the small town of - Radha Kamal Mukherjee
Barhampur in west Bengal

in 7th December 1889

iz'uiz'uiz'uiz'uiz'u 4 -4 -4 -4 -4 - lgh fodYi pqfu;s &lgh fodYi pqfu;s &lgh fodYi pqfu;s &lgh fodYi pqfu;s &lgh fodYi pqfu;s &

Chooce correct option-

¼1½ jk/kk dey eqdthZ us &

¼d½ 25 o"kZ dh vk;q esa ukSdjh dh

¼[k½ 30 o"kZ dh vk;q rd f'k{kk xzg.k dh

¼x½ 17 o"kZ dh vk;q esa dydRrk ds espw cktkj dh xanh ofLr;ksa esa izkS<+ yksxksa

dks f'k{kk nhA

¼?k½ 28 o"kZ dh vk;q esa fookg fd;kA

Radha Kamal Mukherjee -

(a) Started his service at the age of 25 years
(b) Continued to study till the age of 30 years
(c) At the age of 17 years; educated the adults slum dewellers of mechu Bazar

of calcutta

         (d) Married, at the age of 25

¼2½ jk/kk dey eqdthZ ds vuqlkj ewY;ksa dh fo'ks"krk,a gS &

¼d½ lkoZHkkSfedrk ¼[k½ xfr'khyrk

¼x½ lekthdj.k dk vk/kkj ¼?k½ ewY;ksa dk egRo

According Radha Kamal Mukherjee, the features of the values are -

(a) Universal (b) Dynamic

(c) Base of stratification           (d)Importance of life

¼3½ jk/kk dey eqdthZ dh ,d iqLrd &

¼d½ ekuo vkSj lekt

¼[k½ O;fDr ,oa O;fDr dk fodkl

¼x½ lekt 'kkL=h; i)fr

¼?k½ fQykWlQh vkWQ ilZuSfyVh



( 90 )

Which of the following is a book written by Radha Kamal Mukherjee -

(a) Man and society
(b) Man and the development of the man
(c)  Sociological methods

         (d) Philosophical persoality

¼4½ fou; dqekj ljdkj dk tUe &

¼d½ 1890 esa okjk.klh esa gqvk

¼[k½ 1910 esa fcgkj esa gqvk

¼x½ 1870 esa dydRrk esa gqvk

¼?k½ 1887 esa caxky ds ekynkg ftys esa gqvkA

Vinay Kumar sarkar was born in -

(a) 1890, in Varanasi
(b) 1910, in Bihar
(c) 1870, in Calcutta

         (d) 1947, in malda district of Bengal

¼5½ fou; dqekj ljdkj dk fu/ku &

¼d½ 1899 esa caxky esa gqvk

¼[k½ 1870 esa fcgkj esa gqvk

¼x½ 1910 esa okjk.klh esa gqvk

¼?k½ 1947 esa okf'kaxVu esa gqvkA

Vinay kumar sarkar died in -

(a) 1899, in Bengal
(b) 1870, in Bihar
(c) 1910, in Varanasi

         (d) 1947, in Washington

iz'uiz'uiz'uiz'uiz'u 5 -5 -5 -5 -5 - ,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &,d okD; esa mRrj fyf[k;s &

Give answer in one sentences-

¼1½ izks- /kwj;s dh ,d fdrkc dk uke fyf[k;s

Write the names of the book written by Prof.Ghurey.

¼2½ /kwj;s ds vuqlkj tkfr dh lajpuk ,oa fu;eksa dh fo'ks"krk D;k gS \

According to Ghurey, what is the feature of the structure and rules of the cast ?
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¼3½ izks- jk/kk dey eqdthZ ds vuqlkj ewY;ksa dk ,d izdkj \

Types of vlaues, according to prof.Radhakamal Mukherjee.

¼4½ lkekftd laxBu dk ,d izdkj crkb;s \

Write one type of social organisation.

¼5½ jk/kk dey eqdthZ ds vuqlkj ewY;ksa dk egRo \

According to RadhaKamal Mukherjee, importance of values is ?

¼6½ fou; dqekj ljdkj }kjk fyf[kr fdUgh nks iqLrdksa ds uke fyf[k;sA

Write the names of any two books written by vinay kumar sarkar.

¼7½ jk/kk dey eqdthZ dh nks jpukvksa ds uke fyf[k;s \

Write the names of any creations of RadhaKamal Mukherjee.

¼8½ vUrfoZokg D;k gS \

What is endogamy.

¼9½ /kwj;s us tutkfr;ksa dks D;k uke fn;k gS \

What name, Prof.Ghurey has given to the tribes ?

¼10½ /keZ dk D;k egRo gS \

What is the importance of the religion ?

y?kq mRrjh; iz'u y?kq mRrjh; iz'u y?kq mRrjh; iz'u y?kq mRrjh; iz'u y?kq mRrjh; iz'u &

Short answer questions-

iz'uiz'uiz'uiz'uiz'u 1 -1 -1 -1 -1 - MkW0 /kqfj;s }kjk fyf[kr fdUgha pkj iqLrdksa ds uke fyf[k,A

Write the names of any four books written by Prof.Ghurey.

iz'uiz'uiz'uiz'uiz'u 2 -2 -2 -2 -2 - Hkkjr esa lekt 'kkL= dk tud th-,l- /kqfj;s dks D;ksa dgk tkrk gS \

Why Prof.G.S.Ghurey is regarded as the father of sociolgy in India ?

iz'uiz'uiz'uiz'uiz'u 3 -3 -3 -3 -3 - Hkkjrh; fo|k'kkL= dk D;k vFkZ gS \

What is the meaning of Indological studies ?

iz'uiz'uiz'uiz'uiz'u 4 -4 -4 -4 -4 - bf.M;u lksf'k;ksykWftdy lkslkbVh dh LFkkiuk dc vkSj fdlds }kjk dh xbZ \

Who and when did "Indian Sociological society" was founded ?

iz'uiz'uiz'uiz'uiz'u 5 -5 -5 -5 -5 - /kwj;s ds vuqlkj tkfr O;oLFkk dh fo'ks"krk,¡ D;k gSa \

What are the features of caste system, according to Prof.Ghurey ?
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iz'uiz'uiz'uiz'uiz'u 6 -6 -6 -6 -6 - vUrfoZokg dk vFkZ D;k gSa \

What is endogamy ?

iz'uiz'uiz'uiz'uiz'u 7 -7 -7 -7 -7 - tkfrxr laLrj.k ls vki D;k le>rs gS \

What do you understand by caste stratification ?

iz'uiz'uiz'uiz'uiz'u 8 -8 -8 -8 -8 - /kwj;s us tutkfr;ksa dks fiNM+s fgUnw D;ks ekuk \

Why Ghurey regarded tribes as backward hindus ?

iz'uiz'uiz'uiz'uiz'u 9 -9 -9 -9 -9 - /kwj;s ds vuqlkj tkfr O;oLFkk esa gksus okys ifjorZu ds fy, dkSu&lh n'kk,¡

mRrjnk;h gS \

According to Ghurey, what are the conditions that are responsible for the changes

occuring in the caste system .

iz'uiz'uiz'uiz'uiz'u 10-10-10-10-10- ukrsnkjh vkSj tkfr ds ckjs esa th- ,l- /kwj;s ds fopkj D;k gS \

What are prof.Ghurey's thoughts about caste and kinship ?

iz'uiz'uiz'uiz'uiz'u 11-11-11-11-11- jktuhfr vkSj tkfr ij th- ,l- /kwj;s ds fopkj fyf[k,A

Write Prof.Ghurey view on caste and politics.

iz'uiz'uiz'uiz'uiz'u 12-12-12-12-12- /kwj;s us tutkfr;ksa dks xSj&tutkrh; lewnk;ksa ls vyx j[kus dk fojks/k D;ksa

fd;k \

Why Prof.Ghurey has protected the separation between the tribes and non-tribes.

iz'uiz'uiz'uiz'uiz'u 13-13-13-13-13- /kwj;s ds vuqlkj /keZ ds lkekftd egRo dks le>kb,A

Explain the social importance of religion, as given by Prof.Ghurey.

iz'uiz'uiz'uiz'uiz'u 14-14-14-14-14- /kwj;s ds vuqlkj uxjhdj.k dh izfØ;k ds dkj.kkas dks fyf[k,A

Write the reasons for process of urbanization, as according to Prof.Ghurey.

iz'uiz'uiz'uiz'uiz'u 15-15-15-15-15- Hkkjr esa lkekftd ruko iqLrd esa /kwj;s us fdu eq[; leL;kvksa dh foospuk dh gSA

What are the main problems, discussed by Dr.Ghurey in his book "Social tensions

in India".

iz'uiz'uiz'uiz'uiz'u 16-16-16-16-16- Mh- ih- eqdthZ dh fdUgha pkj izeq[k d`fr;ksa ds uke fyf[k,A

Write the names of any four main creations of D.P.Mukherjee.

iz'uiz'uiz'uiz'uiz'u 17-17-17-17-17- Mh- ih- eqdthZ us v/;;u dh vkuqHkfod i)fr dk fojks/k D;kas fd;kA

Why D.P.Mukherjee is considered as a man of multi talent ?

iz'uiz'uiz'uiz'uiz'u 18-18-18-18-18- Mh- ih- eqdthZ dks ,d cgqeq[kh izfrHkk dk O;fDr D;ksa dgk tkrk gSa \

Why D.P.Mukherjee is considered as a man of multi talent ?
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iz'uiz'uiz'uiz'uiz'u 19-19-19-19-19- Mh- ih- eqdthZ us ekuo 'kkL= vkSj euksfoKku dh rqyuk esa lekt 'kkL=h;

v/;;u dks vf/kd egRo D;ksa fn;k \

Why D.P.Mukherjee gave more important to sociological studies than

Anthropology or Psychology ?

iz'uiz'uiz'uiz'uiz'u 20-20-20-20-20- Mh- ih- eqdthZ ds vuqlkj Hkkjr esa lkekftd ifjorZu dks fdl izdkj O;k[;kRed

i)fr vkSj }U}kRed i)fr dh lgk;rk ls le>k tk ldrk gS \

According to D.P.Mukherjee, how social changes in India can be understand on

the basis of analytical and dialectical theory.

iz'uiz'uiz'uiz'uiz'u 21-21-21-21-21- Mh- ih- eqdthZ dks ekDlZoknh fopkjd D;ksa dgk tkrk gS \

Why D.P.Mukherjee is regarded as the marxian ideologist.

iz'uiz'uiz'uiz'uiz'u 22-22-22-22-22- Mh- ih- eqdthZ ds vuqlkj O;fDrRo dk D;k vFkZ gS \

What is Personality according to D.P.Mukherjee.

iz'uiz'uiz'uiz'uiz'u 23-23-23-23-23- Mh- ih- eqdthZ ds vuqlkj Hkkjrh; ijEijk esa ifjorZu ykus okys eq[; fl)kar D;k

gSA

What are the main principles according to D.P.Mukherjee that have brought

changes in Indian tradition.

iz'uiz'uiz'uiz'uiz'u 24-24-24-24-24- fczfV'kdky esa e/; oxZ dk fuekZ.k fdu n'kkvksa ds QyLo:i gqvkA \

During British period, under which circumstaces the middle class was born.

iz'uiz'uiz'uiz'uiz'u 25-25-25-25-25- Mh-ih- eqdthZ }kjk lekt 'kkL= ds fodkl dh dksbZ pkj vo/kk.kkvksa ds uke

fyf[k,A

Write names of any four concepts for the development of sociology on given

by D.P.Mukherjee.

iz'uiz'uiz'uiz'uiz'u 26-26-26-26-26- Mh-ih- eqdthZ us u;s e/;e oxZ dh vo/kkj.kk dks fdl :i esa Li"V fd;k \

In what form the concept of neo-middle was stated by D.P.Mukherjee.

iz'uiz'uiz'uiz'uiz'u 27-27-27-27-27- jk/kkdey eqdthZ }kjk izLrqr fdUgha nks vo/kkj.kkvksa ds uke fyf[k,A

Write names of any two concepts of proposed by Radhakamal Mukherjee.

iz'uiz'uiz'uiz'uiz'u 28-28-28-28-28- ewY;ksa dk vFkZ D;k gS \

What is meant by Values ?

iz'uiz'uiz'uiz'uiz'u 29-29-29-29-29- ewY;ksa dh dksbZ pkj fo'ks"krk,¡ fyf[k,A

Write four characterstics of Values ?
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iz'uiz'uiz'uiz'uiz'u 30-30-30-30-30- ewY;ksa dh izd`fr ifjorZu'khy D;ksa gksrh gS \

Why the nature of values is changeable ?

iz'uiz'uiz'uiz'uiz'u 31-31-31-31-31- jk/kk dey eqdthZ }kjk lkekftd ikfjfLFkfrdh ds vFkZ dks le>kb,A
Explain the meaning of the concept of social ecology as proposed by Radha

Kamal Mukherjee ?

iz'uiz'uiz'uiz'uiz'u 32-32-32-32-32- fdl izfØ;k ds }kjk O;fDr vius O;fd`Ro esa ewY;ksa dk vUrjhdj.k djrk gS \

By which process an individual can internalise values into his personality ?

iz'uiz'uiz'uiz'uiz'u 33-33-33-33-33- lk/; ewY;ksa vkSj lk/ku lEca/kh ewY;ksa ls vki D;k le>rs gSa \

What is the difference between Values and Non-values.

iz'uiz'uiz'uiz'uiz'u 34-34-34-34-34- ewY;ksa rFkk xSj ewY;ksa esa D;k vUrj gS \

What is the difference between Values and Non-values.

iz'uiz'uiz'uiz'uiz'u 35-35-35-35-35- eqdthZ ds lUnHkZ esa ewY;ksa ds dksbZ pkj izdkj fyf[k,A

In the context of Mukherjee write any four kinda of values.

iz'uiz'uiz'uiz'uiz'u 36-36-36-36-36- ekuo ikfjfLFkfrdh ds vFkZ dks le>kb,A

Explain the meaning of Human ecology.

iz'uiz'uiz'uiz'uiz'u 37-37-37-37-37- eqdthZ ds vuqlkj Hkkjrh; laLd`fr dh dksbZ nks fo'ks"krk,a fyf[k,A

In accordance with mukherjee, Write any two characterstics of Indian culture.

iz'uiz'uiz'uiz'uiz'u 38-38-38-38-38- eqdthZ }kjk iqLrd {ks=h; lekt 'kkL= dh vo/kkj.kk D;k gS \

The book on Regional sociology by Mukherjee is based on which concept ?

nh?kZmRrjh; iz'u &nh?kZmRrjh; iz'u &nh?kZmRrjh; iz'u &nh?kZmRrjh; iz'u &nh?kZmRrjh; iz'u &

Long Answer questions:

iz'uiz'uiz'uiz'uiz'u 39-39-39-39-39- lekt'kkL= ds fy, th ,l- /kwj;s ds ;ksxnku dks la{ksi esa le>kb,A

Explain the contribution of G.S.Ghurey in sociology.

iz'uiz'uiz'uiz'uiz'u 40-40-40-40-40- lekt'kkL= ij Mh- ih- eqdthZ ds fopkjksa dh foospuk dhft,A

Discuss the thoughts of D.P.Mukherjee on sociology.

iz'uiz'uiz'uiz'uiz'u 41-41-41-41-41- ijEijk ij Mh- ih- eqdthZ ds fopkj fyf[k,A muds vuqlkj ijEijk vkSj

vk/kqfudrk esa D;k lEca/k gS \

Write the view of D.P.Mukherjee on traditions.According to him, what is the

relation between tradition and modernization.
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iz'uiz'uiz'uiz'uiz'u 42-42-42-42-42- Hkkjrh; laLd`fr vkSj lH;rk ds ckjs esa eqdthZ ds fopkjksa dks le>kb,A

Explain the view of Mukherjee about Indian culture and civilization.

iz'uiz'uiz'uiz'uiz'u 43-43-43-43-43- jk/kk dey eqdthZ }kjk izLrqr eq[; vo/kkj.kkvksa dh la{ki esa foospuk dhft,A

Explain in brief chief concepts given by R.K.Mukherjee.

iz'uiz'uiz'uiz'uiz'u 44-44-44-44-44- vkj- ds- eqdthZ ds vuqlkj O;fDrRo] lekt vkSj ewY;kas ds lEca/k dks le>kb,A

Explain the relation among personality, society and values as given by R. K.

Mukherjee.




